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™ A 100.0 18.6 16.7 22.7 18.4 12.6 7.1 2.0 1.8
=1 Xt 100.0 10.1 14 .4 24.5 22.4 15.2 8.7 2.4 2.3
o N 100.0 42.0 23.1 17.6 7.5 5.6 2.8 0.8 0.7
&2 /2 2 100.0 1.6 2.9 17.8 25.3 25.1 17.0 6.1 4.2
At 2 100.0 1.0 3.4 18.3 30.1 21.4 18.1 3.7 3.9
A oHl A/ B 100.0 2.0 10.4 30.9 24.9 21.4 7.2 1.0 2.1
s 8 O ¢ 100.0 13.4 31.9 29.4 14.5 5.6 2.3 1.1 1.9
Jl s / 21 A 100.0 0.7 3.6 21.5 34.1 21.3 14.8 2.7 1.4
&G = L =2 100.0 7.0 24 .1 40.0 20.1 7.2 0.9 0.3 0.4




20T M= AMIRIZTAT 220M

. -
e & iy

T100~2002H& 0OI2F; “26.4%" = JIE = LIEtE

o £0Io & EZ JtRRIEZ2 '100~2002H OI8H O "26.4%" 2 JtE =H UEHR2H,
ClEe=2= 502K DIRH,  25.5%" , 50~1008HR 018 24.7%" , T200~3002H Ot
“13.5%" , 300~008HA OISt 6.4%" , 4006002 0I2H  2.2%" , T600RHR Ol&f,
1.2 =22 LIEte

[ @ B2 I2XNE ]

24 7
i i OIE 0.6
: =

(%)
30.0

25.0

20.0 -

15.0

10.0 -

5.0

500HA 5071009 100~2009HH 200~3000HH 300~4000HF 400~s5000HE 600~8000HH 8007+

ojg+ o gt o gt oj gt o] gt ojgt ojgt o4
(Shl @ %)
o 502t@ | 50~100 | 100~200 | 200~300 | 300~400 | 400~600 | 600~800 | 8009
aa = H O/2F | DFRI0(QF | OHRIOIOH | OHRIOIOH | DHRIDIEF | DEROIDE | OFRIDIOE | OlA
& Al 100.0 25.5 24.7 26.4 13.5 6.4 2.2 0.6 0.6
=t At 100.0 15.3 25.3 30.9 16.7 7.6 2.8 0.8 0.7

A+ 100.0 53.5 22.8 14.2 4.8 3.1 0.8 0.3 0.5

d g /& 2| 100.0 2.3 13.4 35.1 24.4 15.6 5.8 1.8 1.6
A £ | 100.0 3.1 18.7 34.1 22.3 14.0 5.1 1.4 1.2
AN Hl A/ Z O [ 100.0 6.0 26.2 35.8 19.6 8.2 3.0 0.7 0.6
s 8 o & | 100.0 27.9 37.9 22.3 7.3 2.8 0.9 0.5 0.4
s / 21 A [ 100.0 3.4 15.4 411 24.4 10.7 3.7 0.8 0.6
&t = £ 2] 100.0 19.7 34.4 35.0 8.8 1.8 - - 0.3




MEH| XIE2 TASEHl, JF “26.2%" 2 JH& = LtEete

o L0Io] ME| XIE2 TAIESHl) It "26.2%" 2 I = LIERCH, CIEe=2= "2z,
6.1, Twedl, U, Twsdl, 8%, THHL B, TJKERHL 986,
"oRHl, 1.8k, TwEHl 1.2 =% LIEK

[ MEH| K=

(28)
30.0%

25.0% ——
200% ——
15.0% |—|
10.0%
50% ——

0% +—

i6.1

13.9
i | = .
MEH|

AM=EFH]| 24| ZHARE = H| ol7H| BHo|ZH| wSH| W2 @ 2HH|
(S22 @ %)
= AR EH)| Z=AHH| nEY | M| g2 2A | usH mi=
. = A (QAEI) CrEENE) l;r-,-arnﬂn 24| Sl o|2H| (ffm:;?;un Q2| JIE

™ M 1100.0 26.2 13.7 14.9 9.8 1.8 16.1 13.9 1.2 2.5
15 - 29 Ml 1100.0 32.8 19.9 22.0 5.0 6.1 0.7 7.2 5.7 0.7
30 - 39 Al 1100.0 30.9 18.4 12.9 7.1 2.0 4.4 21.3 2.0 1.2
40 - 49 Ml 1100.0 27.1 13.1 13.4 7.0 2.3 4.7 29.7 1.3 1.4
50 - 59 Ml 1100.0 25.0 14.0 17.2 9.6 1.6 11.9 17.0 0.8 2.9
60 - 69 Ml 1100.0 23.9 12.8 15.5 13.0 1.0 26.2 2.7 0.5 4.5
70 - 79 Ml 1100.0 23.5 9.6 12.8 13.4 0.6 35.6 0.9 0.1 3.5
8 0 A 0l &k |100.0 22.4 9.4 12.9 13.9 0.2 38.5 0.6 0.1 1.9
5008-& 0] 8 1100.0 24.5 12.0 14.2 0.7 31.9 1.8 0.4 2.9
50 - 1008-& 1100.0 24.9 13.7 14.6 0.8 26.4 4.4 0.3 3.3
100 - 2002+& [100.0 26.8 15.6 15.5 . 1.9 13.4  12.1 1.7 2.4
200 - 3008+& ]100.0 29.0 15.9 15.1 8.5 2.2 7.5 18.5 1.2 2.3
300 - 4002+& ]100.0 26.8 12.2 14.5 9.1 2.6 5.3 26.5 1.6 1.4
400 - 600CH& 1100.0 26.9 10.8 13.5 5.6 3.2 5.3 30.0 2.1 2.5
600 - 8002+& ]100.0 20.6 8.6 17.6 6.1 2.6 6.3 33.4 2.8 1.8
800 9F& Ol 4 |100.0 20.2 11.4 18.9 4.5 1.9 1.1 27.7 2.0 2.3

7 I ool Y&IIE;
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“31.8%" 2 LIEtE

o G0IO] & )Xl DEES(IHSEERRIREE)DL =2 S22 3, 3.8, '=XAIE,
DM, NS, A, TRIQHERY, 213k, THSERY, M9.4%T |, NSO,
7.9, SIS, B2 92 LIEKE

ELEE " ozigtE ueg W opzhEni RS
100%
90%
80%
70%
60%
50%
ao%
30%
20%
10%
0% : :
ngu agH A8z MEWEHONE  IANE  xpwEaz  BijemM
(B2 : %)
w o= g & 100.0 4.4 15.0 54.6 18.3 7.8
w s & & 100.0 5.5 18.9 47.9 18.7 9.0
= A & 3 100.0 7.6 24.2 51.2 12.9 4.1
Mg E o Al 100.0 3.9 14.0 42.9 29.3 9.9
= X A E 100.0 7.5 17.9 43.9 20.9 9.9
Aoty e H 100.0 4.2 171 49.6 21.3 7.8
2 AL 100.0 1.8 6.4 36.0 31.3 24.5




o E0I0| M2t5l= XA PSPLES OI=X|, JI “37.5% 2 I =QUCH, TABIEX,
31.1%" AEEX], 7.2 FAOHRIZRI,  B.7% , TOHHE=X, 6.5%
LIE
[ Zed =XF
(%)
40.0
35.0 -
300 -
25.0 -
20.0 -
150 -
100 -
5.0 -
0
ol 27| Haide odEx MNE|2A]
o | Lol Zonel =P os ANEE2X
= =27 =27 =27 =27 OIz48 )
& X 100.0 37.5 6.7 17.2 6.5 31.1
ot N 100.0 34.3 7.0 9.2 4.4 34.0
o N 100.0 46.3 6.1 11.6 12.3 23.2
15 29 Al 100.0 16.3 4.4 21.5 13.9 40.9 3.0
30 39 Al 100.0 14.8 6.8 23.7 1.7 40.9 2.0
40 49 Al 100.0 19.1 7.9 29.8 7.0 35.2 1.1
50 59 Al 100.0 31.3 8.3 17.6 8.6 33.5 0.8
60 69 Al 100.0 53. 1 6.4 8.6 3.1 28.5 0.4
70 79 Al 100.0 68.0 5.3 5.6 1.5 19.5 0.1
80 ol A 100.0 80.6 4.2 3.5 0.5 11.1




—mnci ol 20T DBIE AIRIZTEAL H3OM

“39.0%" 2 ItE =

o £0I0| M25l= LoISXNE R zRE WHZ2= "MHE H=5X=, 0 “39.0%" 2
MY =U2H, THEA 2Xel ME,  "31.2%" ., TEEE2 2A2ANHIA MSB,
“10.3%" , TOHYsE Lol=EX T2 HMB,  “10.0%7 , "ol HAAE W3,

U

e e nze ol Chofet ol x]
ASKZ Rtz HZ oZMHIAHEZ NEHZ Z2IARZS
(2l @ %)
= HE = e A 2E2 s | LB |Ogst ==X
N = A = gxtel M3 | AMHA ’MB| AIdA3 | Z208 A3
& A 100.0 39.0 31.2 10.3 9.4 10.0
=1 \; 100.0 36.0 33.2 10.6 9.7 10.5
O I\ 100.0 47 .1 26.0 9.7 8.5 8.8
15 29 A 100.0 25.6 40.1 8.0 12.2
30 39 A 100.0 31.5 3r7.0 7.1 14.0
40 49 A 100.0 29.6 35.9 11.3 13.9
50 59 A 100.0 33.0 34.8 10.6 10.7
60 69 A 100.0 43.2 31.3 9.0 5.6
70 79 M 100.0 56.8 19.1 8.3 6.3
8 0 ol & 100.0 67.6 9.6 9.5 4.6




"ALSISXIAIE, “32.8%" = It

o YO JIF S0 € B3 HoAMEZ= TAIRISXIAIA, 0] "32.8%" 2 It =/UCH,

‘2382t 0.9, T2 2ATAE,  18.2% , 'B|AIE,  T.H, THSAE,
A, TEE F=XAIE, 46, TSRS 4%, TEMZ 86k,

TMYDIGEERRIE B.% =2= LEHE

HO

2 AHE =0k

I]d
0K

HOJAlM ]

(%)
35.0

25.0

20.0

182

15.0

10.0

5.0 -

EME 5 2A Atz

wg 23 = myz, B,
A 27 A oEA EBXAM FAAM  eaNalg  gux|

(A2 %)
o gs | 23 s |2oz|ns=x| 2e | s, | 28,

- = A | Ra | 32 [FHE| Ra [The | ae |=xaalsaxes| san | N8
= A [100.0 7.9 209 3.6 4.7 18.2 328 4.6 30 41 02
ot X [10000 82 224 36 55 17.8 29.2 5.4 32 4.4 03
ol X [1000 7.2 165 36 2.4 193 426 2.3 24 35 02
15 - 29 Al 1100.0 10.7 46.4 4.5 9.0 10.6 7.6 3.1 1.8 6.3 0.0
30 - 39 Ml 1100.0 16.2 35.9 8.1 59 12.3 9.2 5.6 0.7 57 0.4
40 - 49 Al 1100.0 8.4 28.9 4.4 52 16.6 20.4 7.6 3.3 50 0.1
50 - 59 Al 1100.0 6.8 18.3 2.9 6.0 19.1 31.8 6.5 4.6 3.5 0.4
60 - 69 Al 1100.0 5.5 10.6 2.1 3.9 21.5 453 2.8 4.5 3.7 0.2
70 - 79 Al 1100.0 4.5 5.8 1.4 1.8 23.3 56.8 1.1 2.2 2.8 0.2
80 M O & |1000 23 43 04 04 206 680 0.9 15 1.4 0.2
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1. WEMHE SHE

WEHEH =Mt AC= SEOl “73.5% O0lH, AF ¥ 2

"HIMWSH|, JF “40.7%" 2 Jt& = LIEtY

o T0I0| M2ABH= MRMTO SHES TUCH It T35 2 = LIEKLON, SHEo2s
HNDKE,  A0.%,  TUNRIE WS, 9.5, (YBMels DSEm
9.6, DSSD U sl AZsh, B, (SAsiE DSIel =

[ DSHE SME ]

DSASO SR UCH

2 = | =8 onox | Bl lems go| S8%E 258D _

A0 dﬁgl E,';:—Hl Eg,g% ms;;m%ﬂ mjggo JlEr

] A [100.0 73.5 100.0 29.5 40.7 19.6 3.1 6.7 0.4 26.5
15 - 29 Ml | 100.0 87.6 100.0 37.7 28.5 18.6 3.6 11.2 0.4 12.4
30 - 39 Al [100.0 87.6 100.0 32.9 36.8 21.1 3.8 51 0.3 12.4
40 - 49 Ml [ 100.0 88.8 100.0 31.6 38.4 21.3 2.9 55 0.3 11.2
50 - 59 Al |100.0 73.1 100.0 22.8 48.8 19.7 3.2 52 0.4 26.9
60 - 69 Al |100.0 55.0 100.0 17.6 55.8 19.0 2.1 52 0.2 45.0
70 - 79 Al | 100.0 40.2 100.0 17.6 61.8 14.9 1.3 3.9 0.5 59.8
8 0 Al Ol & [100.0 23.6 100.0 13.3 68.2 11.1 2.4 3.8 1.2 76.4
= £ 0| 9ol |100.0 45.9 100.0 19.3 58.9 14.3 1.5 53 0.7 541
=S = [100.0 76.1 100.0 31.2  41.0 16.8 2.9 8.0 0.2 23.9
) Z [100.0 84.6 100.0 29.9 39.2 20.1 3.0 7.5 0.3 154
B = 0 & [100.0 91.0 100.0 34.6 30.8 241 4.4 56 0.4 9.0




ANDES ABID TUACH 2485 , AIRS XHAS 2%, 469" XX

o AlEE AIZILD TUCH JF “24.8%" 2 LIEIG2H, ME+==2= 29,  “46.9%"
Y, M43.8%7 , 38, "9.0%" , 4% 014, "0.4%" =22 LIEtg

[ AnS = ]

4T 0|4, 0.4

JUnEIPUERS

2 o= ] ACk 2icH

AU | 19 = 39 |47 oy

o A 100.0 24.8 100.0 43.8 46.9 9.0 0.4 75.2
15 - 29 Al | 100.0 6.1 1000 889 111 - - 9.9
30 - 39 M 100.0 48.6 100.0 41.4 50.2 8.1 0.4 51.4
40 - 49 Al 100.0 59.4  100.0 36.9 52.0 10.6 0.4 40.6
50 - 59 Al | 100.0  18.9 1000 6.2  33.0 5.7 - 8l
60 - 69 Al | 100.0 3.7 1000 778 195 2.7 - %3
70 - 79 M| 100.0 1.4 1000  33.6 2.0  34.3 6.1  98.6
80 M O & | 100.0 0.6 100.0  100.0 - - - 994
= & 0 ¢dt 100.0 3.1 100.0 57.4 32.9 9.7 - 96.9
5 =| 1000 129 100.0  59.0  34.8 6.2 - 8
2 =| 1000 3.5 100.0 449 452 9.2 0.6  64.5
= 0 ¢« 100.0 48.6 100.0 39.1 51.6 9.1 0.2 51.4
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o ASS AP TRUCH b 24.8%" 2 UEHCH, Alns el == 20,  "3B.7%
O, 26.3%7, TABOHA, t18.8%T , T3OHA, 1377, TEIHAOIA,  B.B%
=OZ LIE

[ AR e = ]

(A : %)
ANE ZHE E= A1 &3 2 2= 202 HII)
- = Al UCH i cH
AH 1 A 2 WA 3 A 4500 A [BIHA OlA
s A | 100.0 24.8 100.0 26.3 35.7 13.7 18.8 5.5 75.2
15 - 29 Al ] 100.0 6.1 100.0 50.2 38.7 1.1 - - 93.9
30 - 39 Al ]100.0 48.6 100.0 26.3 34.9 16.9 17.0 4.9 51.4

40 - 49 Al | 100.0 59.4 100.0 20.7 35.4 12.9 23.8 7.3 40.6
50 - 59 Al | 100.0 18.9  100.0 39.8 37.4 10.6 9.9 2.3 81.1

60 - 69 Al | 100.0 3.7 100.0 41.6 38.8 11.2 8.3 - 96.3
70 - 79 Al | 100.0 1.4 100.0 33.6 38.9 13.7 6.8 6.9 98.6
8 0 M O & | 100.0 0.6 100.0 33.5 - 66.5 - - 9.4
= £ 0 of|100.0 3.1 100.0 29.7 45.3 1.7 11.2 2.1 96.9
ES £ | 100.0 12.9  100.0 42.4 38.0 8.7 10.0 0.9 87.1
i £ | 100.0 35.5 100.0 2r.0 36.6 14.0 17.4 5.0 64.5
2 0 & ]100.0 48.6  100.0 22.9 33.5 14.4 22.2 7.0 514




ANE XELHIEL=Z M10~302+& 0Ol Ol “30.9%" = Jt&

o AHISE AP TRUCH JOF 24.8%" 2 LIEIRICH, AlS XIE HIZS2E=  "M0-302H 01
0., 30508 0I2H, BT, TB0~M002HA O1gH 4.3k, T102FA OB
“10.1%" , T100~1502H DI,  “6.5%" , [1502H Ol&h, “2.4%" =°= LEM

[ AR XI&HE ]

MBEHl XNE HE
- = A A A3 108t& [ 10~302H& [30~50EHA |50~1002H& [100~1502H& | 1508+ ac
ojet ojet ojet ojet oj et ola

& M |100.0 24.8 100.0  10.1 30.9 25.7 24.3 6.5 2.4 752
15 - 29 Al |100.0 6.1 100.0 33.4 55.5 11.1 - - - 93.9
30 - 39 Ml [100.0 48.6 100.0 18.2 37.2 23.0 17.0 3.8 0.8 51.4
40 - 49 Ml [100.0 59.4 100.0 5.0 26.5 27 .4 29.5 8.8 2.8 40.6
50 - 59 Ml [100.0 18.9 100.0 7.8 31.2 25.9 25.8 4.7 4.5 81.1
60 - 69 Al [100.0 3.7 100.0 19.3 27.6 25.1 16.8 8.3 2.8 96.3
70 - 79 M [100.0 1.4 100.0  19.9 39.7 40.5 - - - 98.6
8 0 Al Ol & [100.0 0.6 100.0 - 66.5 33.5 - - - 994
= Z 0 3ot [100.0 3.1 100.0 11.8 50.4 20.0 9.3 6.6 1.8 96.9
ES £ |100.0 12.9 100.0 15.0 3r.7 30.6 14.5 1.2 1.1 87.1
ni £ | 100.0 35.5 100.0 9.4 31.1 28.0 25.4 4.0 2.0 64.5
th £ 0l <& [100.0 48.6 100.0 10.0 28.0 23.3 26.0 9.8 3.0 51.4
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B %, WSUHE

o BMTs T2€OACH JF 57 1% 0IH, wsUEE Ay L gfH, U,
PR, 6.8, TdldZE,  16.060 , TARISARME, 8.9, Db A2,

[ BMIS L ]

0

(S : %)
BMNSS 2D AL
= B el S DA
- = AT Ay | B2 Y (ABEN 22 EIbe! DM, g | BT
= gy | 2y | = | 2 | wuz
& A | 100.0 57.1 100.0 34.3 13.9 26.8 16.0 7.9 1.0 429

15 - 29 Al | 100.0 70.8 100.0 48.4 121 8.2 24.0 6.6 0.7 29.2
30 - 39 M | 100.0 77.3 100.0 43.2 11,5 154 154 13.9 0.5 227
40 - 49 Al | 100.0 70.8 100.0 31.4 159 26.8 146 10.2 1.0 29.2
50 - 59 Al | 100.0 56.9 100.0 22.4 176 43.2 12.4 3.1 1.3 43.1
60 - 69 Al | 100.0 38.0 100.0 11.8 14.8 59.4 8.4 3.2 2.4 62.0

70 - 79 Al | 100.0 18.4  100.0 7.7 106 721 5.3 1.8 2.5 81.6
8 0 M O & | 100.0 10.0  100.0 6.6 13.2 75.9 2.8 1.4 90.0
= Z 0l ot | 100.0 25.9 100.0 14.7 13.0 59.3 6.9 4.0 2.0 7441
ES £ | 100.0 56.7 100.0 3.9 16.5 27.7 12.2 55 1.2 433
ni Z | 100.0 69.3 100.0 3.8 14.2 226 16.1 9.4 1.0 30.7
th £ 0l & [ 100.0 80.1 100.0 3r.9 127 182 21.7 8.9 0.6 19.9




o WMNIE O|SYHOZ= 'Z2Z2IZS2SHIEHEE, 01 “95.9% 0, UsSe2= "X¥9n=
J|2tes “16.7%" ,  TCHSOHAI, “13.1%" , A&NR, TR, T2SHIE|
B6.1% == LIEK
[ ZMWNE 0|l29Y ]
(%)
- XYgug7|s8sE HEguns Sa7|#EsHdy =l ch= oAl 7| e
(A : %)
o L ImE=wlks ESP =xbnly [ = CHZ 0N I
T = A %%a:m ) = S3H4H S8 |(n2ns, wsy s)| (v, oea s | B
™ A 100.0 16.7 7.9 55.9 6.1 13.1 0.3
15 - 29 Al 100.0 26.5 10.1 37.0 8.7 17.3 0.3
30 - 39 Al 100.0 16.6 9.8 54 .1 6.8 12.6 0.1
40 - 49 Al 100.0 14.8 7.9 59.1 4.8 13.3 0.2
50 - 59 Al 100.0 11.9 5.6 67.2 4.8 10.3 0.3
60 - 69 Al 100.0 7.2 3.2 77.8 3.2 7.7 0.8
70 - 79 Al 100.0 2.8 3.2 78.3 3.9 10.5 1.4
8 0 A ol &t 100.0 4.7 4.7 71.5 2.9 16.2 -
= £ 0| 3al 100.0 6.4 3.7 76.2 3.3 9.5 1.0
= ES 100.0 18.1 6.2 55.3 5.4 14.7 0.3
) = 100.0 18.4 8.0 52.8 7.3 13.3 0.2
o = 0 & 100.0 18.1 10.5 51.4 6.2 13.6 0.2
| i e
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20.0%° , TMEOICH M.6%" , THGIUHKIS=C0

o AUTHBO| MRS HINEOICH OFRHINEIOICH + Q2HIME0ICH, b “70.3%" OIM,
COSICH .08, TAEHOICHRIRMMEOICE + ORSMEOCH, 1.5, EGILiKIe=CH
B 20T LIEK

[ 22E

o

29 MY ]

(26)

35.0

30.0

25.0

20.0

15.0

10.0

5.0
1.1 0.5
0 ‘ . : — T T

OFZ=H| M OFZHH| M =cist oFZHAN ofF¢ T Lx]
Hojct oot Ho|ct Hojct oot gernt

(S %)

4 o 5 oF= o2} Hgst o2t oF= &5

HI BOICH HI& BOICH BOICH | & BOICH | & BOICH |LHXI &=L
& M| 100.0 25.8 44.5 20.0 1.1 0.5 8.1
15 - 29 Al [ 100.0 16.1 54.6 20. 1 6.1 0.7 2.5
30 - 39 M| 100.0 32.4 46.9 18.2 0.4 0.4 1.7
40 - 49 Al [ 100.0 32.8 45.8 17.8 0.5 0.6 2.5
50 - 59 Al [ 100.0 30.5 43.7 19.5 0.7 0.5 5.2
60 - 69 Al | 100.0 21.7 44.6 22.3 1.2 0.4 9.7
70 - 79 Al [ 100.0 17.4 41.8 21.8 1.2 0.7 17.1
80 A 0 & [ 100.0 12.3 33.0 22.4 0.4 0.5 31.4

e



2. 2=zH|9 HENZF

"HIAHEHO|CH,

6., 8.3,

reElgy

FAEOICH

“3.3%)" ’

F&GILHKI A=

0.5% Z LIEH

o O|ZH|9 HMAENWSE= THIAEHOICHOIESHIMEHOICH + U2HIMHEHOICH , JF “67.9% 0|0,
T&EBICH B.30 , TAHHOICHRMMHEHOICH + OSMEEOICH, 8.3 , &SLHKIS=LH
0.5 =22 Ligk

ol2H|9 HAENHE ]
(%)
60.0
50.0
40.0
30.0
20.0
10.0
" I ﬁ I 1.2 0.5
ofH|4 =4 ofzHM opF4 U
Ho|ct Hoj} sict Hojct Ho|ch o)
(SHA %)
= o oot =A or2t o H3
T = H o loiw moicr|uim moic| a0 | o Bloior | % BOICH WX Fe0

s A | 100.0 16.9 51.0 28.3 2.1 1.0 0.5

15 - 29 Al | 100.0 16.0 51.6 27 .8 2.2 1.4 1.0

30 - 39 M| 1000 16.9 54 1 26.8 1.0 1.1 0.1

40 - 49 Al | 100.0 171 54.5 25 .6 1.7 0.7 0.4

50 - 59 Al | 100.0 18.8 52.5 26.3 1.4 0.7 0.3

60 - 69 Al | 100.0 16.1 47 1 32 .4 2.8 1.4 0.2

70 - 79 Al | 100.0 7.8 45.4 31 1 3.0 2.0 0.6

80 A O & | 100.0 141 42.6 35.9 4.1 3.0 0.3
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43.8%" 2 JHE = LIEHE

o JIHE 2Y Al HMZE2E ", 0 "43.8%" 2 & = LERSH,
sz Mg & AMIZA= &, "33.8%" , 22, “12.5%" , "2BHA
7.8%" , TEFI¥ & Erergr, 1.3%" =92 LE

[ OIHE &Y Al X

(%)

50.0

45.0

40.0

35.0

30.0

25.0

20.0

15.0

10.0

5.0

0.8
.0 T T T 1
oy stojgl gl w24 of3 7Ig}
Ao g3 otopd
(42 © %)
- . EEENEERE
T = A g3 ARo = Srorey EHA o= JIE

o Al 100.0 43.8 33.8 1.3 7.8 12.5 0.8

15 - 29 M 100.0 46.7 30.2 1.1 2.6 17.8 1.6

30 - 39 M 100.0 50.9 28.4 1.1 2.5 16.0 1.0

40 - 49 A 100.0 42.0 34.7 1.1 6.0 15.3 0.9

50 - 59 A 100.0 42.5 34.4 1.7 8.7 12.1 0.5

60 - 69 A 100.0 39.5 37.8 1.7 14.2 6.4 0.3

70 - 79 A 100.0 40.5 39.2 1.2 15.2 3.7 0.3

80 Al O & 100.0 36.5 38.9 2.2 19.0 3.2 0.1




“33.3%" 2 JtE =il LIEte

o HAUZKIANIEOZ2 = To|2HXES St KA, 0] “33.3%" 2 Jt&E = LIEISSH,
ret20| #Hset o202 & “19.0%" , 22 L MSAE =2, “17.8%"
TAUS=E Z2)2ijgt & B3, “16.2% , 'S2HEFAIY, “8.8% , "ZJ|012tE
So| T2l SM43H,  4.6% =2O=F LIEH

HAUZTIALY ]

(%)

35.0

30.0

25.0

20.0

17.8
15.0
10.0
8.8
5.0
, B |
= H, HASH =H4y o|lgHMS #7|,0iekE 52|
BRAY  DRIWKEY Mg ES]  Ssougy Z2ausdst
e
(42 : %)
201 mx Palid=py| 29 olzAdXES | Z2J|, OIctE | 8t20| Hst
- = Al "“}\’WE"_ o2 HAFAIE s&t Sol mzy| 9=zJ|& JIE}
= e o 252 =Y 0f 8 AF S kel SHY

| bsl 100.0 8.8 16.2 17.8 33.3 4.6 19.0 0.3

15 - 29 Al 100.0 9.2 19.8 26.8 24 .9 7.7 11.4 0.3

30 - 39 Al 100.0 7.5 17.8 23.2 32.5 4.9 13.5 0.4

40 - 49 Al 100.0 11.8 19.5 20.1 29.3 4.3 15.0

50 - 59 Al 100.0 10.3 17.0 14.7 36.2 3.9 17.8 0.2

60 - 69 Al 100.0 7.7 11.6 10.6 40.4 2.9 26.5 0.3

70 - 79 Al 100.0 5.9 9.0 6.7 42 .2 2.4 33.4 0.4

8 0 A ol &t 100.0 4.4 7.6 3.3 40.9 1.9 41.6 0.5
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=nner

20T M= AMIRIZTAT 220M

"8 243, “45.0% = LEtE
o E0IO] SFUR= SHCH B 2 UESCLOH, O & "32+43, “4b6.0% 2
M = Uetd, 1 ts8ez= '#13 0ldh 25.5%" , = 2+43,
23.0%" , THAANY, 6.4%" =22 UEHE

- 2010 SHE ALSIZAF 2 X 13 S == 8t & 014 Ol S 2172 HIE=2
20A1 Ol&f Q129 “68.4%" 2 LIEtSCO, S 2+ 8% '3 2-33l, “31.3%" It

Y 21, T3343] 014, Ol BR= “14.4%° 2 LIEtE
ZAL 0T R BIE ]

[ 20108 SHE Atgl

20118 HelgdT AMSIEAF SFHE & ST (2 @ %)
SFeE
_E_ (o] E O'I[:
™ A A A% |® 18l olst| 248 | =248 | Ao mye | P }
= A 100.0 51.7  100.0 255 45.0 23.0 6.4 48.3
15 - 29 Al 100.0 46.8  100.0 33.9 54.2 9.2 2.7 53.2
30 - 39 Al 100.0 69.9  100.0 28.0 44.8 241 3.1 30. 1
40 - 49 Al 100.0 66.6  100.0 2.5 45.9 6.9 4.7 33.4
50 - 59 Al 100.0 54.3  100.0 21.9 40.9 7.8 9.5 457
60 - 69 Al 100.0 416 100.0 20.9 39.3 28.0 11.8 58.4
70 - 79 Al 100.0 30.8  100.0 21.3 37.4 26.3 15.0 69.2
8 0 A o & 100.0 7.7 100.0 19.9 36.1 23.9 20. 1 82.3
20108 EHE MIZAI SFHE & SFUE (S @ %)
EETI EEE
-] 2 pl 8= [, |83 B = [ = [ A9 |usF[ o, [oHE2 [ OIAE
= olat | 2~33l | 1~28 | 3431 | e = Las | =as
= A | 100.0 68.4 100.0 27.7 31.3 26.6 101 4.3 31.6 100.0 46.5 53.5
20 - 29 M| 1000 815 1000 272 39.4 2.8 56 1.0 18.5 100.0 45.2 54.8
30 - 39 M| 1000 784 1000 289 323 273 9.4 2.1 21.6 100.0 54.3 45.7
40 - 49  Al| 100.0 75.8 100.0 26.6 29.0 27.8 12.1 4.5 24.2 100.0 48.3 51.7
50 - 59 Al | 100.0 656 100.0 26.8 26.4 26.2 13.3 7.2 34.4 100.0 43.5 56.5
6 0 Al o & | 100.0 40.5 100.0 29.5 27.0 22.8 10.4 10.3 59.5 100.0 44.4 55.6
e T |



= 2=

1-1. &= 2@ Ol OI==H=

"UCH  “16.5%" , T™EE W, “58.3%" 2 UEHE

o
oo

= 21 OILAOI OIZ=HME0| TUCH  “16.5%° 2 LIERGOn. TmM2tas L, O
‘g3 2 MY = LERS. O OIS0z mEmoiA, Y1855 . TASS®AL
T TEIE, 300 . TIE, .65 =02 Lkt

[ &% 24 0| OIZ=HE ]

(91 : %)
017 220 ACHOIZ HE XI2)
2 o= A | Uk Sl e
23 |HcEE W BFESA | ASSEAMN| BIE Ne
& M [ 100.0 16.5  100.0 58.3 18.5 7.7 3.9 116 83.5

15 - 29 Al | 100.0 51.0  100.
30 - 39 Al| 100.0 35.3  100.
40 - 49 Al | 100.0 22.8  100.
50 - 59 Ml [ 100.0 11.4  100.
60 - 69 M [ 100.0 4.0 100.

55.8 16.7 11.4 6.4 9.6 49.0
59.1 21.7 4.6 4.3 10.3 64.7
61.0 16.1 7.7 2.6 12.5 7.2
57.4 20.5 6.6 2.6 12.8 88.6
46.0 18.1 12.9 2.5 20.5 96.0

O O OO O oo

70 - 79 M [ 100.0 2.2 100. 60.8 3.9 17.6 4.4  13.3 97.8
8 0 A O & [ 100.0 0.6 100. 66.8 33.2 - - - 99.4
& g / & 2| 100.0 31.2  100.0 53.3 23.8 8.0 3.6 11.3 68.8
At £ | 100.0 30.2 100.0 61.4 22.0 6.9 3.7 5.9 69.8
M Hl A/ 2 08| 100.0 21.1  100.0 61.0 22.0 5.4 - 115 78.9
s 8 0o & [ 100.0 3.8 100.0 60.5 14.8 9.0 2.8 12.9 96.2
Jls / 21 A | 100.0 29.9  100.0 65.6 13.3 3.2 58 12.2 70.1
&t = £ £ [ 100.0 13.3  100.0 62.0 11.4 8.1 - 18,5 86.7
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20T M= AMIRIZTAT 220M

1-2. 0I=0|=
Ol Olg2= T=EEM, “27.8% 2 JI& =K UE
o 0|F OlR2= 'FEH2AM, It “27.8%" 2 It& =4 UEEdH, O sezgs
TAEE = NEERMH,  22.1%" , "THEHLS2H, “19.8%7 , I &M
MESED| o, “17.2%" , T2IMES o, “9.1%7 =22 LiEtY
[ OIF0IR
(%)
30.0
25.0
20.0
15.0
10.0
5.0 I
_{, | | il
IEIEMEEN]  FURH  ANYYEENEEN MURSEN 2ieEe 71Et
204
(S : %)
2 - 5 IED BN | FeeR |AYY E= | XURS | 2sdEs| o
= MESH| Il | (=272 M8) &2 A < oH
& A 100.0 17.2 27.8 22.1 19.8 9.1 3.9
15 - 29 Al 100.0 21.6 17.1 35.0 9.7 14.6 2.1
30 - 39 A 100.0 14.2 32.6 20.2 26.2 5.7 1.0
40 - 49 A 100.0 12.0 30.9 19.8 25.9 9.4 2.1
50 - 59 Al 100.0 27.7 24.6 17.8 13.2 8.6 8.1
60 - 69 Al 100.0 20.4 28.4 18.0 2.6 10.3 20.3
70 - 79 A 100.0 22.0 34.8 4.4 4.4 8.3 26.0
8 0 A ol & 100.0 - - - 33.2 - 66.8
=2 /22 100.0 16.1 22.4 19.6 26.0 14.1 1.9
Al e 100.0 12.4 32.9 20.6 23.0 7.0 4.0
M HI A/ B DR 100.0 12.8 33.6 23.4 19.7 9.7 0.8
= g o g 100.0 1.4 37.1 23.9 8.0 7.3 12.2
J s / 21 A 100.0 17.2 31.5 24.8 17.6 7.2 1.8
% = & 2 100.0 15.8 27.9 32.5 15.6 3.1 5.1
e



HZ2S {8 WAl ]
(%)
60.0
50.0
40.0
30.0
20.0
10.0
] -
.0
Hs3ABAY  Folol Lol - szTolz 71t
. sApsALnE B3
(21 %)
o o sHoAl (A oet| 4mpE = e o)
= A %3t @z 2st UEAS BE szs| JIE
& bsl 100.0 51.8 13.0 21.0 5.1 0.5
15 29 Al 100.0 52.9 13.8 18.6 5.8 0.6
30 39 Al 100.0 56.2 10.8 21.0 5.1 0.4
40 49 Al 100.0 54 .5 12.3 20.9 5.0 0.1
50 59 Al 100.0 53.8 13.3 20.2 4.5 0.5
60 69 Al 100.0 47 .0 13.2 22.9 6.0 0.4
70 79 Al 100.0 44 .0 15.4 23.4 4.8 0.9
80 o] & 100.0 45 .6 13.6 24.5 3.0 1.8




menciol 20T TEIEE AIZIZSAT 220 s

tICh “39.0%" , 28,

o L AT A2 “80.8%" It U= E=Z LEMGCH, TAHYSICHIIRAY + &Y
“39.0% , 28, 28.7% , 'HYGHK UCHEGGHA RLCH+ OFFRGYGHA 0
=

25.3%" , T22CH  7.0%" =22 UEtE

MAE ANEO0l UE TP BBLE =)
™ = AR TR [ g | og | 2ea [ozag| 22 | #O
2| mg | B8 | 28 | nan (awwo| g
& M| 1000 8.8 1000 7.8 31.2 287 2.0 52 7.0 19.2

15 - 29 M | 100.0 97.9 100.0 3.1 26 234 219 11.8 17.2 2.1
30 - 39 M| 100.0 92.8 100.0 3.6 18.9 33.3 27.9 8.2 8.1 7.2
40 - 49 M | 100.0 86.7 100.0 56 25.3 33.1 22.6 5.8 7.6 13.3
50 - 59 M| 100.0 79.1 100.0 8.1 3.2 2714 20.2 4.2 59 20.9
60 - 69 M | 100.0 74.6 100.0 10.5 41.0 26.9 14.9 3.0 3.7 25.4
70 - 79 M| 100.0 68.6 100.0 14.7 40.3 25.9 12.5 2.1 4.6 31.4
80 AW O & [ 100.0 67.2 100.0 11.8 47.5 19.4 13.6 2.0 56 32.8
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o CLH AEZ AIE0] 9= “19.2%" E HACZ =2 AlZ2ote 824+= KXot I}
“86.2%" = JI&E =H UEEenH, O os8oe |E} “7.6%" AL
“4.1%" 2 D% =02 LIEL

AT AH0 Y= A ARSI 222 ]
T %)
%)
AT AIAO0] S Aol 884
A ottt ULt
A A %= Xl ok4= J|E}

| bsl 100.0 19.2 100.0 2.2 86.2 7.6 80.8

15 29 Al 100.0 2.1 100.0 - 56.0 - 97.9

30 39 Al 100.0 7.2 100.0 7.8 69.1 10.0 92.8

40 49 Al 100.0 13.3 100.0 3.4 80.8 5.5 86.7

50 59 Al 100.0 20.9 100.0 2.6 84.4 8.6 79.1

60 69 Al 100.0 25.4 100.0 1.2 87.3 10.4 74 .6

70 79 Al 100.0 31.4 100.0 1.2 92.6 5.6 68.6

80 0] &f 100.0 32.8 100.0 1.2 91.6 6.0 67.2
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—mnci ol 20T DBIE AIRIZTEAL H3OM

o C0I0] =2 0|8ot= DELHS TR, “40.9% 2 JIE SH LEGeH, 2
H A

JEHAL “39.%" , &R, “13.0%" , TRHEA

[ nS=E |

(%)

L= xS AH7HE 25 Xp=EXH A ZIE}
(2, EHA])
(&2 %)

T 2 3 T (Htffpfl) e |22 nex| A J1Et
s l 100.0 13.0 39.9 40.9 2.5 2.8 0.9
15 - 29 Al 100.0 15.2 53.6 26.8 0.6 3.7 0.1
30 - 39 Al 100.0 10.8 215 64.2 1.1 2.0 0.6
40 - 49 Al 100.0 10.8 23.2 61.5 1.4 2.6 0.6
50 - 59 Al 100.0 1.1 28.7 53.4 2.6 3.2 0.9
60 - 69 Al 100.0 13.4 48.6 27 .8 5.8 3.1 1.4
70 - 79 Al 100.0 16.5 63.8 9.8 5.8 2.2 2.0
80 M 0 & | 100.0 18.0 69.0 7.8 2.3 0.7 23
32 /2 e 100.0 9.1 16.0 721 0.7 1.3 0.8
A 2| 100.0 8.6 16.2 73.5 0.3 1.2 0.1
NoH AT O 100.0 10.3 28 .1 56.7 1.6 3.3
= 2 o o 100.0 9.5 39.7 39.3 7.1 2.4 2.0
s /oA 100.0 8.4 19.4 66.8 1.3 3.8 0.3
o = L 2| 100.0 13.9 44.9 34.0 2.4 3.8 1.0
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o NN ARE "25.4%" 0IH, 0I5 0I8x+== )12l O0IS5HA %S, 01 "“8.% 2
o = UEHReH, O t8e2= = 1-33,  "25.1%" , 'O, “17.1%" ,
"= 431014, "8.9%" =22 LIEHE

(A - %)

- _ y ) AEH AKSA 0|8 AS5D
B ALk A3 Mg | =amois| Fram | (Ao | RAES

s M| 1000 254 1000  17.1 89 251 8.9 746
15 - 29 M| 1000 2.6 100.0  12.1 56  25.9 56.4 73.4
30 - 39 M| 100.0  26.4  100.0 6.0  10.0  29.9 54.2 73.6
40 - 49 M| 1000  31.8 100.0  10.3 8.4  23.9 57.4 68.2
50 - 59 M| 100.0  29.0 100.0  22.1 9.7  26.0 42.3 71.0
60 - 69 M| 1000 232 1000 358 125  21.0 30.7 76.8
70 - 79 M| 1000 135 100.0  36.9  10.3  20.4 32.4 86.5
80 M 0 & | 100.0 87 100.0  30.9 125  15.6 411 91.3
2 /2| 100 284 1000  10.9 7.7 23.9 57.5 71.6
At = | 1000 282  100.0 4.7 53 251 64.9 71.8
ABl A/BOH| 1000  27.8 1000 135  13.6  20.3 52.5 72.2
= 2 o 2| 100 2.0 1000  31.0 107  24.8 33.5 74.0
ol s /2 A | 1000 299  100.0  20.0 4.4 323 43.2 70.1
o = &« 2| 1000 234 1000  19.7  12.7  26.0 415 76.6




5-2. Xt&A O]

0
o
J

o AINMH O|22HCZ2E T2 2 FOIZS, 0l “49.7%" 2 JIE = LIESGen, O
Cleceze 2He0ls(Aad 5)| “R.% , 'ss Y FEZ2Z “9.2%"
2 o AR (HIE )=, “3.6% =9 LIEte

[ JIEAH 0|2 =2F ]

(%)
60.0
50.0
40.0
30.0
20.0
10.0

g

sy 2742 05 25y ST 7iet

EE|ZE (2" F) Hol2s AHEEE

(290 : %)
_ =5 2 |22 OlE | 2= 2 |2o 2 A
™ = A ze2g | (AT =) | HOEE | ()= JIE

Pl bsl 100.0 9.2 32.9 49.7 3.6 4.6

15 - 29 Al 100.0 15.9 27.9 50.8 1.7 3.7

30 - 39 Al 100.0 9.9 34.9 48.8 2.2 4.2

40 - 49 Al 100.0 8.5 27.8 58.5 2.2 3.0

50 - 59 Al 100.0 6.4 35.0 48 .4 5.0 5.3

60 - 69 Al 100.0 4.4 38.8 42 .5 7.5 6.8

70 - 79 Al 100.0 4.7 46.1 34.6 7.0 7.7

8 0 Al ol &t 100.0 5.0 45 1 34.4 5.6 9.9

8 2 /2 2 100.0 8.1 25.3 60.3 3.1 3.2

Al 2 100.0 10.9 25.7 61.2 0.8 1.4

N "l A/ B OH 100.0 11.0 28.4 54 .6 2.9 3.1

= 8 O ¢« 100.0 5.6 41.4 35.0 9.3 8.8

s / 21 A 100.0 23.7 18.1 53.6 0.5 4.1

@¢ = L 2 100.0 10.5 42 .8 42 .3 2.3 2.2
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57.5%" 2 & =

o FQ FE &5 gy TV, It 57.5%" 2 IOtE = UEReH, O Usezs

oY ¥ JOIE,  U38.0%7 , A2, 85T, ety 0.7%" . TEX

o

il

[ ZIAMEE &5 Y |
(%)
70.0
60.0
50.0
40.0
30.0
20.0
10.0
3.5
& E I I I 0.7 I 0.2 I 0.2
g aHuuzgE e ERAEA 7let
(2l %)
OIEY 2 =% o
= |2
- = A dl= == v 2tCl2 M JIE
il X 100.0 3.5 38.0 57.5 0.7 0.2 0.2
15 - 29 Al 100.0 1.0 85.2 13.7 0.1 0.1
30 - 39 A 100.0 3.7 64.3 30.9 0.8 0.3 -
40 - 49 A 100.0 6.5 35.8 56. 1 1.1 0.3 0.1
50 - 59 A 100.0 5.4 13.8 79.6 1.1 - 0.1
60 - 69 A 100.0 3.0 3.3 92.7 0.8 0.1 -
70 - 79 A 100.0 2.0 1.3 95.0 0.7 0.1 0.9
8 0 A ol & 100.0 1.3 1.5 96.2 0.7 - 0.2
= £ 0 ¢t 100.0 1.0 5.7 92.4 0.5 0.0 0.3
= = 100.0 2.7 36.5 60.0 0.6 0.1 0.1
i = 100.0 4.7 45.9 47.9 1.2 0.2 0.1
t = 0 & 100.0 5.6 69.2 24.5 0.4 0.3 0.0
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M, T~2AI2F DI “34.1%" 2 JI& = LIEE

o

CIHYI2  "52.7%" Ot 0185t USB!, T1~2AI12F 012, O “34.1%" 2 It = LIEHE,
O tsez2=  "ARF 01y 27.9%" , 302012 “5.1% ,  23ARF 0I2
“18.5%" . TBARFOI&,  9.4%" === LIEHE

[ 2IEHY OI20HE &L 0I=2AI2t ]

(S %)

L (=13 o
- - N 0253 olgiy olEg E2 018 Al 0125t
= AS A3 30=2 TAIZE [ 1~2A12} [ 2~3AI2 | BAIZE AS
olet olet olet olet Ol &

& Al 100.0 52.7 100.0 15.1 27.9  34.1 13.5 9.4 47.3
15 - 29 A 100.0 92.8 100.0 6.1 22.8 3.0 21.2 12.0 7.2
30 - 39 A 100.0 87.9 100.0 5.4 30.2 36.2 8.7 9.4 12.1
40 - 49 A 100.0 65.2 100.0 23.4 315 29.6 8.6 6.9 34.8
50 - 59 A 100.0 32.5 100.0 23.8 329 28.8 8.2 6.3 67.5
60 - 69 Al 100.0 9.6 100.0 33.7 29.8 16.3 14.8 5.4 90.4
70 - 79 A 100.0 2.1 100.0 48.4 29.9 6.2 9.3 6.2 97.9
80 A O & 100.0 1.3 100.0 1.1 1.2  52.3 254 - 98.7
= £ 0 ot 100.0 8.0 100.0 25.2 25.6 30.2 11.0 7.9 92.0
= ES 100.0 46.8 100.0 5.2 27r.4  39.3 12.6 5.5 53.2
i ES 100.0 69.5 100.0 7.2 29.2 30.4 141 9.1 30.5
o 2 o & 100.0 90.5 100.0 1.7 2r.0 36.4 13.5 11.4 9.5
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“45.1%° = OHE =

o QIEY 20HE EEC(MHSUS + d2UEASB)2 82 2 U2 =8, 6.2 2 I
=l LEHRD, 1 OE2s '=AED,  "30.5%" , oo,  "“5.5%" , 'wss2,
5.4, TE(ONY), AT, TRIESIe), 14.01%7 , THIAMTHE,  f10.8%
== LIE

" ope

.

m

i

i

i

i

m

.

.

i

HE RO +H FAET| 2aAIe) HAA, X
(2 %)

a8 Y g2 8 100.0 15.7 29.5 39.2 8.3 7.4
= A& 20 100.0 8.9 21.6 39.5 16.0 14.0
n = = 100.0 3.8 11.6 26.6 21.5 36.5
g (H ) 100.0 4.2 10.5 25.6 17.4 42.3
&l q, HE 100.0 2.9 7.9 21.2 16.5 51.5
0l ] = 100.0 4.0 11.5 33.7 20.0 30.7
ol H LA 100.0 5.3 8.8 23.7 15.7 46.6




o JIPE SARIE2 5-108H 0I2H 0 "24.1%" 2 I = UERH, 1 Usez=
"3EH 0IBH, "20.1%" . 3-5BHRE OI8h, , T10~158HR D18, 17.0%7 . T15-202HA
012, M2.3%" , 20-302KA 012, B.8%" , 30508 0I2H  2.2%" , 502+ Ol4,
0.3 =22 LIEH

(26)
30.0

30k 3~s0OHRA 5~109HA 10™159HRA 15~200H 20~300HA 30~500HA 509HR
ojgk ojgk oj 2k oo ook ojgr oj gk o]
Sl %)
s = H 3era 3~58HR | 5~108t& | 10~158HR | 15~208HR | 20~308HR | 30~508HR& | 508+
= 012t alet olet 0l 2t 012t 012t ] g=ly Olat
& A 100.0 20.1 17.0 24 .1 17.0 12.3 6.8 2.2 0.3
15 - 29 Al 100.0 5.9 16.5 37.5 26.7 10.7 2.7 - -
30 - 39 M 100.0 3.1 6.2 26.7 27.3 24.7 9.7 2.2 0.2
40 - 49 A 100.0 3.9 8.3 22.3 24.6 20.8 14.2 5.6 0.4
50 - 59 Al 100.0 7.6 15.7 29.5 20.8 13.4 9.0 3.0 1.0
60 - 69 Al 100.0 24.5 30.6 28.8 9.3 4.2 2.2 0.4 0.1
70 - 79 A 100.0 54.5 27.0 13.6 2.9 1.6 0.3 0.1 -
8 0 A ol & 100.0 77.6 16.0 5.6 0.2 0.2 0.4 - -
508k & 0] 2t 100.0 66.7 20.8 9.5 2.7 0.3 0.1 - -
50 - 1002+& 100.0 31.3 33.3 25.0 4.9 3.6 1.4 0.4 0.1
100 - 2008+A 100.0 7.6 20.1 36.0 18.3 10.8 5.4 1.6 0.1
200 - 300¢E+& 100.0 2.0 10.1 29.2 27.4 19.4 9.1 2.6 0.3
300 - 4000+& 100.0 2.2 4.6 21.1 26.9 25.3 14.5 5.0 0.5
400 - 6008t& 100.0 0.8 4.9 19.6 29.6 21.6 17.7 5.1 0.6

600 - 8008+& 100.0 0.9 7.8 10.4 29.4 25.5 15.2 8.7 2.1
800 2t& Ol & 100.0 1.2 5.8 22.2 23.6 21.1 15.9 6.8 3.4
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(= 2 2 o o g ) 100.0 25.9 31.2 21.7 10.0 1.1
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100.0 15.3 32.2 25.9 12.7 13.9
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15 - 29 ANl | 100.0 22.6 21.5 24.3 13.0 17.8 0.9
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60 - 69 Al | 100.0 23.4 17.2 20.7 12.0 25.6 1.0
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70 - 79 Al 100.0 6.5 1.7 1.5 0.3 0.6 2.5 93.5
80 M 0 & | 100.0 3.6 0.1 1.5 - 0.8 1.2 9.4
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40 - 49 M| 1000 5.2 161  26.9 7.7 5.1 0.5  43.8
50 - 59 M| 1000 287  10.4  14.0 2.5 1.3 0.5 71.3
60 - 69 Al | 1000 7.2 3.7 2.6 0.5 0.3 0.2 92.8
70 - 79 M| 1000 2.1 1.4 0.6 0.1 - 0.1 97.9
80 M o &| 1000 1.0 0.7 0.3 - - - 9.0
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50 - 59 Al 100.0 18.1 9.9 6.5 1.1 0.2 0.3 81.9
60 - 69 Al 100.0 8.9 3.7 4.7 - 0.5 0.1 91.1
70 - 79 M| 1000 43 2.2 I8 0.1 . 0.1 957
80 M o 4| 1000 1.4 0.8 0.5 . 0.1 - %6




3-4. 2ettiz-M=g8s 00z HAIS 2F)

Ol &AIRI01 28 18, “10.3%" 2 LIEtE
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& A 1000 63 103 47 09 02 02 837
15 -~ 29 A | 100.0 313 199 87 1.9 04 04 687
30 - 39 M| 1000 249 165 7.0 1.1 01 02 751
40 - 49 M| 1000 82 115 53 09 02 04 818
50 - 59 Al | 100.0 96 53 32 06 02 02 9.4
60 - 69 Al | 100.0 37 22 13 01 0.1 - 9.3
70 - 79 M| 100.0 22 13 07 0.1 - 0.1 97.8
80 A O & | 100.0 0.7 05 0.2 - - - 993
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30 - 39 M| 100.0 60.5 17.9 28.9 8.9 42 0.6 39.5
40 - 49 M| 100.0 515 154 266 6.2 2.6 0.6 48.5
50 - 59 Al | 100.0 3.0 13.4  18.0 4.5 1.7 0.3 62.0
60 - 69 A | 100.0 276 123 13.3 12 06 0.2 72.4
70 - 79 M| 100.0 9.6 11.0 7.3 08 05 0.1 80.4
80 M O & | 100.0 2.3 7.0 49 0.4 - - 87.7
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4371 HIXl ol ANEE ol
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A7 RUCH oiCk A7 aYL | 220
& i 100.0 35.8 64.2 100.0 54.0 46.0
15 - 29 A 100.0 34.2 65.8 100.0 69.4 30.6
30 - 39 A 100.0 50.7 49.3 100.0 71.9 28.1
40 - 49 A 100.0 54.5 45.5 100.0 67.8 32.2
50 - 59 A 100.0 41.0 59.0 100.0 56.5 43.5
60 - 69 A 100.0 25.1 74.9 100.0 32.2 67.8
70 - 79 A 100.0 12.6 87.4 100.0 14.5 85.5
8 0 Al ol & 100.0 6.7 93.3 100.0 6.0 94.0
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ot=x =0F
| A 100.0 14.3 100.0 33.4 40.1 19.7 4.8 2.1 85.7
15 - 29 Al | 100.0 9.4 100.0 26.9 28.7 28.2 10.2 6.0  90.6

30 - 39 M [ 100.0 14.9  100.0 24.3 44.6 22.5 5.9 2.6 85.1
40 - 49 M [ 100.0 16.5  100.0 36.4 38.0 20.9 3.1 1.6 83.5
50 - 59 Al | 100.0 16.6  100.0 32.5 42.0 18.3 5.3 1.9 83.4
60 - 69 Al | 100.0 15.7  100.0 42.7 41.5 12.1 3.3 0.4 84.3
70 - 79 M [ 100.0 14.5  100.0 39.5 42.2 16.5 1.4 0.5 85.5
8 0 A Ol & [ 100.0 13.8  100.0 31.5 53.3 13.1 2.1 - 86.2
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04 14 29 3 49 9 oAt
& b 100.0 2.2 9.5 427 29.7 1.8 41
< A 9 g >
Al Xl < 100.0 2.9 13.2 48.8 25.6 7.2 2.2
= Xl & 100.0 1.8 7.2 39.0 32.1 14.5 5.8
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40 - 49 Al 100.0 2.4 8.7 46.5 31.9 8.9 1.7
50 - 59 Al 100.0 1.9 5.6 40.2 36.2 12.8 3.4
60 - 69 Al 100.0 1.4 3.2 28.5 37.9 22.5 6.4
70 - 79 Al 100.0 1.5 2.1 21.2 38.7 24 .1 12.4
8 0 Al o & 100.0 0.8 3.1 17.3 33.7 26.2 19.0
< 8 # ¢ >
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= = 100.0 2.4 13.0 443 28.2 9.5 2.6
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<EQHNEHE>
] = 100.0 4.5 21.4 55.2 15.3 3.0 0.6
= il] ? 100.0 1.4 5.9 41.8 34.0 13.2 4.2
Al E 100.0 1.9 3.2 23.4 37.2 22.9 1.5
ol = 100.0 2.9 14.9 51.0 22.8 6.1 2.3
<H Y AEE>
| A 100.0 2.0 7.7 43 .4 31.4 12. 3.4
] e ] 100.0 2.5 12.1 41.8 27 .1 11.3 5.2
< = g 4 >
& 2/ & 2 100.0 1.3 9.3 50.3 28.2 8.1 2.8
A = 100.0 3.0 9.8 51.6 26.7 7.8 1.1
A H A/ B DH 100.0 2.3 8.0 47.2 31.7 9.1 1.7
s g o ¢ 100.0 1.9 4.0 30.5 37.5 19.9 6.1
Ja s / I A 100.0 3.1 11.0 53.2 25.3 5.9 1.6
Er = L £ 100.0 1.0 10.2 447 29.9 10.9 3.2
= ol 100.0 = = 91.7 8.3 — -
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500 & 0O g 100.0 2.3 4.2 24.4 36.2 20.5 12.4
50 - 10092t& 100.0 2.3 5.2 30.3 33.5 20.5 8.2
100 - 2000t 100.0 1.9 9.5 43.9 29.1 12.9 2.8
200 - 30092t& 100.0 1.6 7.1 47.3 31.6 9.5 3.0
300 - 40092t& 100.0 1.5 6.2 47 1 32.3 10.3 2.5
400 - 6002H& 100.0 1.8 4.8 46.4 37.5 7.1 2.4
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Al Xl & 100.0 21.0 100.0 55.7 36.0 7.5 0.8 79.0
= Xl > 100.0 28.7 100.0 47 1 34.9 14.3 3.8 71.3
< | =] >
= N 100.0 25.7 100.0 47 .4 35.8 13.8 3.1 74.3
N 100.0 25.9 100.0 52.0 34.7 10.7 2.6 74 1
< o6 8@ 4 >
15 - 29 Al 100.0 1.9 100.0 72.5 18.8 = 8.7 98.1
30 - 39 Al 100.0 4.9 100.0 77.1 14.9 8.0 = 95.1
40 - 49 Al 100.0 38.6 100.0 449 40.1 13.3 1.7 61.4
50 - 59 Al 100.0 63.1 100.0 43.3 38.4 15.4 3.0 36.9
60 - 69 Al 100.0 39.0 100.0 57.7 31.4 7.9 2.9 61.0
70 - 79 Al 100.0 16.8 100.0 61.7 24 1 8.1 6.1 83.2
8 0 A o & 100.0 7.7 100.0 70.2 18.1 5.5 6.2 92.3
< 8 3 4 >
= = ol of 100.0 27.6 100.0 55.1 29.7 11.6 3.6 72.4
= = 100.0 31.7 100.0 a7.7 33.4 16.0 2.9 68.3
) = 100.0 26.7 100.0 a7.7 40.6 9.4 2.4 78,9
CH = 0l &f 100.0 17.9 100.0 46.2 37.2 14.5 2.2 82.1
<E QO AHYE>
] =S 100.0 1.2 100.0 56.7 26.8 4.1 12.5 98.8
= il 2 100.0 35.6 100.0 48.2 36.4 13.0 2.5 64.4
Al S 100.0 20.1 100.0 58.6 28.4 7.6 5.4 79.9
Ol s 100.0 38.1 100.0 60.5 29.1 8.3 2.1 61.9
<FH Y AHE>
F fos! 100.0 32.6 100.0 46.4 36.7 13.8 3.1 67.4
] F fos! 100.0 16.0 100.0 59.4 30.8 7.5 2.3 84.0
< 7 o ¢ >
& 2 / &2 2 100.0 30.0 100.0 45.8 36.4 14.5 8.8 70.0
Al 2 100.0 20.5 100.0 56.9 28.8 12.4 2.0 79.5
A "l A/ EO0f 100.0 31.6 100.0 54.0 36.0 8.3 1.7 68.4
= = ;] {2 100.0 40.4 100.0 40.6 38.9 16.7 3.7 59.6
o s /I A 100.0 25,8 100.0 49.3 38.2 10.5 1.9 74.7
Er = e 2 100.0 &.5 100.0 49.3 33.2 13.8 3.8 64.5
= ol 100.0 16.5 100.0 50.0 50.0 = = 83.5
< & 5 48 >
50 ¢ & o] ot 100.0 19.3 100.0 60.8 23.9 8.9 6.4 80.7
50 - 10092 & 100.0 33.2 100.0 54.5 29.5 12.4 3.6 66.8
100 - 2008 & 100.0 33.1 100.0 49.8 36.7 11.6 1.9 66.9
200 - 300G+& 100.0 30.7 100.0 44 .4 39.8 13.1 2.8 69.3
300 - 40092+t 100.0 37.1 100.0 44.8 38.7 14.2 2.3 62.9
400 - 60002+ 100.0 38.0 100.0 43.0 38.9 14.5 3.6 62.0
600 - 80093 100.0 54 .1 100.0 43.0 33.7 20.9 2.4 45.9
800 23 O & 100.0 51.5 100.0 50.9 26.0 211 2.0 48.5
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b} ball 100.0 29.2 68.3 2.5
< X 94 48 >

Al Xl g 100.0 29.2 67.0 3.8
= Xl > 100.0 29.2 68.9 2.0
< A =] >

= Xt 100.0 30.4 67.1 2.5
O Xt 100.0 28.0 69.5 2.5
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400 - 60002t 100.0 30.6 61.7 7.7
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60 - 69 Al 100.0 88.2 7.3 = 1.0 1.3 1.2 1.0
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100 - 20092+ & 100.0 67.0 23.5 1.9 0.7 4.0 2.3 0.6
200 - 30092+3& 100.0 54.3 34.0 0.3 0.6 4.2 4.8 1.7
300 - 40092t 100.0 46.7 39.7 0.5 0.4 4.5 8.1 =
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800 o-& O & 100.0 51.4 31.6 = 2.4 2.4 12.3 =
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2 ball 7.2 9.3 14.9 12.5 16.7

< X 94 48 >

Al Xl g 100.0 12.3 13.5 16.3 16.1 15,8 26.6
= Xl & 100.0 5.0 7.5 14.2 11.0 17.4 44.9
< A =] >

= Xt 100.0 7.4 8.9 16.2 13.2 17.6 36.7
O Xt 100.0 7.0 9.7 13.6 11.9 15.9 41.9
< ¢ g 4 >

15 - 29 Al 100.0 22.5 33.4 36.4 3.8 = 3.8
30 - 39 Al 100.0 26.4 16.2 21.0 14.5 11.0 10.9
40 - 49 Al 100.0 9.8 14.2 19.3 20.6 21.0 15.1
50 - 59 A 100.0 5.9 8.4 16.2 11.1 19.4 39.0
60 - 69 Al 100.0 3.0 3.6 7.6 8.1 11.1 66.6
70 - 79 Al 100.0 5.6 3.1 5.0 3.5 10.1 72.6
8 0 A ol &f 100.0 3.7 8.1 1.8 6.2 1.8 78.3
< & =& 4 >

S = 0l ot 100.0 3.6 5.2 7.6 6.4 141 63.0
ES = 100.0 7.8 9.9 13.7 10.5 16.6 41.3
) = 100.0 9.0 12.1 19.9 16.6 17.2 25.2
CH = 0l &f 100.0 9.5 10.8 19.8 18.6 211 20.2
<E QA HYE>

0l = 100.0 23.4 40.1 36.5 = = =
= il ? 100.0 7.1 9.2 15.4 13.2 17.5 37.6
At g 100.0 4.3 7.0 4.5 7.0 12.9 64.3
0l = 100.0 10.8 9.3 19.9 15.1 13.5 31.3
< H & & E Y>>

# A 100.0 6.4 8.7 15.5 13.4 17.7 38.2
0l F A 100.0 9.6 11.3 12.8 9.8 13.8 2.7
< 3 g ¢ >

& 2 / = 2 100.0 10.6 10.5 18.5 19.7 23.4 17.3
At 2 100.0 7.6 12.8 21.0 15.0 25.4 18.1
N Hl A/ B 0Y 100.0 6.3 9.1 19.4 18.4 15.0 31.7
= =) o el 100.0 2.7 5.8 11.5 9.3 15.1 55.6
o s /I A 100.0 12.8 11.4 211 16.2 17.0 21.5
@ = L 2 100.0 7.8 11.0 11.6 8.9 19.2 41.5
= ol 100.0 = 50.0 50.0 = = =
< & 5 g >

50 2 & ol ot 100.0 5.2 5.5 4.1 5.2 9.4 70.6
50 - 1008 & 100.0 5.8 6.8 8.5 8.8 15.0 55.7
100 - 2008 & 100.0 9.6 9.6 14.7 9.9 12.6 43.6
200 - 30083 100.0 5.7 8.8 22.5 17.6 20.5 24.9
300 - 40092+t 100.0 8.4 11.2 14.7 16.7 19.8 29.1
400 - 60002t 100.0 12.2 16.5 14.7 17 .1 18.7 20.8
600 - 80002+t 100.0 6.1 10.5 19.5 20.1 22.0 21.8
800 2+& O & 100.0 11.6 8.3 21.0 13.7 28.5 16.9
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< X 94 48 >

Al Xl g 100.0 34.2 11.8 9.8 15.4 21.3 6.4 1.0
= Xl & 100.0 35.7 10.4 9.1 13.0 22.7 7.9 1.1
< A =] >

= Xt 100.0 35.2 12.3 8.7 10.2 25.3 7.1 1.2
O Xt 100.0 35.1 9.5 10.1 17.6 19.1 7.5 0.9
< ¢ g 4 >

15 - 29 Al 100.0 31.5 10.5 1.7 18.0 21.4 6.1 0.8
30 - 39 Al 100.0 42.0 10.9 9.1 12.7 19.6 4.4 1.3
40 - 49 Al 100.0 30.2 10.7 9.4 13.6 29.3 5.3 1.4
50 - 59 A 100.0 32.4 11.3 9.4 14.7 23.0 8.5 0.8
60 - 69 Al 100.0 38.2 11.9 8.9 12.0 18.9 9.2 0.8
70 - 79 Al 100.0 38.8 10.9 6.8 10.9 20.4 11.0 1.2
8 0 A ol &f 100.0 42 .1 9.4 6.6 10.1 16.2 13.4 2.1
< & =& 4 >

S = 0l ot 100.0 39.7 10.6 7.5 1.7 18.4 10.8 1.2
= = 100.0 31.7 10.2 8.5 15.2 25.6 8.0 0.7
) = 100.0 34.1 1.1 10.1 14.7 22.7 6.4 0.9
CH = 0l &f 100.0 33.4 1.7 11.3 14.8 23.8 8.5 1.5
<E QA HYE>

0l = 100.0 29.7 11.3 12.3 17.7 21.7 6.4 0.7
= il ? 100.0 36.2 11.0 8.7 13.0 23.1 6.8 1.1
At g 100.0 39.8 9.6 7.4 11.4 18.5 11.6 1.6
0l = 100.0 37.8 10.5 7.6 13.1 21.0 8.7 1.2
< H & & E Y>>

# A 100.0 35.2 11.0 9.3 13.5 23.1 6.9 1.0
0l F A 100.0 &2 10.9 9.4 14.6 20.9 7.9 1.2
< 3 g ¢ >

& 2 / = 2 100.0 30.4 12.6 10.0 15.8 24.8 4.8 1.6
At 2 100.0 31.1 12.8 16.3 14.8 20.5 3.4 1.2
N Hl A/ B 0Y 100.0 34.1 10.1 8.9 16.6 241 5.8 0.6
= = o el 100.0 39.3 11.2 6.6 10.5 21.6 10.3 0.6
o s /I A 100.0 32.1 10.6 1.4 12.8 26.5 5.5 1.0
Er = L 2 100.0 40.3 7.5 7.1 14.8 21.5 7.1 1.6
= ol 100.0 26.5 = 34.7 = 38.8 = =
< & 5 g >

50 2 & ol ot 100.0 445 10.0 6.5 9.8 15.7 11.8 1.7
50 - 10092 & 100.0 40.3 10.1 7.8 10.3 19.7 10.7 1.2
100 - 2008 & 100.0 38.7 10.3 9.5 10.8 20.8 8.4 1.5
200 - 30083 100.0 32.0 13.0 8.9 11.6 28.8 4.2 1.4
300 - 40092+t 100.0 29.1 13.0 10.2 14.5 27.0 5.4 0.9
400 - 60002t 100.0 34.6 14.6 8.7 12.3 26.3 1.7 1.8
600 - 80002+t 100.0 29.4 14.0 11.5 8.5 29.6 3.6 3.4
800 2+& O & 100.0 31.8 10.4 4.8 11.8 32.1 9.1 =
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< X 94 ¢ >

Al Xl & 100.0 54.0 21.0 33.0 30.4 9.3 7.9 1.4 6.3
= Xl & 100.0 57.6 26.3 31.3 29.9 8.6 7.5 1.2 3.9
< A =] >

= N 100.0 57.6 25.4 32.2 28.7 8.7 7.4 1.3 5.0
(0] Xt 100.0 54.9 23.2 31.7 3.5 9.1 7.8 1.3 4.6
< o4 g 4 >

15 - 29 Al 100.0 38.5 14.5 24.0 39.6 12.9 11.2 1.7 9.0
30 - 39 Al 100.0 47.0 17.4 29.6 38.7 10.3 9.1 1.2 4.0
40 - 49 Al 100.0 51 .8 16.4 34.9 35.1 9.4 7.7 1.7 4.2
50 - 59 Al 100.0 61.1 25.6 &.5 26.9 8.6 7.5 1.1 3.5
60 - 69 Al 100.0 72.4 35.2 37.3 19.1 5.8 4.7 1.1 2.6
70 - 79 Al 100.0 76.6 42.4 34.2 15.5 4.5 4.0 0.6 3.8
8 0 A ol &t 100.0 82.8 50.7 32.2 10.2 2.5 2.2 0.3 4.5
< 8 38 4 >

= = ol ot 100.0 71.4 37.3 34.1 18.8 5.5 4.3 1.2 4.4
= = 100.0 49.0 21.8 27.2 32.4 11.0 10.0 1.0 7.6
) = 100.0 48.8 19.0 29.8 35.7 11.0 9.4 1.6 4.5
CH = ol & 100.0 52.8 17.0 35.8 34.9 8.7 7.6 1.0 3.6
<EQ A HY>

] =S 100.0 36.9 14.9 22.0 39.1 14.4 12.3 2.1 9.5
= il ? 100.0 61.5 25.7 35.8 28.4 6.9 6.0 0.8 3.3
Al S 100.0 74.3 39.7 34.6 16.7 5.0 4.0 1.0 4.1
0l =) 100.0 26.4 8.1 18.3 47 .6 23.4 19.3 4.1 2.6
<FH Y HMHE>

F fos! 100.0 57.8 23.8 34.0 30.8 8.2 7.2 0.9 3.2
] F fos! 100.0 53.9 24.9 29.0 29.0 9.9 8.2 1.7 7.2
< X o 4¢84 >

& 2/ = 2 100.0 56.8 19.4 37.4 32.0 7.9 7.3 0.6 3.8
Al 2 100.0 49.3 15.1 34.2 36.5 10.0 7.8 2.1 4.2
M odl A/ B OH 100.0 54.2 19.4 34.7 32.3 9.1 7.8 1.3 4.5
= = o A 100.0 66.2 32.9 33.2 24.5 7.1 6.6 0.6 2.2
o s /I A 100.0 52.5 20.4 32.1 37.1 6.6 6.2 0.5 3.7
Er = T £ 100.0 53.7 22.2 31.5 32.6 11.2 9.4 1.8 2.5
= ol 100.0 65.2 39.4 25.9 34.8 = = = =
< & 5 8 >

50 ¢ & o] ot 100.0 721 40.1 32.0 17.9 6.0 4.7 1.3 4.0
50 - 10092 & 100.0 68.4 34.3 34.1 21.8 6.2 4.9 1.2 3.6
100 - 20092+ & 100.0 55.7 24.9 30.8 31.5 9.2 8.0 1.2 3.6
200 - 30092+ 100.0 57.9 23.0 34.8 30.5 8.7 8.0 0.7 2.9
300 - 40022 100.0 61.8 22.7 39.1 27.7 6.6 5.4 1.1 3.9
400 - 600923 100.0 62.4 23.8 38.6 30.5 5.5 4.8 0.7 1.5
600 - 8002H& 100.0 65.9 21.9 44.0 24.5 5.1 3.7 1.3 4.6
800 2H& O & 100.0 57 .& 25.0 32.4 24.5 1.1 9.7 1.4 7.1
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< X 94 ¢ >

Al Xl & 100.0 16.4 1.6 14.8 48.5 19.1 12.8 6.4 15.9
= Xl CE 100.0 22.6 2.5 20.1 48.7 19.0 12.1 6.8 9.8
< A =] >

= N 100.0 23.0 2.7 20.3 49 1 15.6 9.6 5.9 12.4
(0] Xt 100.0 17.6 1.6 15.9 48.2 22.4 15.0 7.4 11.8
< o g 4 >

15 - 29 Al 100.0 14.6 1.6 13.1 56.4 10.5 6.3 4.2 18.6
30 - 39 Al 100.0 15.8 1.6 14.2 55.7 15.8 11.5 4.4 12.7
40 - 49 Al 100.0 18.9 1.5 17.4 52.6 18.6 13.7 5.0 9.9
50 - 59 Al 100.0 21.4 2.2 19.2 46.6 21.4 14.8 6.6 10.6
60 - 69 Al 100.0 26.5 2.5 24.0 40.2 24.8 13.9 10.8 8.5
70 - 79 A | 100.0 29.3 4.1 25.2 4.6 269 16.9 10.0 9.1
8 0 M O & | 100.0 25.1 4.3 20.8 4.6 297 15.3 14.4 10.6
< 8 38 4 >

= = ol ot 100.0 25.3 3.0 22.3 38.9 25.5 14.9 10.6 10.4
= = 100.0 18.2 2.6 15.6 48.8 17.3 11.4 5.9 15.6
i = 100.0 18.1 1.8 16.3 52.6 17.0 11.4 5.6 12.3
CH = ol & 100.0 18.5 1.3 17.2 55.2 15.0 11.2 3.8 11.3
<EQ A HY>

] =S 100.0 16.6 1.7 14.9 55.0 9.9 5.9 3.9 18.6
= il ? 100.0 21.2 2.2 18.9 47.8 20.7 13.8 6.9 10.3
Al S 100.0 23.0 3.0 20.0 38.5 28.5 17.0 11.5 10.0
0l =) 100.0 19.5 1.3 18.1 55.7 19.1 13.7 5.5 5.7
<FH Y HMHE>

F fos! 100.0 21.6 2.2 19.4 49 1 19.1 12.5 6.6 10.2
] F fos! 100.0 18.3 2.1 16.2 47.9 18.9 12.2 6.7 14.9
< X o 4¢84 >

& 2/ = 2 100.0 18.7 1.5 17.2 54.3 15.9 12.3 3.6 1.1
Al 2 100.0 18.3 1.7 16.6 54.7 15.7 10.3 5.4 11.4
M odl A/ B OH 100.0 17.0 1.3 15.8 53.0 19.0 14.0 5.0 11.0
= = o A 100.0 26.6 3.1 23.5 40.4 24.4 14.0 10.4 8.5
Ja s /I A 100.0 20.8 1.8 19.0 56.6 12.5 8.5 4.0 10.1
Er = T £ 100.0 22.3 2.9 19.3 46.1 20.2 13.2 7.0 11.5
= ol 100.0 25.3 - 25,8 52.4 8.9 8.9 = 13.4
< & 5 8 >

50 ¢ & o] ot 100.0 26.2 3.3 22.9 37.0 26.8 14.7 12.1 10.0
50 - 1002 & 100.0 26.7 3.8 22.9 41.4 22.8 14.3 8.5 9.1
100 - 20092+ & 100.0 22.7 1.9 20.7 49.8 15.6 10.1 5.6 11.9
200 - 30092+ 100.0 19.8 1.9 17.8 51.3 17.7 12.3 5.5 11.2
300 - 40022 100.0 21.8 1.5 20.3 50.4 17.7 11.4 6.3 10.2
400 - 600923 100.0 20.6 1.8 18.8 56.9 14.4 10.7 3.7 8.1
600 - 8002H& 100.0 21.0 3.8 17.2 57.7 7.4 5.0 2.4 13.9
800 9ot& O & 100.0 25.4 2.2 23.2 48.4 13.5 8.7 4.8 12.8




Q. =20 M DIEL (s w =24y, sy yalay)

< X 9 g >

Al Xl <] 100.0 6.4 19.8 52.2 15.3 6.3 100.0 6.3 18.3 51.3 16.2 6.1 1.9
= Xl < 100.0 4.8 18.3 50.4 19.5 7.1 100.0 5.7 19.4 42.5 20.4 7.6 4.3
< A =] >

= Xk 100.0 6.2 19.7 50.8 17.0 6.2 100.0 6.7 20.0 45.2 18.2 6.7 3.2
(0] Xt 100.0 4.1 17.3 51.8 19.7 7.7 100.0 4.6 17.6  45.9 20.1 7.8 3.9
< o g 4 >

15 - 29 Al 100.0 5.3 20.8 52.9 16.5 4.5 100.0 5.2 17.8 53.6 19.0 SRS 1.1
30 - 39 Al 100.0 7.0 21.6 52.3 14.6 4.6 100.0 7.9 25.1 46.8 14.6 4.2 .

40 - 49 Al 100.0 4.6 21.7 52.0 15.9 5.7 100.0 6.4 22.4 47.7 15.4 5.6 2.4
50 - 59 Al 100.0 5.8 17.0 51.8 17.5 8.0 100.0 7.0 17.4  42.2 20.7 8.3 4.4
60 - 69 Al 100.0 4.3 13.9 49.6 23.2 9.0 100.0 3.4 12.3 43.5 23.7 1.1 6.1
70 - 79 Ml 100.0 4.3 13.9 44.0 26.2 11.6  100.0 2.3 13.3 37.7 26.2 12.8 7.8
8 0 A ol & 100.0 4.3 15.5 43.5 28.3 8.4 100.0 4.2 13.9 34.7 24.9 13.2 9.1
< 8 # 4 >

= = (o] of 100.0 4.0 12.0 48.0 25.0 10.9  100.0 3.3 12.8 39.6 25.7 11.9 6.7
= = 100.0 3.3 14.3 49.2 22.2 11.0  100.0 3.0 13.6 41.9 23.5 13.1 4.9
i = 100.0 6.1 18.5 53.7 16.3 5.4 100.0 6.4 18.2 49.5 18.5 4.9 2.5
CH = (o] & 100.0 6.5 26.6 51.3 12.5 3.1 100.0 8.7 27.5 47.6 12.0 3.0 1.3
<Es o AHY>

0] =S 100.0 6.6 21.2 50.1 16.9 5.2 100.0 5.8 20.6 47.7 20.0 4.0 2.0
= il ? 100.0 5.3 19.1 51.5 17.4 6.7 100.0 6.1 19.6 45.5 18.1 7.1 3.5
Al S 100.0 2.9 14.7 46.9 24.9 10.6 100.0 3.2 13.4 39.2 25.2 12.1 7.1
0l =) 100.0 6.0 10.4 52.2 22.7 8.6 100.0 5.9 13.4 48.0 19.3 10.0 3.4
< X g 4 >

& 2 / &2 2 100.0 7.7 26.2 52.5 10.6 3.0 100.0 10.5 29.7 46.6 9.1 3.0 1.0
Al £ 100.0 54 29.5 50.9 10.8 3.4 100.0 7.2 30.3 48.7 10.3 2.6 0.9
A Hl A/ E DY 100.0 50 17.9 57.2 15.9 41 100.0 5.7 14.0 55.2 17.5 4.5 3.0
=4 = ;] 2] 100.0 4.2 13.2 48.0 23.4 1.1 100.0 3.8 15.5 37.3 2588 11.2 7.4
Ja s /I A 100.0 6.5 20.8 52.1 15.5 5.0 100.0 6.7 18.3 52.6 17.5 3.8 1.1
Er = s 2 100.0 3.6 10.1 47.2 29.1 10.0  100.0 3.5 7.5 42.7 29.9 14.4 2.0
@z ol 100.0 8.9 60.1 31.0 = - 100.0 8.9 77.8 13.4 = = =
< & 5 g >

50 ¢ & o] ot 100.0 2.8 13.7 49.0 23.6 10.8 100.0 1.8 11.7 39.2 25.6 12.5 9.2
50 - 1002t & 100.0 5.6 14.1 44.0 25.7 10.5  100.0 48 11.9 37.6 25.1 13.7 6.8
100 - 2002+ & 100.0 4.3 13.3 51.7 21.0 9.7 100.0 5.7 16.2 45.1 19.5 10.2 3.4
200 - 30092+t 100.0 3.7 18.4 54.6 17.4 6.0 100.0 5.8 18.9 51.7 16.4 5.9 1.6
300 - 40092t 100.0 6.2 25.2 54.1 10.9 3.6 100.0 6.6 28.2 48.7 11.2 B 1.9
400 - 6002+ 100.0 11.6 36.4 44.1 6.6 1.3 100.0 13.8 34.1 37.9 10.6 1.5 2.1
600 - 8002+& 100.0 18.4 37.3 39.4 3.7 1.2 100.0 22.2 32.3 33.5 9.2 = 2.9
800 9+& O & 100.0 9.7 25.4 45.3 13.8 5.9 100.0 10.0 22.2 48.1 17.6 = 2.1
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< XN 9 g >

Al Xl = | 100.0 10.4 32.1 46.6 5.6 2.2 3.1 100.0 8.3 17.1 50.3 17.1 7.1
= Xl = | 100.0 2.3 28.8 41.7 7.9 1.4 7.9 100.0 8.0 21.9 47.9 16.4 5.8
< A =] >

= X+ | 100.0 11.6 29.8 44.7 6.8 1.4 5.8 100.0 8.3 20.3 48.6 16.4 6.3
(0] Xt | 100.0 1.7 30.1 41.4 7.6 2.1 7.0 100.0 7.8 20.2 48.9 16.9 6.1
< ¢ g g >

15 - 29 Al | 100.0 5.6 32.7 44.0 5.4 1.0 1.3 100.0 9.4 16.2 52.3 15.9 6.2
30 - 39 Al 100.0 13.6 35.0 41.6 6.6 1.5 1.6 100.0 9.8 22.2 46.7 15,8 5.8
40 - 49 Al 100.0 11.8 30.7 47.3 5.4 1.7 3.1 100.0 7.4 23.0 49.4 15.2 5.0
50 - 59 Al 100.0 1.1 27.4 43.8 6.9 1.6 9.3 100.0 7.8 19.2 50.5 16.8 5.7
60 - 69 Al 100.0 8.7 25.2 42.3 9.3 2.0 12.5 100.0 7.1 20.1 46.5 19.1 7.1
70 - 79 Al 100.0 9.1 27.5 35.2 11.3 2.6 14.4  100.0 7.4 16.8 47.2 18.4 10.2
8 0 A 0l & ] 100.0 5.0 23.2 39.8 16.1 3.1 12.7 100.0 7.1 15.1 42.4 25.2 10.1
< & ¥ 498 >

= = ol ot | 100.0 8.7 25.6  40.8 10.1 2.3 12.5 100.0 7.1 18.1 47.6 19.0 8.2
= Z | 100.0 9.8 29.1 40.5 7.5 2.9 10.2  100.0 4.4 18.7 47.7 21.1 8.1
) = | 100.0 12.1 28.3 47.4 7.3 0.9 4.1 100.0 7.8 18.3 51.1 17.5 5.3
CH = Ol &b 1 100.0 14.5 35.6 42.3 4.3 1.4 2.0 100.0 10.9 24.9 47.6 1.7 5.0
< E QO A H ¥ >

ol & | 100.0 18.9 34.4 42.2 6.4 1.0 2.1 100.0 8.8 19.8 51.1 15.7 4.6
= HH < | 100.0 11.3  29.5 43.8 7.0 1.7 6.6 100.0 8.2 21.2 48.0 16.5 6.2
At 2 1 100.0 10.4 276 36.8 10.9 2.4 11,9 100.0 6.2 14.3 50.6 18.9 10.0
Ol = | 100.0 1.7 24.4  51.0 5.2 1.9 5.9 100.0 7.8 15.2 50.9 19.2 6.9
< & g g >

& 2 / 2 2/ ] 100.0 14.8 35.6 42.1 3.5 1.2 2.9 100.0 13.0 25.4 46.5 1.7 3.4
At £ | 100.0 2.8 39.3 42.4 3.3 1.7 0.4 100.0 10.7 30.1 45.8 10.2 3.2
N Bl A / E OH | 100.0 1.8 29.3 47.3 5.3 1.1 4.9 100.0 6.1 18.2 52.8 16.0 6.9
= =) o 2 | 100.0 9.2 244 39.8 11.4 2.2 13.0 100.0 6.8 17.8 48.2 18.7 8.4
Jaos /I A 100.0 14.8 31.4 46.4 5.1 0.9 1.3 100.0 7.8 15.5 52.9 17.6 6.3
Er = L £ | 100.0 8.4 26.1 48.3 8.9 2.8 5.4 100.0 4.6 17.2 46.5 25.6 6.2
= ol 100.0 17.7 68.9 13.4 = = - 100.0 8.9 60.6 22.2 = 8.3
< & 5 g >

50 2t & 0l S ] 100.0 6.2 29.0 36.6 12.1 1.6 14.5 100.0 8.0 15.8 50.5 18.4 7.3
50 - 10023 100.0 11.5 24.7 37.5 10.7 2.3 13.3  100.0 8.5 19.4 43.3 19.9 8.8
100 - 2002+& 100.0 11.0 27.8 45.5 7.5 1.3 6.8 100.0 59 16.8 48.8 19.5 9.1
200 - 30092+ 100.0 11.9 29.7 48.7 4.7 1.6 3.3 100.0 6.8 19.4 52.5 15,8 6.1
300 - 400093 100.0 10.4 36.0 42.6 6.2 1.5 3.3 100.0 9.0 24.6 48.2 14.0 4.2
400 - 60003 100.0 17.6 39.0 36.6 3.0 1.4 2.4 100.0 14.5 31.1 38.8 10.5 5.1
600 - 80083 100.0 25.9 33.1 34.7 3.5 = 2.9 100.0 21.4 27.3 38.5 6.4 6.4
800 ©+& O & [ 100.0 14.6 31.4 40.4 7.6 1.3 4.7 100.0 14.1 22.0 38.4 18.3 7.2
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< X 9 48 >

Al Xl g 100.0 17.6 16.0 15,8 20.0 14.2 14.8 2.0
= Xl g 100.0 15.9 14.8 13.8 19.3 18.3 15.7 2.2
< A =] >

= Xt 100.0 17.6 13.3 14.5 19.7 16.0 17.1 1.8
O Xt 100.0 15.6 17.1 14.3 19.4 17.5 13.7 2.4
< ¢ g g >

15 - 29 | 100.0 21.3 15.7 10.9 26.9 12.4 11.4 1.3
30 - 39 Al 100.0 19.3 16.0 15,8 14 .1 16.7 17.0 1.7
40 - 49 Al 100.0 17.0 14.6 15.0 18.6 14.8 18.3 1.7
50 - 59 Al 100.0 14.8 15.1 14.2 21.0 18.0 15.2 1.7
60 - 69 A 100.0 13.3 15.7 16.9 18.6 17.7 15.5 2.4
70 - 79 Al 100.0 11.8 13.7 16.5 16.3 23.2 15.7 2.9
8 0 Al 0l & 100.0 9.3 15.8 14.2 12.4 24.4 15.9 8.1
< & 8 4 >

S = 0l ot 100.0 1.7 15.2 16.5 16.8 21.7 14.8 3.2
= e 100.0 15.4 141 15.5 23.7 16.9 13.4 1.1
) = 100.0 16.4 17.3 14.8 20.5 14.1 15.1 1.9
CH £ 0 & 100.0 24.0 13.3 10.4 18.7 14.0 17.9 1.7
<E QA HYE>

0l = 100.0 21.6 14.2 11.4 26.1 12.1 13.2 1.5
= alil ? 100.0 16.3 18,8 15.0 18.2 17.2 16.1 1.8
Al 4 100.0 9.1 16.2 16.5 15.0 23.3 15.0 4.9
0l = 100.0 1.7 14.6 18.7 15.5 19.1 18.5 1.8
< H Y A EHE Y>>

% o 100.0 16.0 14.5 14.4 18.2 17.7 17.5 1.6
i = o 100.0 17.3 16.3 14.4 21.6 15.4 12.2 2.8
< 73 g ¢ >

& 2 / &2 2 100.0 21.2 10.8 14.5 20.2 13.8 17.7 1.8
At 2 100.0 23.7 12.7 9.1 18.4 15.7 18.9 1.5
N Hl A/ = 0y 100.0 14.5 16.5 14.9 18.3 16.7 17.5 1.7
= ¥ o sl 100.0 12.0 15.8 14.2 19.9 20.0 16.6 1.4
a s / 21 A 100.0 19.0 12.6 13.5 14.6 17.0 22.6 0.8
Er = T £ 100.0 10.8 18.2 21.4 13.5 21.1 12.0 3.0
= ol 100.0 17.7 8.3 8.9 13.3 34.2 17.7 =
< & 5 g >

50 2 & ol ot 100.0 10.0 14.8 16.9 15.3 22.0 15.1 5.9
50 - 1000t 3& 100.0 13.0 17.1 15.9 17.5 22.2 12.6 1.8
100 - 20092+ & 100.0 16.8 14.9 16.5 15.2 16.6 18.2 1.9
200 - 30092+3& 100.0 15.5 14.6 13.9 16.5 17.6 20.4 1.5
300 - 40092t 100.0 19.9 11.1 14.9 21.3 15.2 15.4 2.2
400 - 6002+t 100.0 22.2 8.6 11.6 20.8 13.1 22.5 1.2
600 - 80023 100.0 19.2 1.7 7.2 20.0 11.2 30.8 =
800 o-& O & 100.0 11.5 13.7 7.8 23.2 11.2 32.6 =
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(9 : %)
A (o PR G0l cHst o4 FPu sS4 A [0; PRl
Qo4 £ ANSIHE EHA S80I st xtg SO0t JLALR &

< X 9 48 >
Al Xl < 100.0 7.2 14.6 11.1 4.7 44.0 18.0 0.5
= Xl < 100.0 6.8 15,8 9.1 4.7 44 .5 18.9 0.8
< A =] >
= Xk 100.0 7.4 17.1 9.8 4.7 43.7 16.8 0.7
(0] Xk 100.0 6.5 13.0 9.9 4.7 44.9 20.3 0.7
< g9 g8 g >
15 - 29 | 100.0 7.0 19.8 14.5 3.4 41.3 13.7 0.3
30 - 39 Al 100.0 5.6 12.8 7.1 3.5 54.6 15.9 0.7
40 - 49 Al 100.0 7.2 15.1 11.0 5.8 41 1 19.8 0.6
50 - 59 Al 100.0 7.1 14.8 9.7 5.8 41.6 20.8 0.6
60 - 69 Al 100.0 7.8 13.6 7.7 5.6 44 1 20.5 0.8
70 - 79 | 100.0 6.4 13.2 6.9 5.6 447 22.4 0.8
8 0 A ol & 100.0 8.2 9.3 5.9 5.1 45.2 23.3 3.1
< 8 3 4 >
S = 0l ot 100.0 6.8 13.9 7.0 5.6 44 .2 21.5 1.1
=S = 100.0 7.4 16.8 12.3 4.8 39.0 19.0 0.7
i = 100.0 6.6 15.8 10.8 4.6 43.9 17.7 0.5
CH = ol & 100.0 7.2 14.0 10.2 3.5 48.9 15.6 0.4
<E QA HYE>
0l =S 100.0 7.5 20.8 141 4.0 39.2 14.0 0.4
= alil ? 100.0 6.9 13.2 8.8 4.7 46.4 19.3 0.6
Al ) 100.0 5.9 13.2 7.1 5.4 44 1 22.7 1.6
Ol =) 100.0 7.4 14.7 8.6 6.2 41.0 21.4 0.7
<H G A HE>
F 2] 100.0 6.7 15.1 9.8 4.7 44 .3 19.0 0.5
0l F 2] 100.0 7.2 15.0 9.9 4.7 44 .3 17.9 1.0
< X g 4¢84 >
& 2 / &2 2 100.0 8.5 13.8 11.0 3.5 46.1 16.6 0.5
Al 2 100.0 7.7 13.6 11.2 3.7 47.5 16.1 0.2
N Bl A/ B OH 100.0 7.4 14.0 11.3 4.2 44.0 18.5 0.5
= =) o & 100.0 5.8 15.7 8.3 5.7 42.6 21.7 0.3
Ja s /I A 100.0 6.5 19.4 9.5 3.5 43.4 17.3 0.5
Er = T £ 100.0 5.8 13.1 8.4 6.8 45.0 19.7 1.2
= ol 100.0 = 13.4 8.3 8.9 34.7 34.8 =
< & 5 g >
50 ¢ & 0| ot 100.0 7.5 13.7 7.2 5.9 44 .4 19.6 1.7
50 - 10092t & 100.0 5.6 16.1 8.5 6.7 41.5 20.6 0.9
100 - 2002+ & 100.0 6.3 14.0 8.2 4.8 47 1 18.7 0.9
200 - 30092+ 100.0 6.5 14.3 8.7 4.1 47.7 18.2 0.6
300 - 40092t 100.0 9.2 16.6 13.1 4.8 38.8 17.4 0.2
400 - 6002+t 100.0 9.1 14.8 10.9 4.2 47 .6 13.2 0.4
600 - 80002+t 100.0 9.4 18.3 13.2 0.6 39.0 19.5 =
800 ot& O & 100.0 5.6 18.2 2.1 6.1 50.9 17.1 =




50~1002H&  100~2002HR  200~3008t3 300~4002H3 400~6002H& 600~B00BHR =~ 800RHA

0| gt 0| gt 0Igt olgt olgt 0| &

b} ball 100.0 18.6 16.7 22.7 18.4 12.6 7.1 2.0 1.8
< X 9 g >

Al Xl < 100.0 11.9 10.5 20.9 23.6 17 .1 1.1 3.2 1.7
= Xl C 100.0 22.2 20.1 23.7 15.6 10.2 4.9 1.3 1.9
< A =] >

= N 100.0 10.1 14.4 24.5 22.4 15.2 8.7 2.4 2.3
(0] N 100.0 42.0 23.1 17.6 7.5 5.6 2.8 0.8 0.7
< o g 4 >

15 - 29 Al 100.0 17.5 9.6 33.1 23.1 8.3 7.8 = 0.7
30 - 39 Al 100.0 2.2 4.9 27.5 30.9 19.0 11.4 2.4 1.7
40 - 49 Al 100.0 3.0 6.9 21.6 24.7 23.7 13.9 8.5 2.6
50 - 59 Al 100.0 8.6 13.9 25.1 22.0 16.0 7.2 8.8 3.8
60 - 69 Al 100.0 22.4 29.8 26.3 12.6 4.5 2.1 1.1 1.1
70 - 79 Al 100.0 46.2 31.4 15.0 41 1.8 0.8 0.2 0.4
8 0 A 0l &t 100.0 69.6 23.2 4.5 0.8 1.0 1.0 = =
< & # g >

= = ol ot 100.0 42.9 30.2 16.2 6.5 2.1 0.9 0.6 0.6
= = 100.0 12.9 21.7 34.7 17.7 8.3 2.3 0.6 1.7
) = 100.0 7.1 10.7 27.3 25.7 17.2 8.1 2.0 1.9
CH = Ol &l 100.0 2.0 2.4 19.4 26.5 24.2 17.3 4.6 3.6
<EQ AEHY>

] =) 100.0 18.7 10.5 36.5 21.9 6.5 4.3 0.3 1.3
= i} ? 100.0 7.4 13.8 23.5 22.6 17.5 9.9 2.8 2.4
Al S 100.0 56.3 26.2 11.2 3.7 1.4 0.7 0.2 0.4
ol = 100.0 13.0 27.7 33.4 16.8 5.7 0.9 1.8 0.8
<HY A HE>

F ol 100.0 5.8 15.3 25.8 23.2 15.9 9.2 2.5 2.3
] F A 100.0 56.0 20.8 13.6 4.6 3.2 1.0 0.4 0.4
< & o g >

& 2 / &2 2 100.0 1.6 2.9 17.8 25.3 25.1 17.0 6.1 4.2
Al 2 100.0 1.0 3.4 18.3 30.1 21.4 18.1 3.7 3.9
N Bl A / B Of 100.0 2.0 10.4 30.9 24.9 21.4 7.2 1.0 2.1
= = o & 100.0 13.4 31.9 29.4 14.5 5.6 2.3 1.1 1.9
Ja s /I A 100.0 0.7 3.6 21.5 34.1 21.3 14.8 2.7 1.4
Er = = £ 100.0 7.0 24 1 40.0 20.1 7.2 0.9 0.3 0.4
= ol 100.0 = = 10.2 30.6 59.1 = = =

100 | ey d 7MY
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(2 %)
50~1002H2! | 100~2008H2  200~3002H2! 300~4008H2! 400~6008+R  600~B008HR  800BHR!
0| gt 0| gt 0l gk oler olgt 0| &

< X 9 48 >
Al Xl < 100.0 16.5 20.2 30.0 18.3 10.8 2.7 0.8 0.7
= Xl < 100.0 30.4 27 .1 24.5 10.9 4.0 2.0 0.6 0.6
< A =] >
= Xk 100.0 15.3 25.3 30.9 16.7 7.6 2.8 0.8 0.7
(0] Xk 100.0 5.5 22.8 14.2 4.8 3.1 0.8 0.3 0.5
< g9 g8 g >
15 - 29 | 100.0 20.7 30.8 34.3 11.2 1.2 = = 1.9
30 - 39 Al 100.0 3.6 17.7 45.0 20.3 9.1 3.5 0.7 =
40 - 49 Al 100.0 6.1 18.5 30.8 24.2 14.1 4.3 1.2 0.9
50 - 59 Al 100.0 13.1 24.0 32.4 16.6 8.2 3.4 1.2 1.1
60 - 69 Al 100.0 34.9 35.2 20.3 6.5 1.7 0.7 0.2 0.4
70 - 79 Ml 100.0 60.6 29.4 7.4 1.7 0.4 0.1 0.1 0.3
8 0 A ol &t 100.0 79.8 17.6 2.2 = 0.4 = = =
< 8 3 4 >
S = 0l ot 100.0 56.6 27.6 11.6 2.4 1.0 0.2 0.2 0.4
=S = 100.0 20.5 38.1 27.3 9.8 2.5 0.4 0.6 0.7
i = 100.0 10.4 23.5 BB 19.2 8.1 2.7 0.3 0.4
CH = ol & 100.0 3.2 14.6 35.4 24 1 14.2 5.6 1.8 1.2
<E QA HYE>
0l =S 100.0 23.2 36.5 30.3 5.6 1.9 1.4 0.3 0.8
= alil ? 100.0 12.0 23.7 31.9 18.6 9.1 3.1 0.9 0.7
Al ) 100.0 70.7 20.5 6.2 1.4 0.7 = 0.2 0.2
Ol =) 100.0 22.9 33.3 29.5 9.4 2.4 1.3 = 1.2
<H G A HE>
F 2] 100.0 12.9 25.7 31.8 16.7 8.3 2.9 0 0.8
0l F 2] 100.0 62.0 21.6 10.8 4.1 0.9 0.3 = 0.3
< X g 4¢84 >
& 2 / &2 2 100.0 2.3 13.4 35.1 24.4 15.6 5.8 1.8 1.6
Al 2 100.0 3.1 18.7 34.1 22.3 14.0 5.1 1.4 1.2
N Bl A/ B OH 100.0 6.0 26.2 35.8 19.6 8.2 3.0 0.7 0.6
= =) o & 100.0 27.9 37.9 22.3 7.3 2.8 0.9 0.5 0.4
Ja s /I A 100.0 3.4 15.4 41 1 24.4 10.7 3.7 0.8 0.6
Er = T £ 100.0 19.7 34.4 35.0 8.8 1.8 = = 0.3
= ol 100.0 10.2 9.5 20.5 50.2 9.5 = = =
< & 5 g >
50 ¢ & 0| ot 100.0 93.4 5.5 0.8 0.2 = = = 0.1
50 - 10092t & 100.0 37.2 58.2 3.5 0.4 0.2 = = 0.5
100 - 2002+ & 100.0 6.4 45.3 45.2 2.5 0.3 0.2 = 0.1
200 - 30092+ 100.0 1.4 14.7 55.0 26.5 1.6 0.4 0.1 0.1
300 - 40092t 100.0 1.2 4.7 31.4 42.2 17.2 1.8 1.0 0.4
400 - 6002+t 100.0 0.2 3.5 13.9 28.3 40.7 13.2 0.3 =
600 - 80002+t 100.0 = 2.8 5.2 14.2 31.7 34.8 9.5 1.7
800 ot& O & 100.0 = 1.1 12.5 17.6 16.7 14.5 16.0 21.7
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Alg EHI FAHUl nSH| LA 22A

(AMH Z8) (AU L M) (|54 Z#) =l O|2Hl (ARSH Z#)
13.7 14.9 9.8

< X 9 48 >

Al Xl g 100.0 28.4 17.4 10.7 7.7 2.1 11.6 18.7 1.7 1.9
= Xl g 100.0 25.1 1.7 17 .1 10.9 1.6 18.6 11.3 0.9 2.8
< A =] >

= Xt 100.0 26.7 13.4 15.7 9.2 1.7 13.2 16.5 1.2 2.5
O Xt 100.0 25.0 14.5 12.6 11.4 2.0 24.2 6.7 1.1 2.4
< ¢ g g >

15 - 29 | 100.0 32.8 19.9 22.0 5.0 6.1 0.7 7.2 5.7 0.7
30 - 39 Al 100.0 30.9 18.4 12.9 7.1 2.0 4.4 21.3 2.0 1.2
40 - 49 Al 100.0 27 .1 13.1 13.4 7.0 2.3 4.7 29.7 1.3 1.4
50 - 59 Al 100.0 25.0 14.0 17.2 9.6 1.6 11.9 17.0 0.8 2.9
60 - 69 | 100.0 23.9 12.8 15.5 13.0 1.0 26.2 2.7 0.5 4.5
70 - 79 | 100.0 23.5 9.6 12.8 13.4 0.6 35.6 0.9 0.1 8.3
8 0 A ol & 100.0 22.4 9.4 12.9 13.9 0.2 38.5 0.6 0.1 1.9
< & 8 4 >

S = 0l ot 100.0 23.9 11.3 14.5 12.8 0.4 31.2 2.3 0.2 3.4
= = 100.0 25.3 15.4 15.5 12.2 2.0 16.2 9.8 0.4 3.2
) = 100.0 28.7 14.5 14.8 8.6 2.2 7.6 20.3 1.5 1.9
CH = 0l & 100.0 26.9 15.1 15.1 5.8 2.9 5.6 24.5 2.6 1.5
<E QA HYE>

0l = 198.8 60.2 39.4 46.6 11.2 9.6 10.0 8.0 12.5 1.3
= alil ? 199.1 52.5 25.7 28.3 18.7 3.4 26.3 37.3 1.5 5.3
Al 4 198.7 45.9 24.5 26.2 26.6 1.1 63.4 4.8 0.4 5.7
Ol = 197.6 59.2 35.6 28.5 16.3 2.6 21.3 28.7 2.5 3.0
< H Y A EHE Y>>

F A 100.0 25.6 13.6 15.8 9.4 2.0 12.5 17 .1 1.3 2.6
0l F A 100.0 27.9 13.7 12.2 11.0 1.0 26.7 4.5 0.8 2.2
< X g 4¢84 >

& 2 / &2 2 100.0 27 .4 14.2 16.1 5.9 2.4 7.2 23.5 1.6 1.8
At 2 100.0 27.2 12.5 12.2 8.4 5.1 4.2 26.7 2.6 1.0
N Bl A/ B OH 100.0 27.7 17.6 12.7 8.9 2.2 8.9 18.4 2.1 1.5
= =) o & 100.0 20.5 9.3 19.1 12.9 1.0 24.6 7.7 0.1 4.7
a s / 21 A 100.0 29.0 17.1 15.5 6.2 2.1 2.7 23.8 2.1 1.5
Er = T £ 100.0 29.5 18.2 1.7 11.3 1.6 12.1 12.8 1.0 1.8
= ol 100.0 40.1 = 5.1 20.0 = = 34.7 = =
< & 5 g >

50 2 & ol ot 100.0 245 12.0 14.2 11.6 0.7 31.9 1.8 0.4 2.9
50 - 1000t 3& 100.0 24.9 13.7 14.6 11.5 0.8 26.4 4.4 0.3 8.8
100 - 20092+ & 100.0 26.8 15.6 15.5 10.7 1.9 13.4 12.1 1.7 2.4
200 - 30092+3& 100.0 29.0 15.9 15.1 8.5 2.2 7.5 18.5 1.2 2.3
300 - 40092t 100.0 26.8 12.2 14.5 9.1 2.6 5.8 26.5 1.6 1.4
400 - 6002+t 100.0 26.9 10.8 13.5 5.6 3.2 5.8 30.0 2.1 2.5
600 - 80023 100.0 20.6 8.6 17.6 6.1 2.6 6.3 33.4 2.8 1.8
800 o-& O & 100.0 20.2 11.4 18.9 4.5 1.9 11.1 27.7 2.0 2.3
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< X 9 g >
Al Xl = 1 100.0 7.5 18.7 56.6 13.3 4.0 100.0 7.8 22.3 49.4 15.0 5.5
= 1 100.0 2.8 13.0 53.5 21.0 9.8 100.0 4.3 17.1 47 1 20.6 10.9

g X+ | 100.0 4.6 156.5  52.9 19.0 7.9 100.0 5.7 19.3 47.7 18.9 8.4
O X+ | 100.0 3.9 13.5 59.2 16.2 7.3 100.0 5.0 7.8 48.5 18.1 10.7

15 - 29 Ml | 100.0 6.8 5.8 54.4 15.7 7.3 100.0 7.3 19.0  51.3 15.3 7.1
30 - 39 Ml | 100.0 4.6 8.6 54.8 17.3 4.6 100.0 6.1 25.9  50.2 14.1 3.8
40 - 49 Al ] 100.0 4.3 7.6 50.1 19.3 8.7 100.0 7.1 26.2  50.0 12.3 4.4
50 - 59 Al ] 100.0 4.0 14.4  53.7 19.3 8.7 100.0 7.6 23.3  50.8 14.5 3.9
60 - 69 Al | 100.0 4.0 126 549 20.2 8.4 100.0 8.1 26.7  50.7 11.8 2.7
70 - 79 Al | 100.0 4.3 2.1 59.6 16.6 7.4 100.0 8.5 22.0 53.8 12.1 3.6

8 0 A 0l & | 100.0 5.1 1.6 59.7 15.0 8.6 100.0 9.3 20.0 54.3 10.3 6.1

< & =& 4 >

= & 0l ot | 100.0 4.0 11.6  58.5 17.7 8.2 100.0 5.6 16.5 48.1 19.8 10.0
= Z | 100.0 4.5 1.7  54.9 20.5 8.3 100.0 6.5 16.2 51.1 19.1 7.1
il Z | 100.0 4.0 16.4 53.6 18.0 7.9 100.0 4.8 21.1 47.9 16.7 9.6
CH = 0l A& ] 100.0 5.5 19.7  49.9 18.2 6.6 100.0 5.8 21.0 45.8 19.3 8.1
< E QO A E} Y >

0] = | 100.0 4.9 15.5 56.6 17.0 6.0 100.0 6.5 14.2 50.1 16.7 12.5
= i} < | 100.0 4.6 15.7 52.4 19.0 8.3 100.0 5.7 20.6 46.8 18.4 8.5
Al = | 100.0 41 11.9 60.5 16.2 7.3 100.0 5.8 16.5 48.9 19.7 9.6
0l = | 100.0 3.0 15.9 55.6 19.1 6.3 100.0 2.3 14.5 54.0 21.5 7.7
<FH S H4HYE>

F A | 100.0 4.2 15.3 52.8 19.7 7.9 100.0 5.2 19.2 47.8 19.1 8.7
0l F A | 100.0 B, 1 13.8 59.7 14 .1 7.2 100.0 6.5 18.0 48.2 17.3 10.0
< X o 4¢84 >

& 2 / & 2/ |100.0 5.2 21.2 51.0 16.5 6.1 100.0 6.6 22.4 44 1 16.8 10.1
At £ | 100.0 3.9 18.6  48.8 19.3 9.4 100.0 3.0 20.9 47.8 19.4 8.9
N Bl A/ B OH | 100.0 5.7 18.5 54.6 15,5 5.8 100.0 5,5 22.5 47 .4 16.8 7.8
= =) o & | 100.0 2.7 9.3 51.7 24.4 11.9  100.0 4.7 14.5 47.3 22.7 10.8
J s / 21 A [ 100.0 6.0 16.6 53.8 18.9 4.7 100.0 5.9 20.7 49.6 18.6 5.2
Er = T £ 1 100.0 2.7 14.3 60.3 17.6 5.1 100.0 4.4 20.0 54.6 15.4 5.6
= o1 1100.0 = 19.8 70.1 10.1 - 100.0 = 19.8 70.0 10.2 =
< & 5 € >

50 2 & 0l ok ] 100.0 4.4 1.7 60.6 16.4 6.9 100.0 5.7 15.8 47.6 20.4 10.5

50 - 100 & ]100.0 3.9 13.3 55.4 19.0 8.4 100.0 6.8 18.4  47.9 17.6 9.4
100 - 20082t & | 100.0 4.0 13.9  54.0 19.8 8.2 100.0 5.2 7.0  48.3 20.1 9.4
200 - 30083 |100.0 3.7 5.2 56.1 17.9 7.2 100.0 4.9 7.4  51.0 19.4 7.4
300 - 40082 |100.0 6.1 18.8  51.1 18.2 5.8 100.0 5.4 25.2 467 16.0 6.6
400 - 600822 |100.0 18.5 47.2 18.5 9.7 100.0 5.7 25.0 427 17.6 9.0
600 - 80082 & |100.0 23.1 444  20.3 6.9 100.0 4.1 21.8 491 13.0 12.0
800 @& 0l & |100.0 25.9 40.9 13.2 7.7 100.0 3.7 22.7 433 13.5 16.9

n o1 O
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< X 9 g >
Al Xl < 100.0 9.5 25.9 49 .1 12.7 2.9 100.0 5.8 18.5 46.7 23.2 5.8
CE 100.0 6.5 23.4 52.3 13.1 4.7 100.0 2.8 11.5 40.9 32.6 12.2

= Xt 100.0 7.9 252 50.3 12.7 3.9 100.0 4.1 14.7 42.5 29.0 9.6
O Xt 100.0 6.7 21.6 53.6 13.5 4.6 100.0 3.1 12.0 44 1 30.0 10.8
< ¢ g g >

15 - 29 Al 100.0 7.3 19.0 51.3 15,8 71 100.0 6.4 11.3 45.3 27.7 9.4
30 - 39 Al 100.0 6.1 25.9 50.2 14 1 3.8 100.0 4.5 17.0 1.7 28.0 8.9
40 - 49 Al 100.0 7.1 26.2  50.0 12.3 4.4 100.0 3.7 15.4 43.7 27.0 10.3
50 - 59 Al 100.0 7.6 23.3 50.8 14.5 3.9 100.0 3.4 14.4 42 .4 29.2 10.6
60 - 69 | 100.0 8.1 26.7 50.7 11.8 2.7 100.0 3.2 14.4 41.2 31.9 9.4
70 - 79 | 100.0 8.5 22.0 53.8 12.1 3.6 100.0 3.9 10.3 44.9 30.9 10.0
8 0 A ol &t 100.0 9.3 20.0 54.3 10.3 6.1 100.0 3.7 11.0 42.8 31.0 11.5
< & =& 4 >

= & 0l of 100.0 7.6 221 53.5 12.9 4.0 100.0 3.0 11.3 42 .4 32.6 10.8
= = 100.0 7.8 21.4 544 13.3 3.2 100.0 3.9 12.7 45.2 27.9 10.4
il = 100.0 7.1 24.9  49.9 13.6 4.5 100.0 3.6 15.3 41.9 28.9 10.3
CH = 0l & 100.0 8.0 27.9 47.9 12.1 4.1 100.0 5.8 16.8 44.0 25.9 8.0
< E QO A E} Y >

0] =S 100.0 6.6 19.6 52.2 15.4 6.2 100.0 4.9 13.1 42.6 27 .1 12.4
= i} ? 100.0 8.1 26.1 49.4 12.5 3.9 100.0 4.2 14.8 42.2 29.2 9.6
Al 4 100.0 6.9 20.9 55.9 12.6 3.8 100.0 3.1 11.5 445 30.6 10.3
0l = 100.0 4.9 21.9 53.6 15.4 4.2 100.0 1.2 15.2 46.4 28.8 8.4
<FH S H4HYE>

3 2 | 100.0 7.3 249 5.9 13.1 3.8 100.0 44 141 425 2096 97
al 3 2 | 100.0 82 223 522 125 4.8 100.0 3.2 13.6 441 284  10.6
< X o 4¢84 >

& 2/ = 2 100.0 7.2 30.3 46.2 11.8 4.5 100.0 5.4 17.0 43.2 25.8 8.6
At 2 100.0 45 29.2 498 12.3 4.3 100.0 3.0 16.1 48.0 25.4 7.5
N Bl A/ B OH 100.0 7.4 26.3 51.5 12.8 2.2 100.0 4.5 17.0 45.4 25.9 7.2
= = o & 100.0 7.7 21.0 53.4 13.5 4.4 100.0 2.9 8.8 38.8 35.9 13.5
Ja s /I A 100.0 9.5 24.5 48.7 14.0 3.2 100.0 6.0 17.2 41.9 27.2 7.8
Er = T £ 100.0 5.8 20.8 55.4 14.6 8.5 100.0 2.7 15.2 44 .2 29.7 8.3
= ol 100.0 = 29.3 70.7 = = 100.0 = 10.2 79.5 10.2 =
< & 5 € >

50 2 & ol ot 100.0 6.6 20.6 55.4 13.0 4.4 100.0 2.6 12.2 44.3 28.6 12.3
50 - 100023 100.0 9.8 22.3 524 1.1 4.3 100.0 4.7 12.2 42.5 8.3 9.0
100 - 20092+ & 100.0 6.7 245 50.4 14.0 4.4 100.0 2.8 13.7 41.3 31.8 10.4
200 - 300923 100.0 6.5 24.1 497 17.0 2.6 100.0 3.2 14.0 44 .4 29.6 8.9
300 - 4002t& 100.0 8.9 24.9 50.9 1.7 3.6 100.0 5.7 14.7 45.8 26.2 7.6
400 - 60022 100.0 8.9 30.9 45.8 8.9 5.5 100.0 7.5 18.1 40.2 24.9 9.3
600 - 8002 100.0 6.7 37.8 53.0 2.6 - 100.0 3.7 24.8 42.2 20.3 9.1
800 9+& O & 100.0 45 31.1 428 10.5 11.2  100.0 1.2 20.2 30.7 28.8 19.0
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< X 9 g >
Al Xl & 100.0 6.5 16.7 3.9 245 13.3  100.0 4.4  16.1 48.7 22.5 8.2
= Xl & 100.0 8.0 18.5 46.5 18.9 8.0  100.0 4.1 17.6 50.2  20.6 7.5
< A = >
= Xt 100.0 8.0 17.7 415 222 10.6  100.0 43 16.9 48.9 2.2 7.7
o Xt 100.0 6.1 18.4 50.3 17.4 7.8 100.0 39 17.6 51.7 18.9 7.9

15 - 29 Ml 100.0 7.3 13.2 42.9 18.4  18.2 100.0 2.6 11.0 52.4 22.2 1.7

30 - 39 Ml 100.0 7.4 17.5 36.3  24.9 13.9 100.0 3.3 15.5 48.0 24.0 9.3

40 - 49 Al 100.0 7.7 17.0 39.2  25.0 1.1 100.0 3.7 16.5 49.1  23.2 7.5

50 - 59 Al 100.0 7.0 18.2 43.3 21.2 10.3 100.0 46 16.4 48.3 2.7 8.0

60 - 69 Al 100.0 7.5 20.0 47.3  18.8 6.3 100.0 46 20.8 48.3  19.5 6.8

70 - 79 Al 100.0 7.8 18.7 51.1 16.8 5.7 100.0 53 17.8 52.9 18.2 5.8
1

8 0 A o & 00.0 7.6 18.5 53.8 14.3 5.8  100.0 49 18.6 53.1 15.6 7.9

< & =& 4 >

= & 0l of 100.0 7.5 18.3 51.9 16.7 5.6 100.0 4.8 19.5 51.8 17.6 6.3
= = 100.0 6.3 17.8 46.5 20.2 9.3 100.0 4.8 14.8 485 22.7 9.2
il = 100.0 6.1 19.2 40.2 227 11.7 100.0 3.6 15.6 47.5 241 9.2
CH = 0l & 100.0 9.8 15.7 35.7 25.0 13.9 100.0 3.8 16.7 50.1 22.1 7.2
< E QO A E} Y >

0] =S 100.0 5.5 17.7 41.3 21.3 14 .1 100.0 3.4 13.0 50.6 24 .1 8.9
= i} ? 100.0 8.4 17.9 40.6 22.4 10.6 100.0 4.3 17 .1 48.3 22.2 8.1
Al 4 100.0 6.1 19.3 53.1 15.4 6.2 100.0 4.7 19.1 52.0 17.4 6.7
0l = 100.0 4.3 12.8 53.1 22.6 7.3 100.0 3.0 15.9 55.6 19.8 5.6
<FH S H4HYE>

F A 100.0 8.0 17.7 42 .1 22.0 10.2 100.0 4.4 17.0 49.0 21.9 7.7
0l F 53] 100.0 5.9 18.6 49 .1 17.7 8.8 100.0 3.7 17.2 51.4 19.6 8.1
< X o 4¢84 >

& 2/ = 2 100.0 9.5 18.9 38.1 21.1 12.3 100.0 5.8 19.4 48.6 20.0 6.6
At 2 100.0 9.1 16.6 38.7 22.4 13.1 100.0 3.4 18.6 46.2 24.4 7.4
N Bl A/ B OH 100.0 6.1 15.5 39.7 26.1 12.6 100.0 2.4 15.6 50.7 23.2 8.2
= =) o & 100.0 8.6 19.4 49.6 16.8 5.6 100.0 5,8 17.7 47.9  20.9 8.2
Ja s /I A 100.0 7.4 15.5 34.6 28.4 14 1 100.0 3.7 14.9 48.9 24 1 8.4
Er = T £ 100.0 5.6 17.9 44 .0 23.1 9.4 100.0 4.2 14.3 58,8 21.2 6.9
= ol 100.0 = = 20.4 69.4 10.2 100.0 = = 89.9 10.1 =
< & 5 € >

50 2 & ol ot 100.0 5.6 18.7 53.8 14.8 7.1 100.0 3.9 19.2 52.7 16.1 8.1
50 - 100822 100.0 9.4 18.6 46.0 19.4 6.6 100.0 5.8 18.9 47.2 21.4 6.6
100 - 20092+ & 100.0 6.9 17.8 440 21.2 10.0 100.0 4.2 14.4 50.9 21.4 9.0
200 - 300923 100.0 6.0 15.5 1.7 25.2 11.6 100.0 2.7 13.5 51.4 24.7 7.8
300 - 4002t& 100.0 7.5 18.7 36.7 23.7 13.83 100.0 4.5 15.4 49.7 24.2 6.1
400 - 60092t& 100.0 1.1 18.2 32.1 26.1 12.5 100.0 3.5 23.2 43.5  21.1 8.7
600 - 8002 100.0 1.3  21.6 41.8 16.8 8.4 100.0 9.6  31.1 36.1 20.7 2.6
800 9+& O & 100.0 11.8 18.4 40.4 14.3 15.0 100.0 3.5 19.9 45.4 18.0 13.2
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=St AIA

bS] b 100.0 1.8 6.4 36.0 31.3 24.5
< X 9 g >

Al Xl g 100.0 2.0 8.1 42.0 31.0 16.9
= Xl <] 100.0 1.6 5.6 32.8 3.5 28.6
< A =] >

= Xt 100.0 2.0 6.5 35.7 31.7 241
O Xt 100.0 1.2 6.2 36.8 30.3 25.5
< ¢ g g >

15 - 29 Al 100.0 1.2 6.8 32.5 30.7 28.7
30 - 39 Al 100.0 1.7 6.6 .5 34.7 21.4
40 - 49 Al 100.0 1.3 6.8 36.1 30.5 25.3
50 - 59 A 100.0 2.1 7.2 35.8 31.8 23.2
60 - 69 A 100.0 1.2 6.1 34.9 32.2 25.6
70 - 79 Al 100.0 2.5 5.4 38.3 29.1 24.7
8 0 Al 0l & 100.0 2.8 5.4 38.7 27.7 25.4
< & =& 4 >

= Z 0 of 100.0 2.0 5.7 36.9 30.5 25.0
= = 100.0 1.9 5.2 34.5 31.2 27.2
il = 100.0 1.2 7.1 35.8 31.8 24 1
CH £ 0 & 100.0 2.2 7.3 35.8 31.9 22.8
< E QO A E} Y >

0] =S 100.0 1.1 9.7 32.7 31.0 25.5
= i} ? 100.0 2.0 6.3 35.2 32.0 24.5
Al 4 100.0 1.5 5.8 38.4 29.6 24.6
0l = 100.0 1.1 5.0 42.2 30.3 21.4
<FH S H4HYE>

F A 100.0 1.6 6.2 34.9 32.4 24.9
0l F 53] 100.0 2.2 7.3 39.3 28.1 23.2
< X o 4¢84 >

& 2/ = 2 100.0 1.7 9.3 35.9 31.9 21.2
At 2 100.0 1.0 6.7 34.1 35.0 23.2
M Hl A/ = Y 100.0 2.7 6.9 41.0 28.4 21.0
= 9 o o/ 100.0 1.4 3.4 30.1 31.5 33.7
Ja s /I A 100.0 1.8 6.2 35.9 .5 20.7
Er = T £ 100.0 1.4 8.2 37.9 35.7 16.8
= ol 100.0 = = 89.8 10.2 =
< & 5 € >

50 2 & ol ot 100.0 1.9 6.0 39.3 28.3 24.5
50 - 100023 100.0 2.0 5.9 33.7 31.5 26.9
100 - 20092+ & 100.0 1.2 6.0 35.6 31.0 26.2
200 - 300923 100.0 2.0 5.6 37.4 32.5 22.4
300 - 4002t& 100.0 2.2 7.9 33.7 33.8 22.3
400 - 60092t& 100.0 1.5 9.1 36.6 31.7 21.1
600 - 80023 100.0 1.8 6.8 33.3 5.5 22.5
800 9+& O & 100.0 1.2 9.4 31.1 27.3 30.9
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20. XL BR|78Y 2o}

ZH0H el HAd DN

27 21 (OI=Mg S)
< X 9 48 >
Al Xl g 100.0 31.0 6.5 17.5 7.6 36.1 1.3
= Xl g 100.0 41.0 6.8 17.0 6.0 28.4 0.8
< A =] >
= Xt 100.0 34.3 7.0 19.2 4.4 34.0 1.1
O Xt 100.0 46.3 6.1 11.6 12.3 23.2
< ¢ g g >
15 - 29 | 100.0 16.3 4.4 21.5 13.9 40.9 3.0
30 - 39 Al 100.0 14.8 6.8 23.7 11.7 40.9 2.0
40 - 49 Al 100.0 19.1 7.9 29.8 7.0 35.2 1.1
50 - 59 Al 100.0 31.3 8.3 17.6 8.6 33.5 0.8
60 - 69 A 100.0 53.1 6.4 8.6 3.1 28.5 0.4
70 - 79 Al 100.0 68.0 5.8 5.6 1.5 19.5 0.1
8 0 Al 0l & 100.0 80.6 4.2 8.3 0.5 11.1
< & 8 4 >
S = 0l ot 100.0 59.9 6.7 7.4 3.2 22.5 0.3
= e 100.0 39.2 8.7 14.8 6.6 30.4 0.3
) = 100.0 245 5.6 22.5 8.1 37.9 1.3
CH £ 0 & 100.0 21.3 7.2 25.4 9.2 35.1 1.8
<E QA HYE>
0l = 100.0 19.0 9.0 17.4 11.3 411 2.2
= il ? 100.0 33.9 7.0 20.4 5.8 32.0 0.9
Al 4 100.0 61.9 5.1 6.2 5.1 21.4 0.3
0l = 100.0 19.2 5.7 19.1 13.1 411 1.7
< H Y A EHE Y>>
% o 100.0 31.9 6.6 20.2 7.0 33.3 1.0
i = o 100.0 53.9 7.2 8.4 5.1 24.7 0.8
< 73 g ¢ >
& 2 / &2 2 100.0 24.7 5.7 24.8 6.2 37.2 1.5
At 2 100.0 21.6 9.0 28.1 11.1 29.2 1.1
N Hl A/ = 0y 100.0 21.1 4.8 24.3 13.5 35.2 1.0
= d of sl 100.0 50.4 6.2 12.1 4.3 26.6 0.4
a s / 21 A 100.0 18.8 8.0 23.5 6.2 42.0 1.6
Er = T £ 100.0 27 .4 7.8 19.9 6.8 36.9 1.2
= ol 100.0 100.0 = = = = =
< & 5 g >
50 2 & ol ot 100.0 62.3 6.6 6.6 2.8 20.7 0.9
50 - 1000t 3& 100.0 47.5 7.3 8.1 4.9 32.0 0.2
100 - 20092+ & 100.0 29.7 7.1 20.3 9.7 32.0 1.1
200 - 30092+3& 100.0 26.2 6.6 22.7 6.5 37.0 1.2
300 - 40092t 100.0 27.0 5.5 24.2 7.9 34.5 1.0
400 - 6002+t 100.0 26.7 7.4 26.0 6.6 31.8 1.5
600 - 80023 100.0 28.5 7.3 19.6 7.2 36.1 1.4
800 o-& O & 100.0 30.2 4.7 27 .1 9.4 27.3 1.2
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R colpel

2xtel M= AERZ2

< X 9 48 >

Al Xl g 100.0 33.9 33.8 10.3 9.1 12.8
= Xl g 100.0 1.7 29.8 10.4 9.5 8.5
< A =] >

= Xt 100.0 36.0 33.2 10.6 9.7 10.5
O Xt 100.0 47 .1 26.0 9.7 8.5 8.8
< ¢ g g >

15 - 29 | 100.0 25.6 40.1 14.1 8.0 12.2
30 - 39 Al 100.0 3.5 37.0 10.4 7.1 14.0
40 - 49 Al 100.0 29.6 35.9 9.3 11.3 13.9
50 - 59 Al 100.0 33.0 34.8 10.8 10.6 10.7
60 - 69 A 100.0 43.2 81.8 10.9 9.0 5.6
70 - 79 Al 100.0 56.8 19.1 9.5 8.3 6.3
8 0 Al 0l & 100.0 67.6 9.6 8.7 9.5 4.6
< & 8 4 >

S = 0l ot 100.0 54.0 21.3 10.4 8.5 5.8
ES = 100.0 35.4 34.1 10.6 9.4 10.5
) = 100.0 30.3 37.2 1.7 9.7 1.1
CH £ 0 & 100.0 30.5 36.2 8.5 10.2 14.5
<E QA HYE>

0l = 100.0 30.3 34.9 14.4 7.2 13.2
= alil ? 100.0 ¥.5 33.6 10.2 9.9 10.8
Al 4 100.0 5.8 21.0 9.2 8.9 5.6
Ol =) 100.0 34.7 34.8 9.3 8.9 12.3
< H Y A EHE Y>>

F A 100.0 35.4 34.7 10.0 9.4 10.5
0l F A 100.0 49.4 21.1 11.4 9.3 8.8
< X g 4¢84 >

& 2 / &2 2 100.0 29.7 37.6 9.3 9.4 13.9
At 2 100.0 29.5 36.5 10.3 11.4 12.2
N Hl A/ = 0y 100.0 31.3 37.8 8.3 9.4 13.2
= ¥ of sl 100.0 47.9 26.3 11.0 8.3 6.4
a s / 21 A 100.0 25.8 41.9 10.8 10.4 1.1
Er = T £ 100.0 28.8 41.5 8.5 9.8 11.4
= ol 100.0 89.8 = = 10.2 =
< & 5 g >

50 2 & ol ot 100.0 57.2 18.0 9.1 8.1 7.6
50 - 1000t 3& 100.0 45.2 28.6 11.5 7.9 6.7
100 - 20092+ & 100.0 33.3 36.1 11.4 9.0 10.2
200 - 30092+3& 100.0 30.5 8.5 10.6 11.2 12.2
300 - 40092t 100.0 3.8 38.3 7.9 1.1 11.5
400 - 6002+t 100.0 8285 34.1 11.9 8.6 12.9
600 - 80023 100.0 40.5 24.0 9.5 11.7 14.3
800 o-& O & 100.0 28.2 35.8 8.0 12.6 15.5
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BZo2 AS=X

Ald Ald ot+=Xxcl &

< X 94 48 >

Al Xl g 100.0 8.3 24.6 41 5.6 15.7 25.9 8.9 2.0 4.8 0.2
= Xl & 100.0 7.7 18.8 3.3 4.2 19.6 36.5 2.3 3.6 3.8 0.3
< A =] >

= A+ | 100.0 8.2 22.4 3.6 5.5 17.8 29.2 5.4 3.2 4.4 0.3
O &+ | 100.0 7.2 16.5 3.6 2.4 19.3 42.6 2.3 2.4 8.5 0.2
< ¢ g 4 >

15 - 29 Al | 100.0 10.7 46.4 4.5 9.0 10.6 7.6 3.1 1.8 6.3 =
30 - 39 Al | 100.0 16.2 35.9 8.1 5.9 12.3 9.2 5.6 0.7 5.7 0.4
40 - 49 Al | 100.0 8.4 28.9 4.4 5.2 16.6 20.4 7.6 3.3 5.0 0.1
50 - 59 Al | 100.0 6.8 18.3 2.9 6.0 19.1 31.8 6.5 4.6 8.5 0.4
60 - 69 Al | 100.0 5.5 10.6 2.1 3.9 21.5 45.3 2.8 4.5 3.7 0.2
70 - 79 Al 100.0 4.5 5.8 1.4 1.8 28,8 56.8 1.1 2.2 2.8 0.2
8 0 A ol &f 100.0 2.3 4.3 0.4 0.4 20.6 68.0 0.9 1.5 1.4 0.2
< & =& 4 >

S = 0l ot 100.0 4.8 7.7 1.5 2.2 22.0 52.9 1.7 3.9 3.0 0.2
= Z | 100.0 6.1 16.6 1.6 4.3 21.4 36.6 4.3 4.6 4.3 0.3
) = 100.0 9.6 26.9 4.9 5.9 17.4 22.6 6.5 2.3 3.8 0.1
CH = 0l &f 100.0 11.4 34.3 5.8 6.8 12.0 15.0 6.4 1.8 6.1 0.4
<E QA HYE>

0l = 100.0 8.9 40.6 5.2 8.5 14 .1 14.7 3.4 0.7 3.9 =
= il ? 100.0 8.7 21.9 3.8 5.3 17.6 28.8 5.7 3.5 4.5 0.2
At 2 | 100.0 4.9 7.2 1.5 1.5 22.5 55.4 1.4 2.1 3.1 0.3
0l & | 100.0 9.0 27.5 5.7 2.7 15.7 26.1 4.6 4.2 4.1 0.4
< H & & E Y>>

F A 100.0 8.5 23.6 4.2 5.3 17.0 28.3 5.2 3.1 4.4 0.2
0l F A 100.0 6.2 12.8 1.7 2.9 21.5 46.0 2.7 2.7 SN3 0.2
< 3 g ¢ >

& 2 / = 2 100.0 10.7 3.8 6.3 6.4 13.4 17.5 7.3 1.8 4.7 0.5
At 2 | 100.0 11.6 30.6 7.8 8.0 15.6 15.8 4.2 1.4 4.6 0.4
M Bl A/ Z OH | 100.0 10.1 28.9 5.6 5.7 15.4 20.6 5.8 3.0 5.0 =
= =) o el 100.0 5.5 12.4 2.1 3.1 21.6 451 1.8 5.0 3.2 0.2
Jados /I A 100.0 9.7 30.0 3.4 6.9 12.8 20.2 8.8 2.0 6.2 =
@ = L 2] 100.0 7.5 20.3 3.1 4.2 20.7 30.6 5.6 3.4 4.0 0.6
= ol | 100.0 = 48.9 = 10.2 = = 40.8 = = =
< & 5 g >

50 2 & 0l 9F ] 100.0 6.4 8.3 1.3 2.0 23.1 52.2 1.5 2.7 2.2 0.3
50 - 10092 & 100.0 4.4 13.3 2.3 3.2 22.6 44 .8 1.5 3.9 3.9 0.2
100 - 2008 & 100.0 9.1 24.5 3.6 4.2 15.4 30.1 4.8 3.1 4.7 0.4
200 - 30083 100.0 8.6 25.1 5.0 7.7 16.3 22.7 6.5 3.0 5.1 =
300 - 40008+ & 100.0 9.2 28.5 5.5 6.7 14.9 21.4 6.7 2.6 4.6 =
400 - 60002t 100.0 9.9 33.8 3.6 6.1 16.0 13.7 10.0 2.3 4.3 0.4
600 - 80002+t 100.0 15.6 19.9 9.8 2.8 14.9 18.1 6.8 5.1 7.2 =
800 2+& O & 100.0 9.2 30.2 8.5 2.8 15.6 28.7 5.1 1.4 2.2 1.2
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23. XM= ENE

SRt ACH
Ay ZNEE S43i8 0%
- mk= e 2M

< X 9 g >

Al Xl < 100.0 79.7 100.0 .5 35.9 19.4 3.8 7.4 0.4 20.3
= Xl CE 100.0 69.7 100.0 26.8 44 1 19.7 3.0 6.2 0.3 30.3
< A =] >

= X+ | 100.0 78.5 100.0 30.3 37.9 20.5 3.4 7.5 0.4

O X+ | 100.0 68.5 100.0 28.7 43.9 18.5 2.8 5.8 0.3

< ¢ g g >

15 - 29 Al 100.0 87.6 100.0 37.7 28.5 18.6 3.6 11.2 0.4 12.4
30 - 39 Al 100.0 87.6 100.0 32.9 36.8 211 3.8 5.1 0.3 12.4
40 - 49 Al | 100.0 88.8 100.0 31.6 38.4 21.3 2.9 5.5 0.3 11.2
50 - 59 Al | 100.0 73.1 100.0 22.8 48.8 19.7 3.2 5.2 0.4 26.9
60 - 69 Al | 100.0 55.0 100.0 17.6  55.8 19.0 2.1 5.2 0.2 45.0
70 - 79 Al | 100.0 40.2  100.0 17.6  61.8 14.9 1.3 3.9 0.5 59.8
8 0 Al 0l & | 100.0 23.6 100.0 13.3 68.2 1.1 2.4 3.8 1.2 76.4
< & =& 4 >

= Z 0 of | 100.0 45.9 100.0 19.3  58.9 14.3 1.5 5.3 0.7 541
= Z | 100.0 76.1 100.0 31.2  41.0 16.8 2.9 8.0 0.2 23.9
il Z | 100.0 84.6 100.0 29.9 39.2 20.1 3.0 7.5 0.3 15.4
CH £ 0 A | 100.0 91.0 100.0 34.6 30.8 24 1 4.4 5.6 0.4 9.0
< E QO A E} Y >

0] =S 100.0 86.2 100.0 39.0 27 .4 18.6 3.8 10.7 0.5 13.8
= i} ? 100.0 75.6 100.0 26.9 44 .2 20.3 3.0 5.8 0.3 24.4
Al S 100.0 36.5 100.0 17.8 62.4 14.3 1.7 3.8 0.6 63.5
0l = 100.0 74.3 100.0 21.8 46.8 23.0 2.0 6.4 = 25.7
<FH S H4HYE>

F 2] 100.0 77.5 100.0 27.6 42.2 20.8 3.1 6.0 0.3 22.5
0l F 53] 100.0 67.7 100.0 32.8 38.2 17.5 3.1 7.9 0.5 32.3
< X o 4¢84 >

& 2/ = 2 100.0 89.8 100.0 34.8 31.8 22.6 3.8 7.2 0.2 10.2
At £ | 100.0 91.7 100.0 35.4 32.5 21.6 8.5 6.7 0.2 8.3
M Bl A/ B OH | 100.0 84.3 100.0 29.7  40.1 21.2 2.4 6.3 0.4 15.7
= 9 o 2 | 100.0 62.0 100.0 15.9 57.4 18.0 2.4 6.1 0.2 38.0
Ja s /I A 100.0 85.3 100.0 32.5 34.1 24.5 4.6 3.6 0.6 14.7
Er = T £ 100.0 69.3 100.0 23.1 51.1 17.6 3.1 5.1 = 30.7
= ol 100.0 100.0 100.0 17.7 73,5 8.9 = = = =
< & 5 € >

50 2 & 0l 8t ] 100.0 36.6 100.0 17.9  59.6 15.4 2.0 4.5 0.6 63.4
50 - 1002 & | 100.0 56.1 100.0 17.6  57.6 18.6 1.5 4.6 0.2 43.9
100 - 2002 & | 100.0 76.5 100.0 25.9 46.0 19.0 2.3 6.4 0.4 23.5
200 - 300923 | 100.0 82.6 100.0 27.2  39.4 23.4 2.4 7.3 0.3 17.4
300 - 4002t& 100.0 88.6 100.0 30.6 39.6 21.4 3.5 4.9 = 11.4
400 - 60023 | 100.0 91.9 100.0 38.0 29.0 24.4 4.5 3.6 0.4 8.1
600 - 80023 | 100.0 89.8 100.0 42.8 22.4 26.9 2.9 3.7 1.3 10.2
800 2+ 0l & | 100.0 83.9 100.0 27.0  31.1 25.3 3.1 13.4 = 16.1
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24. NP3 ne ~p 4)

< X 9 g >

Al Xl g 100.0 33.3 100.0 41.6 49.7 8.7 = 66.7
= Xl <] 100.0 20.2 100.0 45.7 44 .4 9.2 0.7 79.8
< A =] >

= Xt 100.0 29.8 100.0 42.4 47.8 9.3 0.4 70.2
O Xt 100.0 10.9 100.0 53.7 40.0 6.3 = 89.1
< ¢ g g >

15 - 29 Al 100.0 6.1 100.0 88.9 1.1 = = 93.9
30 - 39 Al 100.0 48.6 100.0 41.4 50.2 8.1 0.4 51.4
40 - 49 Al 100.0 59.4 100.0 36.9 52.0 10.6 0.4 40.6
50 - 59 A 100.0 18.9 100.0 61.2 33.0 5.7 = 81.1
60 - 69 A 100.0 3.7 100.0 77.8 19.5 2.7 = 9.3
70 - 79 Al 100.0 1.4 100.0 33.6 26.0 34.3 6.1 98.6
8 0 Al 0l & 100.0 0.6 100.0 100.0 = = = 99.4
< & =& 4 >

= Z 0 of 100.0 3.1 100.0 57.4 32.9 9.7 = 96.9
= = 100.0 12.9 100.0 59.0 34.8 6.2 = 87.1
il = 100.0 35.5 100.0 44.9 45.2 9.2 0.6 64.5
CH £ 0 & 100.0 48.6 100.0 39.1 51.6 9.1 0.2 51.4
< E QO A E} Y >

0] =S 100.0 1.6 100.0 100.0 - - - 98.4
= i} ? 100.0 34.9 100.0 41.8 48.3 9.5 0.4 65.1
Al 4 100.0 2.8 100.0 70.1 27.4 2.5 = 97.2
0l =) 100.0 23.1 100.0 61.5 34.7 3.7 = 76.9
<FH S H4HYE>

= o 100.0 81.2  100.0 42.5 48.1 9.1 0.3 68.8
0l = o 100.0 6.2 100.0 62.2 29.7 7.3 0.8 93.8
< X o 4¢84 >

& 2/ = 2 100.0 445 100.0 38.5 51.9 9.1 0.4 5.5
At 2 100.0 49.9 100.0 38.2 51.0 10.8 = 50.1
M Hl A/ = Y 100.0 36.5 100.0 39.0 48.1 12.2 0.7 63.5
= 9 o o/ 100.0 10.8 100.0 55.6 32.7 10.7 1.0 89.2
Ja s /I A 100.0 449 100.0 45 .4 48.4 6.2 = 55.1
Er = T £ 100.0 22.0 100.0 45.3 48.9 5.8 = 78.0
= ol 100.0 70.0 100.0 41.9 58.1 = = 30.0
< & 5 € >

50 2 & ol ot 100.0 1.6 100.0 59.8 23.2 12.6 4.4 98.4
50 - 100023 100.0 6.2 100.0 66.3 28.2 5.3 = 93.8
100 - 20092+ & 100.0 21.1 100.0 56.6 36.3 7.0 = 78.9
200 - 300923 100.0 35.2 100.0 42.3 48.2 9.1 0.4 64.8
300 - 4002t& 100.0 49.3 100.0 39.2 51.0 9.4 0.4 50.7
400 - 60092t& 100.0 56.1 100.0 35.9 53.6 9.9 0.7 43.9
600 - 80023 100.0 56.7 100.0 25.4 61.0 13.6 = 43.3
800 9+& O & 100.0 46.9 100.0 43.2 47.9 8.8 = 53.1
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1 oA 2 M

) b 100.0 24.8 100.0 26.3 35.7 13.7 18.8 5.5 75.2
< X 9 g >

Al Xl < 100.0 I 100.0 23.0 35.1 13.3 21.5 7.1 66.7
= Xl CE 100.0 20.2 100.0 29.2 36.2 14.0 16.4 4.2 79.8
< A =] >

= Xt 100.0 29.8 100.0 24.6 36.2 13.8 19.6 5.7 70.2
O Xt 100.0 10.9 100.0 38.7 31.2 13.0 13.3 3.9 89.1
< ¢ g g >

15 - 29 Al 100.0 6.1 100.0 50.2 38.7 1.1 = = 93.9
30 - 39 Al 100.0 48.6 100.0 26.3 34.9 16.9 17.0 4.9 51.4
40 - 49 Al 100.0 59.4 100.0 20.7 35.4 12.9 23.8 7.3 40.6
50 - 59 A 100.0 18.9 100.0 39.8 37.4 10.6 9.9 2.3 81.1
60 - 69 A 100.0 3.7 100.0 41.6 38.8 11.2 8.3 = 9.3
70 - 79 Al 100.0 1.4 100.0 33.6 38.9 13.7 6.8 6.9 98.6
8 0 Al 0l & 100.0 0.6 100.0 33.5 = 66.5 = = 99.4
< & =& 4 >

= Z 0 of 100.0 3.1 100.0 29.7 45.3 11.7 11.2 2.1 9.9
= = 100.0 12.9 100.0 42 .4 38.0 8.7 10.0 0.9 87.1
il = 100.0 35.5 100.0 27.0 36.6 14.0 17.4 5.0 64.5
CH £ 0 & 100.0 48.6 100.0 22.9 33.5 14.4 22.2 7.0 51.4
< E QO A E} Y >

0] =S 100.0 1.6 100.0 15.5 84.5 - - - 98.4
= i} ? 100.0 34.9 100.0 25.4 5.3 14.0 19.7 5.8 65.1
Al 4 100.0 2.8 100.0 45.2 30.3 17.5 7.0 = 97.2
0l =) 100.0 23.1 100.0 36.5 40.0 8.8 10.3 4.3 76.9
<FH S H4HYE>

F A 100.0 31.2 100.0 25.2 36.0 13.9 19.1 5.8 68.8
0l F 53] 100.0 6.2 100.0 42.6 29.9 11.2 14.8 1.5 93.8
< X o 4¢84 >

& 2/ = 2 100.0 44 .5 100.0 24.3 85.8 14.7 19.9 5.8 55.5
At 2 100.0 49.9 100.0 22.4 31.3 18.6 21.9 5.8 50.1
M Hl A/ = Y 100.0 36.5 100.0 23.6 34.3 12.0 26.6 8.3 63.5
= 9 o o/ 100.0 10.8 100.0 37.7 38.0 10.9 7.8 5.6 89.2
Ja s /I A 100.0 44 .9 100.0 22.9 35.8 12.3 20.3 8.7 55.1
Er = T £ 100.0 22.0 100.0 23.0 50.1 16.8 8.2 1.9 78.0
= ol 100.0 70.0 100.0 41.9 58.1 = = = 30.0
< & 5 € >

50 2 & ol ot 100.0 1.6 100.0 44.6 27.2 20.5 7.7 = 98.4
50 - 100023 100.0 6.2 100.0 42 .4 44.3 7.4 5.8 = 93.8
100 - 20092+ & 100.0 21.1 100.0 421 37.6 9.5 7.2 8.3 78.9
200 - 300923 100.0 35.2 100.0 22.6 39.3 16.1 18.4 3.6 64.8
300 - 4002t& 100.0 49.3 100.0 22.2 1.5 12.8 27.2 6.3 50.7
400 - 60092t& 100.0 56.1 100.0 17.7 31.9 13.5 24.9 12.0 43.9
600 - 80023 100.0 56.7 100.0 16.3 29.1 22.9 22.8 8.9 43.3
800 9+& O & 100.0 46.9 100.0 22.2 45.7 20.2 11.8 = 53.1
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26. A2 PIYnine nz=H8)

Atn=Hl XE HIS

1oerd 10~308H21 | 30~508H® | 50~1008R  100~1508HRl  1508tE
olgt ojg oje et o| et ol 4
< X 9 g >
Al Xl < 100.0 I} 100.0 8.1 27.7 24.9 28.7 9.1 1.5 66.7
= Xl C 100.0 20.2 100.0 11.9 33.8 26.5 20.3 4.3 3.2 79.8
< A =] >
= Xt 100.0 29.8 100.0 9.9 29.2 27.2 24.5 6.9 2.3 70.2
Xt 100.0 10.9 100.0 11.6 44 1 14.9 22.5 3.9 3.0 89.1
< ¢ g g >
15 - 29 Al 100.0 6.1 100.0 33.4 55,5 11.1 = = = 93.9
30 - 39 Al 100.0 48.6 100.0 18.2 37.2 23.0 17.0 3.8 0.8 51.4
40 - 49 Al 100.0 59.4  100.0 5.0 26.5 27.4 29.5 8.8 2.8 40.6
50 - 59 A 100.0 18.9 100.0 7.8 31.2 25.9 25.8 4.7 4.5 81.1
60 - 69 Al 100.0 3.7 100.0 19.3 27.6 25.1 16.8 8.3 2.8 9.3
70 - 79 Al 100.0 1.4 100.0 19.9 39.7 40.5 = = = 98.6
8 0 Al 0l & 100.0 0.6 100.0 = 66.5 33.5 = = = 99.4
< & =& 4 >
= Z 0 of 100.0 3.1 100.0 11.8 50.4 20.0 9.3 6.6 1.8 96.9
= = 100.0 12.9 100.0 15.0 37.7 30.6 14.5 1.2 1.1 87.1
) = 100.0 35.5 100.0 9.4 31.1 28.0 25.4 4.0 . 64.5
CH £ 0 & 100.0 48.6 100.0 10.0 28.0 23.3 26.0 9.8 3.0 51.4
< E QO A Ef Y >
0] =S 100.0 1.6 100.0 - 100.0 - - - - 98.4
= ali} < 100.0 34.9 100.0 10.4 29.2 26.5 24.5 6.9 2.5 65.1
Al S 100.0 2.8 100.0 13.3 50.5 13.9 22.3 = = 97.2
0l =) 100.0 23.1 100.0 4.8 47.3 18.9 23.0 3.6 2.4 76.9
<FH S H4HYE>
F A 100.0 31.2 100.0 10.0 29.1 26.7 24.8 6.9 2.5 68.8
0l F 53] 100.0 6.2 100.0 11.7 57.2 12.1 16.4 1.2 1.4 93.8
< X g 4¢84 >
& 2 / &2 2 100.0 44 .5 100.0 10.4 25.7 25.7 28.9 6.8 2.6 5.5
At 2 100.0 49.9 100.0 6.1 29.5 26.8 25.7 7.4 4.5 50.1
M Hl A/ = O0Y 100.0 36.5 100.0 1.1 28.4 23.1 24.4 10.2 2.8 63.5
= 9 o o/ 100.0 10.8 100.0 13.0 32.3 32.2 14.4 4.6 3.4 89.2
o s /2 A 100.0 44 .9 100.0 10.1 29.5 24.8 26.9 7.7 1.0 55.1
Er = * £ 100.0 22.0 100.0 11.0 38.6 32.5 17.9 = = 78.0
= ol 100.0 70.0 100.0 = 29.1 56.4 14.5 = = 30.0
< & 5 € >
50 2 & ol ot 100.0 1.6 100.0 10.8 68.9 12.6 = = 7.7 98.4
50 - 10003 100.0 6.2 100.0 15.8 58.0 18.4 3.9 1.7 2.2 93.8
100 - 20092+ & 100.0 21.1 100.0 17.9 43.9 23.7 12.2 1.5 0.9 78.9
200 - 300923 100.0 35.2 100.0 8.8 32.0 33.8 20.3 4.1 1.1 64.8
300 - 4002t& 100.0 49.3 100.0 8.8 25.2 25.3 30.6 8.5 1.6 50.7
400 - 60092+& 100.0 56.1 100.0 4.5 21.2 22.3 36.7 12. 3.0 43.9
600 - 80023 100.0 56.7 100.0 11.0 2.3 20.3 41.5 13.8 11.2 43.3
800 9+& O & 100.0 46.9 100.0 4.9 29.4 15.3 28.9 11.0 10.5 53.1
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el ™ JHA,
o A 2t

7S} b 100.0 57.1  100.0 34.3 13.9 26.8 16.0 7.9 1.0 42.9
< X 9 g >

Al Xl < 100.0 63.7 100.0 38.6 15,8 22.6 15.0 7.5 1.0 36.3
= Xl CE 100.0 53.2 100.0 31.1 13.0 29.9 16.7 8.2 1.1 46.8
< A =] >

= Xt 100.0 59.3  100.0 38.8 12.1 25.2 19.8 8.5 0.6 40.7
O Xt 100.0 55.0 100.0 29.4 15.9 28.6 11.9 12.6 1.5 45.0
< ¢ g g >

15 - 29 Al 100.0 70.8 100.0 48.4 12.1 8.2 24.0 6.6 0.7 29.2
30 - 39 Al 100.0 77.3 100.0 43.2 11.5 15.4 15.4 13.9 0.5 22.7
40 - 49 Al 100.0 70.8  100.0 31.4 15.9 26.8 14.6 10.2 1.0 29.2
50 - 59 A 100.0 56.9 100.0 22.4 17.6 43.2 12.4 3.1 1.3 43.1
60 - 69 Al 100.0 38.0 100.0 11.8 14.8 59.4 8.4 3.2 2.4 62.0
70 - 79 Al 100.0 18.4  100.0 7.7 10.6 72.1 5.8 1.8 2.5 81.6
8 0 Al 0l & 100.0 10.0  100.0 6.6 13.2 75.9 2.8 = 1.4 90.0
< & =& 4 >

= Z 0 of 100.0 25.9  100.0 14.7 13.0 59.3 6.9 4.0 2.0 74 .1
= = 100.0 56.7 100.0 36.9 16.5 27.7 12.2 5.5 1.2 43.3
il = 100.0 69.3  100.0 36.8 14.2 22.6 16.1 9.4 1.0 30.7
CH £ 0 & 100.0 80.1 100.0 37.9 12.7 18.2 21.7 8.9 0.6 19.9
< E QO A E} Y >

0] =S 100.0 68.1 100.0 49.9 14.0 8.5 25.9 1.3 0.4 31.9
= i} ? 100.0 59.6 100.0 28.7 14.0 32.6 12.6 1.1 1.1 40.4
Al 4 100.0 22.5 100.0 16.3 12.1 58.5 7.1 2.6 3.4 77.5
0l =) 100.0 55.2 100.0 38.3 16.2 24 .1 11.6 8.6 1.1 44.8
<FH S H4HYE>

F A 100.0 60.6 100.0 32.4 14.0 29.4 16.9 6.5 0.9 39.4
0l F 53] 100.0 52.1 100.0 37.5 13.9 22.5 14.5 10.3 1.3 47 .9
< X o 4¢84 >

& 2/ = 2 100.0 78.6 100.0 32.1 14.0 21.9 24.7 6.3 0.9 21.4
At 2 100.0 82.4 100.0 40.5 15.6 16.9 20.8 5.9 0.3 17.6
M Hl A/ = Y 100.0 70.1  100.0 31.2 13.8 31.4 14.8 8.0 0.9 29.9
= 9 o o/ 100.0 40.4  100.0 19.5 15.8 47.8 9.8 6.1 1.0 59.6
Ja s /I A 100.0 68.2 100.0 43.0 10.4 22.5 18.7 4.6 0.8 31.8
Er = T £ 100.0 47 .5 100.0 37.4 13.1 30.2 8.4 9.0 1.9 52.5
= ol 100.0 47 .5 100.0 28.1 = 59,8 = 18.7 = 52.5
< & 5 € >

50 2 & ol ot 100.0 23.8 100.0 21.1 14.2 47.9 11.0 2.6 8.8 76.2
50 - 100023 100.0 35.8 100.0 22.7 15.5 49.2 9.2 2.3 1.1 64.2
100 - 20092+ & 100.0 55.2  100.0 37.4 10.4 31.7 14.4 5.3 0.8 44.8
200 - 300923 100.0 64.9 100.0 36.3 12.6 26.4 17.9 6.3 0.5 35.1
300 - 4002t& 100.0 72.6 100.0 35.6 12.8 26.7 18.9 5.2 0.8 27.4
400 - 60092t& 100.0 79.4  100.0 29.6 11.7 26.4 27.3 4.6 0.5 20.6
600 - 80023 100.0 85.3 100.0 14.5 30.7 23.9 23.1 5.3 2.5 14.7
800 9+& O & 100.0 73.6  100.0 21.7 14.5 30.2 30.1 2.1 1.4 26.4
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28. "1 O BE

= st4lE CHZ OH &I
(CHEOIE, watE S) | (TV, Y S)

< X 9 48 >

Al Xl g 100.0 20.3 8.3 49.7 7.3 14.0 0.4
= Xl g 100.0 14.0 7.6 60.3 5.2 12.5 0.3
< A =] >

= Xt 100.0 20.0 9.5 50.0 5.0 15.3 0.2
O Xt 100.0 13.2 6.2 62.1 7.2 10.8 0.4
< ¢ g g >

15 - 29 | 100.0 26.5 10.1 37.0 8.7 17.3 0.3
30 - 39 Al 100.0 16.6 9.8 54 .1 6.8 12.6 0.1
40 - 49 Al 100.0 14.8 7.9 59.1 4.8 13.3 0.2
50 - 59 Al 100.0 11.9 5.6 67.2 4.8 10.3 0.3
60 - 69 A 100.0 7.2 3.2 77.8 3.2 7.7 0.8
70 - 79 Al 100.0 2.8 3.2 78.3 3.9 10.5 1.4
8 0 Al 0l & 100.0 4.7 4.7 71.5 2.9 16.2 =
< & 8 4 >

S = 0l ot 100.0 6.4 3.7 76.2 3.3 9.5 1.0
= e 100.0 18.1 6.2 55.3 5.4 14.7 0.3
) = 100.0 18.4 8.0 52.8 7.3 13.3 0.2
CH £ 0 & 100.0 18.1 10.5 51.4 6.2 13.6 0.2
<E QA HYE>

0l = 100.0 28.0 10.2 36.6 6.6 18.3 0.2
= il ? 100.0 12.6 7.3 62.5 6.0 11.3 0.4
Al 4 100.0 9.6 2.6 76.3 2.6 8.6 0.3
Ol = 100.0 11.0 7.8 60.0 8.5 12.1 0.6
< H Y A EHE Y>>

F A 100.0 15.1 8.7 57.3 6.0 12.6 0.3
0l F A 100.0 19.4 6.5 53.4 6.3 14.0 0.4
< 73 g ¢ >

& 2 / &2 2 100.0 19.2 9.4 51.5 5.6 13.9 0.4
At 2 100.0 16.0 15.0 49.5 7.4 11.6 0.5
N Hl A/ = 0y 100.0 13.6 7.8 58.8 7.1 12.7 =
= d of sl 100.0 11.9 3.0 70.8 3.6 10.3 0.4
a s / 21 A 100.0 16.8 11.0 49.6 8.2 14.2 0.2
Er = T £ 100.0 1.4 9.6 61.7 3.7 13.6 =
= ol 100.0 = = 46.6 18.7 34.8 =
< & 5 g >

50 2 & ol ot 100.0 11.1 4.0 70.4 4.9 8.1 1.4
50 - 1000t 3& 100.0 6.5 4.9 71.2 7.4 10.0 =
100 - 20092+ & 100.0 13.6 8.9 60.7 3.9 12.4 0.4
200 - 30092+3& 100.0 14.9 10.5 53.9 6.4 14.3 =
300 - 40092t 100.0 17.3 11.0 52.8 5.8 12.9 0.3
400 - 6002+t 100.0 19.5 9.0 54 .1 7.8 9.5 =
600 - 80023 100.0 8.9 2.9 55.6 5.5 25.9 1.1
800 o-& O & 100.0 25.3 4.8 47 .4 6.6 15.9 =
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ES oot mctst otk

gl & EHOICH dIN EHOICH EOICH M EO|CH M EOICH | WXl &=CH
< X 9 48 >
Al Xl g 100.0 8283 44 .6 16.4 1.0 0.4 5.8
= Xl g 100.0 22.4 44 .5 21.9 1.1 0.6 9.6
< A =] >
= Xt 100.0 27.6 45.6 20.3 1.1 0.5 4.9
O Xt 100.0 21.1 41.4 19.0 1.1 0.6 16.6
< ¢ g g >
15 - 29 | 100.0 16.1 54.6 20.1 6.1 0.7 2.5
30 - 39 Al 100.0 32.4 46.9 18.2 0.4 0.4 1.7
40 - 49 Al 100.0 32.8 45.8 17.8 0.5 0.6 2.5
50 - 59 Al 100.0 30.5 43.7 19.5 0.7 0.5 5.2
60 - 69 A 100.0 21.7 44.6 22.3 1.2 0.4 9.7
70 - 79 Al 100.0 17.4 41.8 21.8 1.2 0.7 17.1
8 0 Al 0l & 100.0 12.3 33.0 22.4 0.4 0.5 31.4
< & 8 4 >
S = 0l ot 100.0 18.2 41.2 21.7 1.0 0.6 17.3
= e 100.0 26.5 42.6 21.7 0.6 0.5 8.2
) = 100.0 30.6 45.7 18.5 1.7 0.4 3.0
CH £ 0 & 100.0 30.3 48.8 18.4 0.7 0.6 1.2
<E QA HYE>
0l = 100.0 221 48.6 20.4 41 0.8 4.0
= alil ? 100.0 29.0 45.4 19.9 0.7 0.4 4.6
Al 4 100.0 17.9 40.1 20.5 0.8 0.7 20.1
0l =) 100.0 23.2 44.0 17.6 1.7 0.8 12.6
< H Y A EHE Y>>
F A 100.0 27.5 46.8 19.9 0.8 0.5 4.5
0l F A 100.0 20.9 38.0 20.3 1.9 0.5 18.4
< X g 4¢84 >
& 2 / &2 2 100.0 29.7 46.9 20.7 0.9 0.5 1.4
At 2 100.0 27.0 48.1 22.9 0.3 0.7 1.1
N Hl A/ = 0y 100.0 33.4 45.5 16.7 1.4 0.5 2.4
= ¥ of sl 100.0 22.3 44.6 21.9 0.7 0.5 10.0
a s / 21 A 100.0 32.0 49.4 17.0 0.4 0.6 0.7
Er = T £ 100.0 26.8 48.5 17.8 1.3 0.5 5.1
= ol 100.0 = 89.8 10.2 = = =
< & 5 g >
50 2 & ol ot 100.0 17.5 33.7 21.7 1.8 1.0 24.3
50 - 1000t 3& 100.0 18.8 45.5 22.2 1.6 0.5 11.4
100 - 20092+ & 100.0 25.3 47 .4 21.1 0.8 0.2 5.2
200 - 30092+3& 100.0 31.1 47 .4 18.7 1.1 0.3 1.3
300 - 40092t 100.0 33.7 47.8 17.2 0.3 0.2 0.8
400 - 6002+t 100.0 32.4 51.5 13.6 0.6 1.2 0.7
600 - 80023 100.0 40.3 37.3 18.9 = 2.3 1.1
800 o-& O & 100.0 33.0 39.1 25.7 1.0 = 1.2
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30. 2I=H|2] &8

ot oF 2t o2t (0] ==

HI% EOICH dI& EOICH M EO|CH A EHOICH WX 2=Ch
< X 94 48 >
Al Xl g 100.0 19.5 51.8 26.2 1.6 0.6 0.3
= Xl & 100.0 15.4 50.6 29.5 2.4 1.6 0.5
< A =] >
= Xt 100.0 17.1 50.8 28.5 2.1 1.2 0.3
O Xt 100.0 16.7 51.2 28.1 2.0 1.3 0.6
< ¢ g 4 >
15 - 29 Al 100.0 16.0 51.6 27.8 2.2 1.4 1.0
30 - 39 Al 100.0 16.9 54 .1 26.8 1.0 1.1 0.1
40 - 49 Al 100.0 17.1 54.5 25.6 1.7 0.7 0.4
50 - 59 A 100.0 18.8 52.5 26.3 1.4 0.7 0.3
60 - 69 A 100.0 16.1 47 1 32.4 2.8 1.4 0.2
70 - 79 Al 100.0 17.8 45.4 31.1 3.0 2.0 0.6
8 0 A ol &f 100.0 141 42 .6 35.9 41 3.0 0.3
< & =& 4 >
S = 0l ot 100.0 16.3 46.6 31.1 3.2 1.9 0.8
= = 100.0 16.0 50.1 29.9 1.6 1.3 1.0
) = 100.0 18.1 52.8 26.5 1.8 0.8 0.1
CH = 0l &f 100.0 16.7 55.0 26.0 1.3 0.9 0.2
<E QA HYE>
0l = 100.0 16.4 51.1 27.7 2.5 1.3 1.0
= il ? 100.0 17.3 52.4 27.4 1.6 0.9 0.3
At g 100.0 16.1 43.6 34.0 3.7 2.2 0.3
0l = 100.0 15.6 52.1 27.5 1.9 2.8 0.2
< H & & E Y>>
# A 100.0 16.5 52.6 27.8 1.8 1.2 0.2
0l F A 100.0 17.5 48.8 29.0 2.4 1.3 0.9
< 3 g ¢ >
& 2 / = 2 100.0 14.3 51.8 31.8 1.6 0.5 =
At 2 100.0 15.0 58.9 23.9 1.5 0.7 =
N Hl A/ B 0Y 100.0 20.7 48.7 28.2 1.1 1.4 =
= =) o el 100.0 15.5 50.7 28.7 2.9 1.9 0.4
o s /I A 100.0 15.8 57.9 25,5 0.6 0.2 =
@ = L 2 100.0 20.1 51.4 24.7 1.6 1.8 0.3
= ol 100.0 = 100.0 = = = =
< & 5 g >
50 2 & ol ot 100.0 18.3 39.8 34.7 3.8 3.3 =
50 - 1008 & 100.0 15,5 48.7 31.7 2.3 1.9 =
100 - 2008 & 100.0 15.9 49.4 31.4 2.3 1.0 =
200 - 30083 100.0 16.8 53.0 28.8 1.4 = =
300 - 40092+t 100.0 15.0 51.9 3.8 1.6 0.2 =
400 - 60002t 100.0 17.3 56.4 23.7 2.3 0.3 =
600 - 80023 100.0 24.5 45.1 29.1 1.3 = =
800 2+& O & 100.0 14.6 52.2 26.3 4.6 2.3 =
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(Sl : %)

Azozd

S} X 100.0 43.8 33.8 1.3 . 12.5

< X 94 48 >

Al Xl g 100.0 52.1 26.8 1.6 1.6 16.8 1.2
= Xl & 100.0 38.8 38.0 1.2 11.5 10.0 0.6
< A =] >

= Xt 100.0 44.0 32.4 1.2 7.0 14.5 0.9
O Xt 100.0 43.6 35.2 1.4 8.5 10.6 0.8
< ¢ g 4 >

15 - 29 Al 100.0 46.7 30.2 1.1 2.6 17.8 1.6
30 - 39 Al 100.0 50.9 28.4 1.1 2.5 16.0 1.0
40 - 49 Al 100.0 42.0 34.7 1.1 6.0 15.3 0.9
50 - 59 A 100.0 42.5 34.4 1.7 8.7 12.1 0.5
60 - 69 A 100.0 39.5 37.8 1.7 14.2 6.4 0.3
70 - 79 Al 100.0 40.5 39.2 1.2 15.2 3.7 0.3
8 0 A ol &f 100.0 36.5 38.9 2.2 19.0 3.2 0.1
< & =& 4 >

S = 0l ot 100.0 39.6 37.6 1.4 15,8 5.8 0.3
= = 100.0 40.7 36.8 1.2 8.1 12.3 0.9
) = 100.0 46.7 30.7 1.2 4.5 15.7 1.2
CH = 0l &f 100.0 47 .2 31.2 1.5 2.4 16.8 0.8
<E QA HYE>

0l = 100.0 45.3 29.9 1.1 3.2 18.8 1.7
= il ? 100.0 44 .5 34 .1 1.4 7.9 11.5 0.5
At g 100.0 38.4 39.1 1.6 16.4 4.0 0.5
0l = 100.0 38.4 36.7 0.3 5.5 17.6 1.6
< H & & E Y>>

# A 100.0 41.5 34.6 1.3 8.8 13.3 0.5
0l F A 100.0 47 1 32.6 1.4 6.3 11.4 1.2
< 3 g ¢ >

& 2 / = 2 100.0 43.8 32.3 2.8 3.2 16.9 1.1
At 2 100.0 49.1 30.5 0.6 2.5 16.7 0.6
N Hl A/ B 0Y 100.0 42.3 37.7 0.9 3.9 14.5 0.7
= =) o el 100.0 37.2 34.9 1.2 19.5 6.9 0.2
o s /I A 100.0 411 34.2 1.4 2.3 20.2 0.8
@ = L 2 100.0 43.2 36.4 0.5 6.2 13.5 0.2
= ol 100.0 25.9 60.7 = = 13.4 =
< & 5 g >

50 2 & ol ot 100.0 40.3 33.8 1.6 17.2 6.2 0.8
50 - 1008 & 100.0 38.1 39.5 1.2 13.1 7.7 0.4
100 - 2008 & 100.0 41.7 32.0 1.2 9.7 14.6 0.9
200 - 30083 100.0 4.7 32.9 1.7 5.9 16.8 1.0
300 - 40092+t 100.0 47 .2 32.8 1.7 3.1 15.3 =
400 - 60002t 100.0 49.3 35.1 1.6 2.5 1.1 0.4
600 - 80002+t 100.0 39.5 37.0 = 3.1 17.9 2.5
800 2+& O & 100.0 49.5 26.1 3.1 5.8 15.9 =
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L Eren gzzzs 201, ni2e
S HSA& st o Zzy
= EE = ol ALeS EE

< X 9 g >
Al Xl C 100.0 9.2 17.6 21.4 31.4 4.6 15.7 0.2
= Xl & 100.0 8.6 15.4 15.6 34.4 4.6 21.0 0.3
< A =] >
= N 100.0 10.1 16.3 20.2 31.9 5.1 16.2 0.2
o Xt 100.0 7.6 16.2 15.4 34.7 4.1 21.8 0.3
< o g g >
15 - 29 Al 100.0 9.2 19.8 26.8 24.9 7.7 11.4 0.3
30 - 39 Al 100.0 7.5 17.8 23.2 32.5 4.9 13.5 0.4
40 - 49 Al 100.0 11.8 19.5 20.1 29.3 4.3 15.0 =
50 - 59 Al 100.0 10.3 17.0 14.7 36.2 3.9 17.8 0.2
60 - 69 Al 100.0 7.7 11.6 10.6 40.4 2.9 26.5 0.3
70 - 79 Al 100.0 5.9 9.0 6.7 42 .2 2.4 33.4 0.4
8 0 Al ol & 100.0 4.4 7.6 8.8 40.9 1.9 41.6 0.5
< 8 ¥ 4 >
= = (o] of 100.0 6.5 10.5 8.8 40.2 2.6 31.0 0.4
= = 100.0 10.0 16.2 19.3 31.3 5.8 17 .1 0.2
) = 100.0 10.6 18.9 20.7 31.0 5.5 13.1 0.1
il = Ol & 100.0 8.5 19.8 23.9 29.1 4.9 13.6 0.2
<E QA HYE>
0] = 100.0 9.6 18.8 26.3 24.8 8.5 11.8 0.3
= alil 2 100.0 8.9 16.7 16.9 35.2 3.6 18.5 0.2
Ab ) 100.0 5.9 8.6 6.7 40.0 2.2 36.1 0.5
0l = 100.0 13.3 16.9 12.7 34.7 3.2 19.1 =
< H S A HE>
F 2] 100.0 9.3 16.8 17.2 34.1 4.0 18.5 0.2
0] F 2] 100.0 8.2 15.4 18.6 32.2 5.4 19.8 0.4
< A g ¢ >
& 2 / =2 2 100.0 9.7 21.0 22.8 27.9 5.8 12.8 =
Ab 2 100.0 9.8 20.4 25.4 27 .1 4.6 12.6 0.1
AN oHl A/ Z- DY 100.0 10.3 19.6 19.5 30.5 4.2 15.6 0.2
= =] of 21| 100.0 7.7 12.3 9.3 41 .1 2.8 26.5 0.2
o s /21 A 100.0 9.9 18.4 22.9 31.9 3.7 13.0 0.2
ct = L 2 100.0 10.6 13.6 12.4 38.3 4.4 20.8 =
= ol 100.0 26.5 17 .1 47.5 8.8 = =
< & 5 g >
50 2t & o] ot 100.0 5.7 7.5 8.4 39.0 2.7 36.1 0.6
50 - 1008 & 100.0 9.0 12.1 9.0 42 .4 1.9 25.5 0.1
100 - 200CQ+t& 100.0 9.6 14.3 15.4 35.2 4.6 20.7 0.3
200 - 30092+ 100.0 11.4 15.3 20.1 33.0 3.8 16.3 0.2
300 - 4009+t ¥ 100.0 10.8 21.3 18.6 33.2 3.8 12.2 =
400 - 6000+t 100.0 11.6 23.5 26.6 25.4 2.6 9.7 0.6
600 - 8000+t& 100.0 8.1 20.6 21.5 29.7 4.6 15.6 =
800 2+H& 0 & 100.0 7.4 11.4 22.4 39.5 3.5 14.8 1.1
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< X 94 ¢ >

Al Xl & 100.0 56.8 100.0 29.3 45.0 21.6 41 43.2
= Xl > 100.0 48.7 100.0 22.8 45 1 24.0 8.1 51.3
< A =] >

= Xk 100.0 68.7 100.0 15.6 46.2 29.7 8.5 31.3
(0] N 100.0 35.0 100.0 4.7 42.7 10.1 2.4 65.0
< 9 g 4 >

15 - 29 Al 100.0 46.8 100.0 33.9 54.2 9.2 2.7 53.2
30 - 839 Al 100.0 69.9 100.0 28.0 44.8 24 1 3.1 30.1
40 - 49 Al 100.0 66.6 100.0 22.5 45.9 26.9 4.7 33.4
50 - 59 Al 100.0 54.3 100.0 21.9 40.9 27.8 9.5 45.7
60 - 69 Al 100.0 41.6 100.0 20.9 39.3 28.0 11.8 58.4
70 - 79 Al 100.0 30.8 100.0 21.3 37.4 26.3 15.0 69.2
8 0 A o & 100.0 17.7 100.0 19.9 36.1 23.9 20.1 82.3
< 8 3 4 >

= = ol of 100.0 31.1 100.0 22.7 36.8 26.2 14.4 68.9
= = 100.0 37 .1 100.0 22.6 42 .6 25.9 9.0 62.9
) = 100.0 64.9 100.0 27.0 46.6 22.2 4.2 35.1
CH = 0l &f 100.0 70.4 100.0 26.3 48.6 21.3 3.8 29.6
< E QO A EH Y >

] =S 100.0 51.6 100.0 28.1 5.5 13.8 2.7 48 .4
= il ? 100.0 56.0 100.0 24.5 42.0 26.1 7.3 44.0
Al E 100.0 25.7 100.0 31.3 41.8 18.6 8.3 74.3
Ol s 100.0 66.7 100.0 17.9 39.2 32.3 10.6 8.8
<FH S H4HY>

F fos! 100.0 64.0 100.0 20.9 45 1 26.9 7.1 36.0
] F fos! 100.0 33.8 100.0 38.1 44.8 12.5 4.5 66.2
< 7 o 4 >

& 2 / &2 2 100.0 72.9 100.0 21.8 47.9 25.8 4.5 27 .1
Al £ 100.0 77.5 100.0 22.9 50.9 22.6 3.6 22.5
A "l A/ DY 100.0 64.9 100.0 29.2 46.0 20.4 4.4 35.1
= = o A 100.0 49.4 100.0 18.2 38.3 30.7 12.8 50.6
Ja s /I A 100.0 81.2 100.0 14.9 49.2 30.3 5.5 18.8
Er = L 2 100.0 57.5 100.0 20.8 41.2 27.8 10.2 42.5
= ol 100.0 100.0 100.0 = 31.1 68.9 = =
< & 5 8 >

50 ¢ & o] ot 100.0 35.5 100.0 24.0 2.7 19.7 13.5 64.5
50 - 1009 & 100.0 51.4 100.0 20.5 38.5 27.9 13.2 48.6
100 - 2008 & 100.0 69.3 100.0 16.8 43.1 30.2 9.8 30.7
200 - 30083 100.0 77.8 100.0 14.3 43.2 35.1 7.4 22.2
300 - 4002t 100.0 78.9 100.0 171 44.8 32.2 5.9 21.1
400 - 60002+ 100.0 80.9 100.0 19.4 49.9 28.3 2.4 19.1
600 - 80093 100.0 84.5 100.0 9.3 39.4 39.6 11.6 15.5
800 2H& O & 100.0 68.7 100.0 12.9 44 .9 32.9 9.4 Sl &
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0l J &0l ACHOIF A= X<H)

datdE W =Pl Et AI&E

< X 9 g >

Al Xl < 100.0 23.6 100.0 72.5 8.0 5.6 3.3 10.6 76.4
= Xl CE 100.0 12.7 100.0 44 1 29.0 9.8 4.5 12.7 87.3
< A =] >

= Xt 100.0 18.2 100.0 59.8 17.5 6.8 4.3 11.7 81.8
O Xt 100.0 1.7 100.0 52.1 22.7 11.5 2.3 11.4 88.3
< ¢ g g >

15 - 29 Al 100.0 51.0 100.0 55.8 16.7 11.4 6.4 9.6 49.0
30 - 39 Al 100.0 35.3 100.0 59.1 21.7 4.6 4.3 10.3 64.7
40 - 49 Al 100.0 22.8 100.0 61.0 16.1 7.7 2.6 12.5 77.2
50 - 59 A 100.0 1.4 100.0 57.4 20.5 6.6 2.6 12.8 88.6
60 - 69 A 100.0 4.0 100.0 46.0 18.1 12.9 2.5 20.5 9.0
70 - 79 Al 100.0 2.2 100.0 60.8 3.9 17.6 4.4 13.3 97.8
8 0 Al 0l & 100.0 0.6 100.0 66.8 33.2 = = = 99.4
< & =& 4 >

= Z 0 of 100.0 2.9 100.0 67.6 8.1 8.6 1.5 14.2 97 .1
ES = 100.0 6.8 100.0 45.8 11.5 6.9 5.4 30.4 93.2
il = 100.0 21.3 100.0 55.8 20.3 10.3 4.5 9.0 78.7
CH £ 0 & 100.0 35.1 100.0 60.5 19.0 5.6 8.5 11.4 64.9
< E QO A E} Y >

0] =S 100.0 38.1 100.0 49.8 22.8 12.6 7.4 7.5 61.9
= i} ? 100.0 17.5 100.0 61.5 17.3 6.4 3.1 1.7 82.5
Al 4 100.0 2.8 100.0 45.3 23.9 9.6 2.5 18.7 97.2
0l =) 100.0 19.9 100.0 58.9 13.4 4.2 2.0 21.6 80.1
<FH S H4HYE>

F A 100.0 19.0 100.0 59.6 19.2 6.3 3.4 11.5 81.0
0l F 53] 100.0 9.2 100.0 50.3 13.8 16.2 6.9 12.8 90.8
< X o 4¢84 >

& 2/ = 2 100.0 31.2 100.0 58,8 23.8 8.0 3.6 11.3 68.8
At 2 100.0 30.2 100.0 61.4 22.0 6.9 3.7 5.9 69.8
M Hl A/ = Y 100.0 21.1 100.0 61.0 22.0 5.4 = 11.5 78.9
= 9 o o/ 100.0 3.8 100.0 60.5 14.8 9.0 2.8 12.9 9.2
Ja s /I A 100.0 29.9 100.0 65.6 13.3 3.2 5.8 12.2 70.1
Er = T £ 100.0 13.3 100.0 62.0 11.4 8.1 = 18.5 86.7
= ol 100.0 10.2 100.0 = = = = 100.0 89.8
< & 5 € >

50 2 & ol ot 100.0 6.4 100.0 48.6 3.0 26.3 12.1 10.1 93.6
50 - 100023 100.0 6.9 100.0 46.2 24.7 12.0 6.2 10.8 93.1
100 - 20092+ & 100.0 14.2 100.0 62.7 13.6 5.8 1.4 16.4 85.8
200 - 300923 100.0 22.1 100.0 59.5 22.9 4.1 2.7 10.8 77.9
300 - 4002t& 100.0 28.0 100.0 58.4 22.9 3.0 4.3 11.4 72.0
400 - 60092t& 100.0 30.6 100.0 63.9 12.2 9.8 3.7 10.4 69.4
600 - 80023 100.0 38.8 100.0 62.1 19.1 12.7 2.5 3.6 61.2
800 9+& O & 100.0 19.2 100.0 32.8 36.1 12.9 5.5 12.7 80.8
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< X 9 48 >

Al Xl < 100.0 16.5 35.0 15.6 18.1 8.5 6.3
= Xl < 100.0 17.9 20.6 28.7 21.5 9.8 1.5
< A =] >

= Xk 100.0 14.9 28.7 22.8 20.9 9.0 3.5
(0] Xk 100.0 26.8 24.0 19.1 14.9 9.4 5.7
< g9 g8 g >

15 - 29 | 100.0 21.6 17 .1 35.0 9.7 14.6 2.1
30 - 39 Al 100.0 14.2 32.6 20.2 26.2 5.7 1.0
40 - 49 Al 100.0 12.0 30.9 19.8 25.9 9.4 2.1
50 - 59 Al 100.0 27.7 24.6 17.8 13.2 8.6 8.1
60 - 69 Al 100.0 20.4 28.4 18.0 2.6 10.3 20.3
70 - 79 A 100.0 22.0 34.8 4.4 4.4 8.3 26.0
80 M O & 100.0 - - - 33.2 - 66.8
< 8 3 4 >

S = 0l ot 100.0 22.7 30.0 12.2 1.2 5.8 28.0
=S = 100.0 18.6 21.8 18.1 13.5 17.7 10.3
i = 100.0 18.5 24.5 21.4 21.9 10.5 3.3
CH = ol & 100.0 15.3 30.9 24.3 21.0 7.5 0.9
<E QA HYE>

0l =S 100.0 20.8 21.9 39.4 3.0 11.8 3.1
= alil ? 100.0 14.9 29.4 16.6 26.5 9.0 3.6
Al ) 100.0 21.6 31.2 7.9 5.0 11.9 22.3
Ol =) 100.0 28.1 29.1 33.1 9.7 = =
<FH S H4HYE>

F 2] 100.0 15.0 29.2 22.8 20.7 9.5 2.9
0l F 2] 100.0 30.6 19.8 18.0 14.6 6.8 10.2
< 73 g ¢ >

& 2 / &2 2 100.0 16.1 22.4 19.6 26.0 14 .1 1.9
Al £ 100.0 12.4 32.9 20.6 23.0 7.0 4.0
N Bl A/ B OH 100.0 12.8 33.6 23.4 19.7 9.7 0.8
= =) o & 100.0 11.4 37.1 23.9 8.0 7.3 12.2
Ja s /I A 100.0 17.2 31.5 24.8 17.6 7.2 1.8
Er = T £ 100.0 15.8 27.9 32.5 15.6 3.1 5.1
= ol 100.0 = = 100.0 = = =
< & 5 g >

50 ¢ & 0| ot 100.0 20.8 24.7 18.8 12.6 9.3 13.8
50 - 10092t & 100.0 28.8 16.0 27 .1 9.5 12.7 5.9
100 - 2002+ & 100.0 16.4 28.9 30.4 6.6 11.9 5.7
200 - 30092+ 100.0 18.9 32.8 19.1 20.5 6.2 2.4
300 - 40092t 100.0 11.4 28.2 21.4 30.0 8.3 0.7
400 - 6002+t 100.0 17.8 25.9 16.3 25.7 13.4 0.8
600 - 80002+t 100.0 9.7 23.6 27.3 27.5 2.9 8.9
800 ot& O & 100.0 23.2 27.5 7.2 36.5 = 5.5
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< X 9 48 >

Al Xl g 100.0 7.7 54.8 13.8 17.9 5.4 0.4
= Xl g 100.0 8.9 50.1 12.5 22.9 5.0 0.6
< A =] >

= Xt 100.0 8.5 51.6 13.9 19.9 5.6 0.4
O Xt 100.0 8.4 52.1 12.2 22.1 4.6 0.6
< ¢ g g >

15 - 29 | 100.0 8.3 52.9 13.8 18.6 5.8 0.6
30 - 39 Al 100.0 6.5 56.2 10.8 21.0 5.1 0.4
40 - 49 Al 100.0 7.2 54.5 12.3 20.9 5.0 0.1
50 - 59 Al 100.0 7.6 53.8 13.3 20.2 4.5 0.5
60 - 69 A 100.0 10.5 47.0 13.2 22.9 6.0 0.4
70 - 79 Al 100.0 11.4 44.0 15.4 23.4 4.8 0.9
8 0 Al 0l & 100.0 11.4 45.6 13.6 24.5 3.0 1.8
< & 8 4 >

S = 0l ot 100.0 10.7 46.5 13.7 23.9 4.4 0.9
= e 100.0 8.2 49.5 13.7 22.3 6.0 0.5
) = 100.0 8.1 53.3 13.3 19.6 5.3 0.4
CH £ 0 & 100.0 6.4 58.5 11.3 18.2 5.3 0.3
<E QA HYE>

0l = 100.0 8.0 51.6 14.9 19.3 5.9 0.4
= il ? 100.0 8.1 52.9 12.1 21.7 4.8 0.4
Al 4 100.0 1.2 47 .4 13.7 21.7 4.4 1.5
Ol = 100.0 9.3 49.8 16.0 16.4 8.1 0.2
< H Y A EHE Y>>

% o 100.0 7.9 52.4 12.3 22.0 5.0 0.4
i = o 100.0 9.3 51.1 14.0 19.5 5.3 0.7
< 73 g ¢ >

& 2 / &2 2 100.0 6.7 56.9 9.8 20.8 5.6 0.2
At 2 100.0 6.0 60.8 11.6 16.4 4.6 0.6
N Hl A/ = 0y 100.0 5,5 56.0 11.5 21.1 5.8 0.1
= d of sl 100.0 9.3 46.7 13.8 24.9 4.9 0.5
a s / 21 A 100.0 6.4 52.0 14.9 20.8 5.3 0.4
Er = T £ 100.0 12.3 49.2 11.0 23.8 3.2 0.4
= ol 100.0 34.8 39.3 = 25.9 = =
< & 5 g >

50 2 & ol ot 100.0 12.6 447 12.6 22.7 5.9 1.4
50 - 1000t 3& 100.0 11.2 48.0 13.9 22.2 4.1 0.6
100 - 20092+ & 100.0 10.4 50.5 12.5 19.5 6.6 0.5
200 - 30092+3& 100.0 6.2 51.9 14.9 21.5 5.1 0.3
300 - 40092t 100.0 7.4 58.2 11.1 18.2 5.2 =
400 - 6002+t 100.0 5.8 59.8 14.5 16.0 4.4 =
600 - 80023 100.0 3.4 62.1 8.3 19.5 3.2 3.5
800 o-& O & 100.0 8.1 54.4 11.8 21.5 4.3 =

oo E T | =



37. ¥AE &84 MYY N FE AIBOH= 284

(S @ %)
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0L ot OIFEEYE 22 o
=g SHXICH ACH e

s} A 100.0 80.8 100.0 7.8 31.2 28.7 20.0 5.2 7.0 19.2 100.0 2.2 4.1 86.2 7.6
< AN g9 g >

Al N Bl 100.0 91.8 100.0 4.1 27.1 29.7 25.2 5.6 8.3 8.2 100.0 1.6 3.2 95.3 =
= Xl B 100.0 75.0 100.0 10.2 34.0 28.1 16.6 5.0 6.1 25.0 100.0 2.3 4.2 84.6 8.9
< o =] >

et Xt 100.0 82.0 100.0 7.3 29.2 30.0 20.7 5.4 7.4 18.0 100.0 1.9 4.0 87.1 7.0
] Xt 100.0 77.8 100.0 9.3 37.1 25.1 18.0 4.8 5.7 22.2 100.0 2.8 4.2 84.1 8.8
< o g g >

15 - 29 Al 100.0 97.9 100.0 3.1 22.6 23.4 21.9 1.8 17.2 2.1 100.0 - 4.0 56.0 -
30 - 39 Al 100.0 92.8 100.0 3.6 18.9 33.3 27.9 8.2 8.1 7.2 100.0 7.8 13.1 69.1 10.0
40 - 49 Al 100.0 86.7 100.0 5.6 25.3 33.1 22.6 5.8 7.6 13.3 100.0 3.4 10.3 80.8 5.5
50 - 59 Al 100.0 79.1 100.0 8.1 34.2 27.4 20.2 4.2 5.9 20.9 100.0 2.6 4.5 84.4 8.6
60 - 69 Al 100.0 74.6 100.0 10.5 41.0 26.9 14.9 3.0 3.7 25.4 100.0 1.2 1.2 87.83 10.4
70 - 79 Al 100.0 68.6 100.0 14.7 40.3 25.9 12.5 2.1 4.6 31.4 100.0 1.2 0.6 92.6 5.6
8 0 A ol & 100.0 67.2 100.0 11.8 47.5 19.4 13.6 2.0 5.6 32.8 100.0 1.2 1.2 91.6 6.0
< & g 48 >

S = 0l of 100.0 69.4 100.0 11.4 42.4 24.3 15.1 2.1 4.7 30.6 100.0 1.5 0.9 87.9 9.7
= = 100.0 78.7 100.0 10.3 36.4 27.9 14.9 5.8 4.7 21.3 100.0 3.7 3.2 88.1 5.0
i = 100.0 85.9 100.0 6.8 26.0 30.0 23.5 6.1 7.5 14.1 100.0 2.8 7.9 83.6 5.8
CH = 0l A 100.0 91.8 100.0 3.9 23.0 32.3 23.5 7.3 9.9 8.2 100.0 2.5 13.6 80.4 8.5
< E Qo & Ha ¥ >

0l = 100.0 91.2 100.0 4.8 24.4 23.2 25.2 9.8 12.6 8.8 100.0 = 17.1 54.7 28.3
= B ? 100.0 82.2 100.0 7.1 29.1 31.1 21.0 5.1 6.6 17.8 100.0 2.5 4.2 87.3 6.0
A E 100.0 70.6 100.0 12.6 43.5 23.3 13.3 2.9 4.4 29.4 100.0 2.0 1.3 88.2 8.5
0l = 100.0 86.0 100.0 6.4 29.8 28.5 20.5 5.3 9.4 14.0 100.0 = 10.7 86.5 2.8
< H Y &4 H 8>

F A 100.0 82.0 100.0 7.0 30.4 29.7 20.2 5.6 7.1 18.0 100.0 1.9 5.0 85.2 7.8
0l F A 100.0 77.6 100.0 10.4 33.8 25.8 19.4 4.2 6.5 22.4 100.0 2.8 1.7 88.6 6.9
< 7 o4 g >

& 2 / =2 2 100.0 90.1 100.0 6.2 26.4 26.6 23.5 5.9 11.4 9.9 100.0 1.6 6.6 90.1 1.8
A £ 100.0 92.8 100.0 5.1 21.4 40.1 21.6 5,6 6.5 7.2 100.0 4.4 29.7 53.1 12.8
A odl A& / B 0of 100.0 87.2 100.0 5.1 28.1 32.6 22.7 5.5 5.9 12.8 100.0 5.5 11.5 79.3 3.7
= & o e} 100.0 64.2 100.0 12.2 43.5 26.2 11.5 3.9 2.8 3.8 100.0 0.6 1.8 89.3 8.3
| S /Dl A 100.0 95.7 100.0 3.8 24.4 29.5 26.2 8.2 8.0 4.3 100.0 - 5.0 84.6 10.4
E = 5 2 100.0 84.5 100.0 5.9 31.2 27.3 20.3 4.8 10.5 15.5 100.0 9.6 10.2  66.0 14.2
= ol 100.0 100.0 100.0 = - 100.0 = = = - 100.0 1.9 5.0 85.2 7.8
< A 5 8 >

50 o & 0] ot 100.0 71.3 100.0 14.1 38.7 22.5 16.0 8.2 5.6 28.7 100.0 2.0 1.7 86.1 10.2
50 - 100¢%2 & 100.0 73.9 100.0 8.4 41.3 25.3 15.1 4.5 5.4 26.1 100.0 2.4 2.1 83.7 11.9
100 - 200¢0QH& 100.0 80.8 100.0 7.9 32.4 28.9 18.3 4.8 7.7 19.2 100.0 2.0 6.3 85.6 6.1
200 - 300%2t¥& 100.0 88.3 100.0 5.9 25.3 32.2 23.5 5.8 7.3 11.7 100.0 3.3 1.1 9.7 2.9
300 - 4002t & 100.0 87.0 100.0 5.7 21.9 33.4 24.0 7.8 7.1 13.0 100.0 1.7 11.6 83.5 3.2
400 - 6002t 100.0 92.0 100.0 2.9 24.4 29.5 27.6 6.5 9.1 8.0 100.0 3.9 9.7 86.3 =
600 - 8002t & 100.0 83.6 100.0 6.9 28.5 28.1 28.1 2.7 5.9 16.4 100.0 o 14.9 85.1 =
800 o ol &t 100.0 77.8 100.0 3.6 32.2 36.0 9.0 6.7 12.5 22.2 100.0 = - 100.0 =
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< X 9 ¢ >
Al Xl < 100.0 12.7 43.9 40.1 0.9 2.1 0.3
= Xl > 100.0 13.2 37.5 41.4 3.4 3.2 1.2
< | =] >
= \; 100.0 9.2 30.9 51.7 3.5 3.7 1.0
Xk 100.0 16.8 48.9 30.3 1.5 1.9 0.7
< o g 4 >
15 - 29 Al 100.0 15.2 53.6 26.8 0.6 3.7 0.1
30 - 39 Al 100.0 10.8 21.5 64.2 1.1 2.0 0.6
40 - 49 Al 100.0 10.8 23.2 61.5 1.4 2.6 0.6
50 - 59 Al 100.0 11.1 28.7 53.4 2.6 3.2 0.9
60 - 69 Ml 100.0 13.4 48.6 27.8 5.8 3.1 1.4
70 - 79 Al 100.0 16.5 63.8 9.8 5.8 2.2 2.0
8 0 A ol & 100.0 18.0 69.0 7.8 2.3 0.7 2.3
< & 38 4 >
= = ol of 100.0 15.9 58.3 16.3 4.9 2.8 1.8
= = 100.0 16.6 46.3 29.7 2.9 3.7 0.8
) = 100.0 10.6 33.7 50.5 1.7 3.0 0.6
CH = 0l &f 100.0 10.1 20.5 67.4 0.2 1.8 =
<E QA HYE>
] = 100.0 13.8 54.7 26.5 0.7 4.0 0.3
= il 2 100.0 11.6 29.6 52.1 3.2 2.6 0.9
Al S 100.0 18.4 66.7 9.6 2.4 1.3 1.6
Ol s 100.0 14.6 5.8 44.8 1.8 2.2 1.4
<FH Y HHYE>
F fos! 100.0 9.8 29.0 54.6 3.2 2.5 0.9
] F fos! 100.0 17.7 55.9 21.1 1.5 3.2 0.7
< 7 o ¢ >
& 2 / 2 2 100.0 9.1 16.0 721 0.7 1.3 0.8
Al £ 100.0 8.6 16.2 73,5 0.3 1.2 0.1
A "l A/ DY 100.0 10.3 28.1 56.7 1.6 3.3 -
= =] (] {2 100.0 9.5 39.7 39.3 7.1 2.4 2.0
J s /I A 100.0 8.4 19.4 66.8 1.3 3.8 0.3
Er = L 2 100.0 13.9 44 .9 34.0 2.4 3.8 1.0
= ol 100.0 25.9 8.9 65.3 = =
< & 5 4 >
50 ¢ & o] ot 100.0 17.2 67.2 7.1 4.4 2.1 2.0
50 - 10092 & 100.0 13.6 52.1 22.3 6.4 3.9 1.7
100 - 2008 & 100.0 8.6 33.4 51.7 3.6 1.8 0.9
200 - 30083 100.0 5.9 15.5 71.5 2.9 3.5 0.7
300 - 400083 100.0 7.3 1.1 77.8 2.1 0.9 0.8
400 - 60002+ 100.0 6.7 9.8 80.2 0.7 2.3 0.3
600 - 80093 100.0 9.7 10.5 76.8 1.8 1.3 -
800 2+& O & 100.0 41 14.6 75.4 2.2 1.4 2.3
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< X 9 g >

Al Xl < 100.0 5.5 31.5 49 .1 11.2 2.6 100.0 3.5 26.2 55.1 12.9 2.2
= Xl CE 100.0 4.2 27.5 48.5 14.9 5.0 100.0 2.1 18.3 52.1 20.9 6.5
< A =] >

= Xt 100.0 49 28.2 49.0 13.6 4.4 100.0 29 20.8 53.3 17.8 5.1
O Xt 100.0 46 29.8 485 13.4 3.8 100.0 25 21.8 53.1 17.9 4.7
< ¢ g g >

15 - 29 Al 100.0 3.6 26.8 51.1 14.3 4.2 100.0 1.5 13.3 55.6 22.8 6.8
30 - 39 Al 100.0 4.5 26.0 50.7 13.6 5.2 100.0 1.9 13.0 52.2 24.8 8.1
40 - 49 Al 100.0 4.4 28,9 49.8 12.6 4.3 100.0 2.4 17.8 52.1 221 5.5
50 - 59 A 100.0 5.2 30.6 46.7 12.7 4.7 100.0 29 186 51,5 21.4 5.6
60 - 69 Al 100.0 50 34.0 453 13.0 2.7 100.0 28 215 546 17.5 8.5
70 - 79 Al 100.0 6.2 29.8 47.6 13.3 3.1 100.0 4.5 20.4 547 16.7 3.8
8 0 Al 0l & 100.0 6.5 28.3 449 175 2.9 100.0 3.3 242 50.7 18.6 3.2
< & =& 4 >

= Z 0 of 100.0 50 30.6 46.6 14.1 3.7 100.0 3.4 225 49.9 19.3 4.9
= = 100.0 4.6 28.7 495 13.4 3.8 100.0 3.1 214 51.7 19.3 4.5
il = 100.0 4.3 28.1 50.3 13.0 4.3 100.0 2.1 20.5 556 16.5 5.2
CH £ 0 & 100.0 49 28,5 485 13.5 4.6 100.0 2.2 20.8 55.3 17.0 4.7
< E QO A E} Y >

0] =S 100.0 3.7 27.8 50.9 14.0 3.6 100.0 2.1 20.6 56.9 17.4 2.9
= i} ? 100.0 4.9 29.7 48.1 13.0 4.3 100.0 2.7 21.5 52.0 18.0 5.7
Al S 100.0 6.0 28.8 46.7 14.9 3.6 100.0 3.6 22.3 51.3 18.4 4.4
0l =) 100.0 3.8 24.0 51.5 14.8 5.8 100.0 2.2 17.6 58.0 16.7 5.4
<FH S H4HYE>

= 2 | 100.0 4.6 29.1 48.1 13.7 4.6  100.0 2.4 209 5.7 188 52
0l = 2 | 100.0 4.9 28.8 49.7 13.2 3.4  100.0 3.0 21.9 540 165 45
< X o 4¢84 >

& 2/ = 2 100.0 4.4 30.9 46.6 12.7 5.5 100.0 1.6 211 57.0 15.6 4.6
At 2 100.0 4.7 31.0 49.1 12.4 2.8 100.0 3.1 23.3 57.1 14.3 2.1
M Hl A/ = Y 100.0 4.8 29.0 48.0 13.6 4.7 100.0 2.8 21.8 52.8 18.1 4.4
= 9 o o/ 100.0 45 284 46.0 15.6 5.3 100.0 2.6 19.2 477 22.6 7.8
Ja s /I A 100.0 5.1 29.0 49.4 12.6 3.9 100.0 2.2 21.8 54.6 17.5 4.0
Er = T £ 100.0 4.0 26.9 54.3 12.3 2.5 100.0 2.4 21.1 52.8 20.2 .5
= ol 100.0 8.9 17.7 73.4 = = 100.0 = - 100.0 = =
< & 5 € >

50 2 & ol ot 100.0 6.1 29.7 447 15.0 4.5 100.0 3.8 22.7 49.1 18.2 6.2
50 - 100023 100.0 6.3 309 449 152 2.7 100.0 3.8 21.2 494 211 4.5
100 - 20092+ & 100.0 4.7 27.6 48.7 13.7 5.4 100.0 2.2 228 51.4 18.1 5.6
200 - 300923 100.0 51 26.3 51.5 13.1 4.0 100.0 3.2 17.4 5.9 17.9 4.6
300 - 4002t& 100.0 4.0 28.6 51.2 13.0 8.3 100.0 2.5 20.2 B55.7 18.1 3.5
400 - 60092t& 100.0 4.8 33.0 49.7 10.2 2.3 100.0 1.8 27.4 50.2 17.4 3.2
600 - 80023 100.0 59 26.6 49.0 9.6 8.9 100.0 3.6 26.9 46.2 158 7.5
800 9+& O & 100.0 59 28.0 50.3 8.7 7.3 100.0 1.4 269 50.7 14.1 7.0
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< X 9 g >

Al Xl < 100.0 2.8 17.9 55.2 19.6 4.6 100.0 2.7 13.6 40.1 30.5 13.0
= Xl CE 100.0 2.4 16.8 52.2 22.3 6.3 100.0 4.7 20.1 46.7 21.0 7.5
< A =] >

= Xt 100.0 2.7 16.5 52.9 21.7 6.2 100.0 4.1 16.8 42.7 25.4 11.0
O Xt 100.0 2.4 17,9 53.8 20.8 5.1 100.0 3.8 185 457 23.8 8.2
< ¢ g g >

15 - 29 Al 100.0 1.5 13.3 55.6 22.8 6.8 100.0 2.6 12.9 42.6 29.3 12.7
30 - 39 Al 100.0 1.9 13.0 52.2 24.8 8.1 100.0 2.8 13.9 40.6 29.3 13.4
40 - 49 Al 100.0 2.4 7.8 52.1 22.1 5.5 100.0 3.7 16.7 434 259 10.3
50 - 59 A 100.0 2.9 18.6 51.5 21.4 5.6 100.0 4.2 19.3 43.3 23.2 10.0
60 - 69 Al 100.0 2.8 21,5 546 17.5 8.3 100.0 55 24.0 46.1 19.8 4.6
70 - 79 Al 100.0 4.5 20.4 547 16.7 3.8 100.0 58 21.5 50.9 17.2 4.6
8 0 Al 0l & 100.0 3.3 24,2 50.7 18.6 3.2 100.0 6.1 23.9 50.6 15.9 8.5
< & =& 4 >

= Z 0 of 100.0 3.5 20.3 545 17.6 4.1 100.0 55 221 49.4 17.9 5.1
= = 100.0 2.2 16.3 54.1 225 4.9 100.0 3.1 17.8 44.1  26.3 8.6
il = 100.0 2.1 16.6 53.2 21.8 6.3 100.0 3.2 158 43,5 254 12.1
CH £ 0 & 100.0 2.2 14.9 516 24.0 7.2 100.0 3.8 144 38.6 30.6 12.6
< E QO A E} Y >

0] =S 100.0 1.9 13.3 56.1 22.7 6.0 100.0 2.5 13.5 44 .2 28.7 1.1
= i} ? 100.0 2.6 18.0 52.0 21.5 5.9 100.0 4.4 18.3 42.8 24.4 10.1
Al S 100.0 3.4 22.0 53.6 16.8 4.1 100.0 4.9 22.1 51.1 18.0 4.0
0l =) 100.0 2.3 13.6 58.9 21.3 3.8 100.0 3.1 17.7 47.9 21.8 9.4
<FH S H4HYE>

= 2 | 100.0 2.4 17.1 528 21.6 6.1  100.0 4.1 18.4 423 251 10.1
0l F 53] 100.0 2.8 17.4 541 20.7 5.1 100.0 3.7 16.5 47.0 23.9 8.8
< X o 4¢84 >

& 2/ = 2 100.0 1.9 17.5 50.2 23.1 7.3 100.0 3.4 17.5 39.9 26.3 12.9
At 2 100.0 3.3 16.3 50.5 24.7 5.1 100.0 4.0 15.3 39.1 31.4 10.3
M Hl A/ = Y 100.0 2.3 7.1 52.4 22.4 5.8 100.0 3.3 16.8 37.0 29.5 13.4
= 9 o o/ 100.0 2.5 19.0 53.9 18.2 6.3 100.0 5.4 24.0 47.7 16.4 6.5
Ja s /I A 100.0 2.0 15.9 52.1 23.5 6.5 100.0 3.4 12.3 37.6 34 .1 12.7
Er = T £ 100.0 2.6 12.8 58.4 22.0 4.2 100.0 3.9 15.7 47 .2 24.5 8.7
= ol 100.0 = - 40.0 60.0 = 100.0 = = 22.2 77.8 =
< & 5 € >

50 2 & ol ot 100.0 3.8 22.4 53.7 15.2 4.9 100.0 50 229 516 15.4 5.1
50 - 100023 100.0 4.4 19.9 53.9 18.9 3.0 100.0 6.7 21.3 46.6 21.1 4.4
100 - 20092+ & 100.0 2.5 16.1 51.4 23.4 6.6 100.0 4.4  19.0 42.0 245 10.1
200 - 300923 100.0 2.5 13.9 55.1 23.6 4.9 100.0 3.7 13.6 427 285 11.6
300 - 4002t& 100.0 2.2 18.7 50.6 23.3 5.2 100.0 3.1 17.7 39.5 27 .4 12.3
400 - 60092t& 100.0 2.7 18.6 49.9 22.1 6.7 100.0 4.0 15,5 33.9 30.5 16.2
600 - 80023 100.0 3.0 25.2 50.0 17.4 4.5 100.0 3.3 205 357 28.4 12.1
800 9+& O & 100.0 1.2 16.4 51.2 22.3 8.9 100.0 4.4 26.2 40.6 14.6 14.2
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< X 9 g >

Al Xl g 100.0 23.3 100.0 9.9 6.5 23.7 59.9 76.7
= Xl <] 100.0 26.6 100.0 20.9 10.2 25.8 43 .1 73.4
< A =] >

= Xt 100.0 30.7 100.0 20.2 9.9 28.5 41.4 69.3
O Xt 100.0 20.1 100.0 12.3 7.4 19.9 60.4 79.9
< ¢ g g >

15 - 29 Al 100.0 26.6 100.0 12.1 5.6 25.9 56.4 73.4
30 - 39 Al 100.0 26.4 100.0 6.0 10.0 29.9 54.2 73.6
40 - 49 Al 100.0 31.8 100.0 10.3 8.4 23.9 57.4 68.2
50 - 59 A 100.0 29.0 100.0 22.1 9.7 26.0 42.3 71.0
60 - 69 A 100.0 23.2 100.0 35.8 12.5 21.0 30.7 76.8
70 - 79 Al 100.0 13.5 100.0 36.9 10.3 20.4 32.4 86.5
8 0 Al 0l & 100.0 8.7 100.0 30.9 12.5 15.6 41.1 91.3
< & =& 4 >

= Z 0 of 100.0 18.0 100.0 30.6 9.5 19.1 40.8 82.0
= = 100.0 28.9 100.0 17.4 11.2 26.7 447 71.1
il = 100.0 27.7 100.0 14.5 8.8 29.5 47.2 72.3
CH £ 0 & 100.0 28.8 100.0 9.6 6.9 22.5 61.0 71.2
< E QO A E} Y >

0] =S 100.0 25,5 100.0 18,8 6.8 26.1 53.7 74.5
= i} ? 100.0 28.7 100.0 17.3 9.9 25.1 a7.7 71.3
Al 4 100.0 9.2 100.0 33.0 5.9 15.7 45 .4 90.8
0l = 100.0 18.7 100.0 20.3 6.0 30.6 43 .1 81.3
<FH S H4HYE>

F A 100.0 27.3 100.0 18.9 9.2 25.3 46.6 72.7
0l F 53] 100.0 22.5 100.0 13.9 8.3 24.7 53.1 77.5
< X o 4¢84 >

& 2/ = 2 100.0 28.4 100.0 10.9 7.7 23.9 57.5 71.6
At 2 100.0 28.2 100.0 4.7 5.8 25.1 64.9 71.8
M Hl A/ = Y 100.0 27.8 100.0 13.5 13.6 20.3 5285) 72.2
= 9 o o/ 100.0 26.0 100.0 31.0 10.7 24.8 33.5 74.0
Ja s /I A 100.0 29.9 100.0 20.0 4.4 32.3 43.2 70.1
Er = T £ 100.0 23.4 100.0 19.7 12.7 26.0 41.5 76.6
= ol 100.0 74 .1 100.0 = = a7.7 52.3 25.9
< & 5 € >

50 2 & ol ot 100.0 11.8 100.0 39.5 13.5 24.3 22.7 88.2
50 - 100023 100.0 22.6 100.0 44.0 10.0 25.5 20.5 77.4
100 - 20092+ & 100.0 26.8 100.0 23.5 11.0 29.3 36.3 73.2
200 - 300923 100.0 30.6 100.0 18.3 11.1 24.8 45.9 69.4
300 - 4002t& 100.0 32.4 100.0 11.0 10.1 32.3 46.6 67.6
400 - 60092t& 100.0 34.9 100.0 12.6 7.1 25.6 54.7 65.1
600 - 80023 100.0 41.4 100.0 9.6 6.3 27 .1 57.0 58.6
800 9+& O & 100.0 25.5 100.0 13.1 8.5 37.8 40.6 74.5
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< X 9 48 >

Al Xl g 100.0 10.6 26.4 57.6 & 2.0
= Xl g 100.0 8.5 36.4 45.4 3.7 6.0
< A =] >

= Xt 100.0 11.4 31.4 49.7 3.7 3.8
O Xt 100.0 6.0 35.2 49.6 3.4 5.8
< ¢ g g >

15 - 29 | 100.0 15.9 27.9 50.8 1.7 3.7
30 - 39 Al 100.0 9.9 34.9 48.8 2.2 4.2
40 - 49 Al 100.0 8.5 27.8 58.5 2.2 3.0
50 - 59 Al 100.0 6.4 35.0 48.4 5.0 5.3
60 - 69 A 100.0 4.4 38.8 42.5 7.5 6.8
70 - 79 Al 100.0 4.7 46.1 34.6 7.0 7.7
8 0 Al 0l & 100.0 5.0 45.1 34.4 5.6 9.9
< & 8 4 >

S = 0l ot 100.0 8.1 40.4 37.0 6.4 8.1
= e 100.0 8.4 36.2 46.2 4.5 4.7
) = 100.0 10.5 30.0 53.1 3.2 3.2
CH £ 0 & 100.0 9.2 28.5 57.6 1.0 3.8
<E QA HYE>

0l = 100.0 16.0 28.9 48.8 1.6 4.7
= il ? 100.0 7.2 33.8 50.4 3.9 4.6
Al 4 100.0 5.8 41.0 40.4 8.5 4.2
0l = 100.0 7.4 33.2 51.8 4.1 3.6
< H Y A EHE Y>>

F A 100.0 10.5 31.4 49 .1 4.3 4.7
0l F A 100.0 7.1 35.6 50.6 2.3 4.3
< 73 g ¢ >

& 2 / &2 2 100.0 8.1 25.3 60.3 3.1 3.2
At 2 100.0 10.9 25.7 61.2 0.8 1.4
N Hl A/ = 0y 100.0 11.0 28.4 54.6 2.9 3.1
s & of sl 100.0 5.6 41.4 35.0 9.3 8.8
a s / 21 A 100.0 23.7 18.1 53.6 0.5 4.1
Er = T £ 100.0 10.5 42.8 42.3 2.3 2.2
= ol 100.0 = 35.8 64.2 =

< & 5 g >

50 2 & ol ot 100.0 4.4 39.7 47.5 4.1 4.3
50 - 1000t 3& 100.0 9.0 42.0 35.4 6.4 7.2
100 - 20092+ & 100.0 10.1 35.2 45.8 6.2 2.8
200 - 30092+3& 100.0 13.4 29.8 49.1 4.3 3.4
300 - 40092t 100.0 8.0 22.3 63.8 4.7 1.2
400 - 6002+t 100.0 15.6 15.1 66.6 0.7 2.1
600 - 80023 100.0 9.7 22.6 63.0 2.3 2.4
800 o-& O & 100.0 5.5 22.6 66.3 = 5.5
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< X 9 48 >

Al Xl g 100.0 4.1 48.9 45.9 0.7 0.3 0.2
= Xl g 100.0 Jo2 31.4 64.5 0.7 0.1 0.2
< A =] >

= Xt 100.0 4.8 44.6 49.4 1.0 0.1 0.1
O Xt 100.0 2.3 31.5 65.4 0.4 0.2 0.2
< ¢ g g >

15 - 29 | 100.0 1.0 85.2 13.7 = 0.1 0.1
30 - 39 Al 100.0 3.7 64.3 30.9 0.8 0.3 =
40 - 49 Al 100.0 6.5 35.8 56.1 1.1 0.3 0.1
50 - 59 Al 100.0 5.4 13.8 79.6 1.1 = 0.1
60 - 69 A 100.0 3.0 3.3 92.7 0.8 0.1 =
70 - 79 Al 100.0 2.0 1.3 95.0 0.7 0.1 0.9
8 0 Al 0l & 100.0 1.3 1.5 9.2 0.7 = 0.2
< & 8 4 >

S = 0l ot 100.0 1.0 5.7 92.4 0.5 0.0 0.3
= e 100.0 2.7 36.5 60.0 0.6 0.1 0.1
) = 100.0 4.7 45.9 47.9 1.2 0.2 0.1
CH £ 0 & 100.0 5.6 69.2 24.5 0.4 0.3 0.0
<E QA HYE>

0l = 100.0 1.5 81.1 17.0 0.1 0.1 0.2
= il ? 100.0 4.7 28.9 65.3 0.9 0.2 0.0
Al 4 100.0 1.0 2.9 94 .4 0.6 0.3 0.8
0l = 100.0 3.7 27.7 67.2 1.4 = =
< H Y A EHE Y>>

F A 100.0 4.5 35.8 58.5 0.8 0.2 0.1
i = o 100.0 2.1 41.1 55.9 0.5 0.1 0.3
< 73 g ¢ >

& 2 / &2 2 100.0 7.4 59.7 31.8 0.6 0.4 0.1
At 2 100.0 5.3 69.5 24.6 0.2 0.2

N Hl A/ = 0y 100.0 6.7 38.7 53.4 1.0 0.1 =
= ¥ o sl 100.0 2.5 9.7 87.1 0.5 = 0.1
a s / 21 A 100.0 3.7 51.6 41.9 2.2 0.2 0.3
Er = T £ 100.0 2.5 17.4 79.1 0.8 0.2 =
= ol 100.0 = 82.3 8.9 = 8.9 =
< & 5 g >

50 2 & ol ot 100.0 1.6 8.4 88.4 0.8 0.3 0.7
50 - 1000t 3& 100.0 2.6 10.9 85.3 0.7 = 0.4
100 - 20092+ & 100.0 5.8 28.5 64.9 0.9 0.1 0.2
200 - 30092+3& 100.0 7.0 39.3 51.7 1.8 0.3 =
300 - 40092t 100.0 7.6 49.0 42.0 0.8 0.6 =
400 - 6002+t 100.0 10.4 56.2 32.0 1.4 = =
600 - 80023 100.0 5.6 54.3 39.4 0.6 = =
800 o-& O & 100.0 11.2 44.9 40.1 3.8 = =
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44. Q{1 O|-8.0151 S O|A|

OIE{ Y 0|BE FS 08 Al
01251 = = 0I5}l

US 30= 1At 1~2A12t  2~3Al 3AIZH e 8=
0|2k 0|2k fj=ls ol gt o1&

) b 100.0 52.7 100.0 15.1 27.9 34.1 13.5 9.4 47.3
< X 9 g >

Al Xl g 100.0 67.0 100.0 13.8 31.0 34.0 12.4 8.8 33.0
= Xl <] 100.0 44.0 100.0 16.3 25.1 34.2 14.5 9.9 56.0
< A =] >

= Xt 100.0 60.4 100.0 13.6 26.0 34.7 15.4 10.3 39.6
O Xt 100.0 45.1 100.0 17.1 30.5 33.2 11.1 8.1 54.9
< ¢ g g >

15 - 29 Al 100.0 92.8 100.0 6.1 22.8 38.0 21.2 12.0 7.2
30 - 39 Al 100.0 87.9 100.0 15.4 30.2 36.2 8.7 9.4 12.1
40 - 49 Al 100.0 65.2 100.0 23.4 31.5 29.6 8.6 6.9 34.8
50 - 59 A 100.0 32.5 100.0 23.8 32.9 28.8 8.2 6.3 67.5
60 - 69 Al 100.0 9.6 100.0 33.7 29.8 16.3 14.8 5.4 90.4
70 - 79 Al 100.0 2.1 100.0 48.4 29.9 6.2 9.3 6.2 97.9
8 0 Al 0l & 100.0 1.3 100.0 11.1 11.2 52.3 25.4 = 98.7
< & =& 4 >

= Z 0 of 100.0 8.0 100.0 25.2 25.6 30.2 11.0 7.9 92.0
= = 100.0 46.8 100.0 15.2 27.4 39.3 12.6 5.5 53.2
il = 100.0 69.5 100.0 17.2 29.2 30.4 14.1 9.1 30.5
CH £ 0 & 100.0 90.5 100.0 1.7 27.0 36.4 13.5 11.4 9.5
< E QO A E} Y >

0] =S 100.0 87.9 100.0 5.7 20.5 40.1 21.0 12.8 12.1
= i} ? 100.0 48.8 100.0 21.0 32.6 30.2 9.0 7.2 51.2
Al 4 100.0 4.5 100.0 27.3 42.7 24.9 1.7 3.4 9.5
0l = 100.0 46.6 100.0 22.4 81 .3 3.5 7.2 7.6 53.4
<FH S H4HYE>

F A 100.0 53.3 100.0 17.7 29.1 33.0 10.1 10.0 46.7
0l F 53] 100.0 51.8 100.0 11.2 26.1 35.6 18.7 8.4 48.2
< X o 4¢84 >

& 2/ = 2 100.0 83.5 100.0 15.6 27.9 31.2 13.3 11.9 16.5
At 2 100.0 91.6 100.0 7.9 27 .1 37.4 11.4 16.2 8.4
M Hl A/ = Y 100.0 61.6 100.0 18.5 27.6 30.7 10.8 12.4 38.4
= 9 o o/ 100.0 17.1 100.0 32.3 31.8 23.2 8.8 3.9 82.9
Ja s /I A 100.0 73.9 100.0 17.0 32.8 40.3 5.5 4.3 26.1
Er = T £ 100.0 37.0 100.0 30.3 31.5 28.5 5.4 4.3 63.0
= ol 100.0 100.0 100.0 8.9 = 77.8 13.4 = =
< & 5 € >

50 2 & ol ot 100.0 9.2 100.0 12.0 27 .1 31.3 14.3 15.3 90.8
50 - 100023 100.0 17.6 100.0 27.9 28.7 32.7 7.5 3.2 82.4
100 - 20092+ & 100.0 43.3 100.0 23.1 27.8 28.1 11.6 9.3 56.7
200 - 300923 100.0 64.7 100.0 18.3 33.9 30.8 8.2 8.8 35.3
300 - 4002t& 100.0 73.6 100.0 17.8 29.9 $.5 10.4 8.5 26.4
400 - 60092t& 100.0 86.5 100.0 14.1 33.1 32.9 12.3 7.6 13.5
600 - 80023 100.0 85.9 100.0 14.0 30.4 32.1 12.2 11.2 141
800 9+& O & 100.0 66.2 100.0 25.4 18.7 20.8 9.5 25.6 33.8
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(S @ %)

< X 9 g >

Al Xl < 100.0 16.6 30.0 38.0 8.2 7.2 100.0 9.0 23.3 39.0 16.2 12.5
= Xl CE 100.0 14.9 29.0 40.4 8.3 7.5 100.0 8.7 20.1 40.0 15.7 15.4
< A =] >

= X+ | 100.0 15.4 30.2 39.0 8.6 6.8 100.0 10.7 24.2 38.6 14.9 11.7
O X+ | 100.0 16.0 28.5 39.6 7.8 8.1 100.0 6.5 18.3 40.8 17.3 17.1
< ¢ g g >

15 - 29 Al 100.0 18.2 32.2 S & 7.6 4.8 100.0 8.6 20.5 38.9 18.6 13.5
30 - 39 Al 100.0 16.0 30.3 40.9 7.4 5.8 100.0 8.8 20.7 42.0 15.6 12.9
40 - 49 Al 100.0 13.4 27.4 40.6 8.9 9.6 100.0 8.2 24.9 39.4 12.7 14.8
50 - 59 Al 100.0 10.6  24.7 40.4 11.8 125 100.0 10.9 21.7 37.0 15.7 14.7
60 - 69 Al 100.0 14.9 21.7 34.5 7.4 215 100.0 10.1 20.3 35.9 10.8 22.9
70 - 79 Al 100.0 12.1 3.1 3.9 15.1 30.9 100.0 18.2 6.2 33.0 17.9 24.7
8 0 Al 0l & 100.0 1.2 25.4 411 - 223 100.0 11.2 25.4 26.3 26.0 11.1
< & =& 4 >

= Z 0 ot | 100.0 0.1 21.7 37.4 8.7 221 100.0 5.3 17.5 28.3 22.8 26.1
= = 100.0 2.1 256 39.6 9.7 13.0 100.0 6.6 15.8 32.4 22.2 22.9
il = 100.0 14.3 28.3 39.3 10.3 7.8 100.0 8.3 19.8 41.6 17.3 13.0
CH £ 0 & 100.0 19.2  33.1 39.2 5.4 3.1 100.0 10.7 26.4 41.3 11.4 10.3
< E QO A E} Y >

0] =S 100.0 18.2 31.6 37.5 7.3 5.4 100.0 8.2 21.3 39.7 17.9 12.9
= i} ? 100.0 14.4 28.4 40.4 8.8 8.0 100.0 9.3 22.3 39.4 14.7 14.3
Al S 100.0 10.6 20.1 33.4 7.9 28.1 100.0 14.6 1.7 35.6 8.3 29.8
0l =) 100.0 7.2 24 1 40.8 11.9 16.0 100.0 6.9 15.2 41.3 18.5 18.6
<FH S H4HYE>

= 2 | 1000 159 29.8 3.1 85 7.7 100.0 9.7 235 39.9 140 128
0l = 2| 100.0 153 28.9 409 7.9 6.9 100.0 76 188 389 189 158
< X o 4¢84 >

& 2/ = 2 100.0 22.1 35.2 30.9 7.2 4.7 100.0 11.6 31.2 35.5 12.8 9.0
At 2 100.0 19.1 355 39.3 4.0 2.1 100.0 11.8 24.2 45.6 11.3 7.1
M Hl A/ = Y 100.0 12.0 26.9 40.5 9.8 10.9 100.0 6.5 19.9 42 .4 14.3 16.9
= 9 o o/ 100.0 5.5 20.5 38.9 11.3 13.8 100.0 10.8 19.5 32.1 16.2 21.5
Ja s /I A 100.0 1.1 28.7 42 .1 10.4 7.6 100.0 9.5 21.2 41.9 16.7 10.7
Er = T £ 100.0 6.6 18.8 43.5 14.2 16.9 100.0 4.3 13.6 40.8 16.4 24.9
= ol 100.0 8.9 22.1 69.0 = = 100.0 = 17.7 73.5 = 8.9
< & 5 € >

50 2 & ol ot 100.0 25.6  14.4 453 10.7 4.0 100.0 20.6 12.9 44.8 13.5 8.2
50 - 100023 100.0 8.1 34.6 40.3 5.6 11.4  100.0 8.9 26.4 39.8 13.3 11.5
100 - 20092+ & 100.0 15.5 24,9 39.2 9.9 10.5 100.0 12.1 19.2 38.7 14.0 16.1
200 - 300923 100.0 15.0 24.9 41.3 8.5 10.3 100.0 8.6 22.7 43.6 12.2 12.9
300 - 4002t& 100.0 18,5 3.5 39.9 8.2 6.9 100.0 10.4 29.2 39.4 10.7 10.2
400 - 60092t& 100.0 20.6 38.7 30.0 7.7 3.0 100.0 14.3 33.0 34.5 10.2 8.0
600 - 80023 100.0 19.6 42.2 28.3 5.6 4.3 100.0 13.4 33.4 31.3 10.7 11.2
800 S+ 0 & | 100.0 8.1 32.6 36.3 8.6 4.5 100.0 14.1 23.2 35.0 13.8 14.0
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46. 2IESY O|§A| E01= 8 T(masy, 2=

< X 9 g >
Al Xl o | 100.0 4.6 1.9 255 21.3 3.8 100.0 2.7 121 244 17.8  43.1
= Xl o | 100.0 3.1 1.3 27.7 21.7 3.3 100.0 5.5 9.0 26.8 7.1 41.7
< A = >
= x| 100.0 3.7 1.1 27.7 21.0 3.5 100.0 6.3 13.1 275 165 36.5
o X+ | 100.0 4.0 2.2 252 221 36.5 100.0 1.4 6.9 23.2 18,5 50.0

15 - 29 Ml 100.0 6.0 17.7 32.6 19.0 24.7 100.0 7.4 16.2 32.1 18.3  26.0
30 - 39 Ml 100.0 3.0 8.7 24.3 26.3 37.7 100.0 2.1 8.2 244 204 448
40 - 49 Al 100.0 2.2 7.6 22.1 22.2 45.9  100.0 2.4 6.0 21.6 145 555
50 - 59 Al 100.0 1.7 7.2 21.2 19.6 50.3 100.0 2.3 52 16.7 145 613
60 - 69 Al 100.0 1.3 4.7 22.5 13.4 58.0 100.0 0.7 8.8 149 121 63.5
70 - 79 Al 100.0 5.8 - 17.5 8.9 67.7 100.0 5.8 6.2 145 58 67.7
8 0 A 0l & | 100.0 - 1.2 62.6 - 26.1  100.0 - 3.6 26.0 - 3.4

< & =& 4 >

= & 0l of 100.0 3.8 18.7 19.4 14.3 43.7 100.0 9.1 20.1 26.5 11.5 32.8
=S = 100.0 5.1 19.3 30.8 14.7 30.1  100.0 5.5 16.5  30.3 16.3  31.4
il = 100.0 3.3 9.0 25.4 22.3 40.0 100.0 4.6 10.3  27.8 16.8  40.4
CH = 0l & 100.0 3.9 10.5 27.2 24 .1 34.4  100.0 2.7 7.2 213 19.1 49.7
< E QO A E} Y >

0] =S 100.0 5.9 17.2 32.4 19.7 24.7 100.0 7.1 16.6 32.3 18.7 25.2
= i} ? 100.0 2.3 8.0 23.0 22.9 43.7 100.0 2.2 6.4 21.3 16.6 53.6
Al 4 100.0 9.8 15.3 16.6 8.3 50.0 100.0 7.1 6.7 21.7 7.9 56.6
0l = 100.0 2.6 3.8 23.0 21.9 48.7 100.0 3.5 9.0 23.7 19.1 44 .8
<FH S H4HYE>

F A 100.0 2.6 7.8 25,8 23.2 41 1 100.0 2.7 7.6 23.8 18.1 47 .8
al 3 g | 100.0 56 17.1 28.6 19.0 20.7 100.0 6.4 147 28.4 16.3 34.2
< X o 4¢84 >

& 2/ = 2 100.0 3.3 12.5 26.5 22.3 35.3 100.0 1.3 6.0 19.1 20.0 53.6
At 2 100.0 4.0 9.1 29.2 30.0 27.7 100.0 2.1 58 22.8 20.2 49.0
N Bl A/ B OH 100.0 2.7 3.9 23.0 23.1 47.3  100.0 2.8 6.9 23.1 16.6  50.6
= =) o & 100.0 1.0 6.5 19.6 17.0 56.0 100.0 6.8 12.1 23.5 11.5  46.2
Ja s /I A 100.0 1.2 6.6 27.5 20.8 44.0 100.0 3.3 11.0 30.7 17.5 37.5
Er = T £ 100.0 2.2 1.5 19.2 23.9 53.1 100.0 1.8 5.8 3,8 20.7 40.9
= ol 100.0 = 8.9 30.4 26.4 34.3 100.0 = 8.9 = 13.4 77.8
< & 5 € >

50 2 & ol ot 100.0 9.4 16.5 33.8 13.0 27.3  100.0 7.1 6.3 27.6 19.9  39.1
50 - 100023 100.0 0.9 11.7 22.8 18.9 45.7  100.0 5.6 8.6 19.6 16.1 50.1
100 - 20092+ & 100.0 5.0 6.7 21.6 22.7 43.9 100.0 4.9 7.7 24.4 18.8  44.2
200 - 300923 100.0 1.9 7.1 25.6 21.0 44.4  100.0 2.0 8.8 26.2 16.9  46.1
300 - 4002t& 100.0 1.6 7.7 27.8 22.7 40.2  100.0 2.7 7.3 22.3 16.8 50.9
400 - 60092t& 100.0 3.3 11.0 22.3 23.6 39.9 100.0 2.9 56 23.2 141 54.2
600 - 80023 100.0 1.5 8.5 25.9 22.5 41.6  100.0 2.5 3.0 10.5 22.4 61.7
800 9+& O & 100.0 2.3 7.1 29.8 18.3 42.4  100.0 2.3 11.8 17.0 7.4 61.6
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< X 9 g >

Al Xl < 100.0 2.8 8.4 18.6 17.6 52.6 100.0 4.5 12.8 31.0 22.0 29.6
= Xl CE 100.0 3.0 7.5 23.5 15.4 50.6 100.0 3.5 10.3 36.2 18.2 31.8
< A =] >

= X+ | 100.0 2.9 7.6 21.9 17.5 50.2  100.0 4.3 1.4 33.6 21.0 29.8
O X+ | 100.0 2.9 8.4 20.2 15.1 53.4 100.0 8.5 11.6 34.0 18.8 32.0
< ¢ g g >

15 - 29 Al 100.0 6.0 15.5 30.8 19.1 28.5 100.0 4.3 14 1 38.9 20.9 21.9
30 - 39 Al 100.0 0.9 4.5 18.6 19.4 56.6 100.0 4.0 10.9 34.6 21.8 28.7
40 - 49 Al 100.0 1.1 2.8 13.8 12.6 69.8 100.0 3.6 10.0 29.1 18.8 38.4
50 - 59 A 100.0 1.0 1.4 11.3 11.0 75.3  100.0 4.6 7.3 25.8 17.5 44.9
60 - 69 Al 100.0 = 2.7 11.6 5.4 80.4 100.0 1.4 10.1 22.3 12.2 54.0
70 - 79 Al 100.0 5.8 6.2 8.2 = 79.8 100.0 2.8 3.1 20.6 18.5 54.9
8 0 Al 0l & | 100.0 = = = 11.2 88.8 100.0 = = 25.4 = 74.6
< & =& 4 >

= Z 0 ot | 100.0 7.4 9.8 17 .1 141 51.5 100.0 4.8 8.8 20.7 16.2 49.6
= Z | 100.0 5.1 12.5 23.9 19.0 39.5 100.0 3.2 9.5 31.4 21.3 34.7
il Z | 100.0 2.4 8.8 21.4 15.2 52.2 100.0 2.5 10.4 31.6 20.9 34.6
CH £ 0 A | 100.0 2.0 5.0 20.4 17 .1 55.5 100.0 5.8 13.8 38.4 19.1 22.9
< E QO A E} Y >

0] =S 100.0 5.8 15.4 30.7 19.2 28.9 100.0 4.7 13.3 39.3 21.8 21.0
= i} ? 100.0 1.0 3.0 14.9 14.8 66.4 100.0 3.6 10.7 30.2 19.0 36.5
Al S 100.0 3.1 11.2 8.7 8.4 68.6 100.0 6.3 3.1 23.2 17.5 50.0
0l =) 100.0 2.0 4.4 20.5 16.8 56.3 100.0 1.7 5.2 31.5 19.5 42 .1
<FH S H4HYE>

= & | 100.0 1.8 4.6 18.4 16.3 58.9 100.0 45 11.0 332 195 31.8
0l F 53] 100.0 4.5 12.9 25.3 16.7 40.5 100.0 3.2 12.3 34.5 20.9 29.2
< X o 4¢84 >

& 2/ = 2 100.0 0.7 5.1 16.2 17.4 60.6 100.0 6.7 14.4 35.1 20.6 23.2
At £ | 100.0 2.4 5.8 23.3 17.4 51.1  100.0 5.4 15.8 40.7 18.4 19.7
M Hl A/ = Y 100.0 2.9 4.6 17 .1 14.3 61.1  100.0 3.9 9.3 29.5 17.5 39.9
= 9 o o/ 100.0 2.1 4.6 21.9 11.5 60.0 100.0 1.7 5.8 29.5 15.9 47 .1
Ja s /I A 100.0 2.2 3.7 17.8 18.3 58.0 100.0 3.7 9.4 31.1 22.7 33.0
Er = T £ 100.0 0.6 2.0 14.9 15,8 67.1 100.0 1.7 1.0 25.0 21.6 50.6
= ol 100.0 = = = 31.0 69.0 100.0 = 8.9 65.1 8.9 17 .1
< & 5 € >

50 2 & 0l 8k ] 100.0 5.7 17.3 39.7 5.0 32.4 100.0 4.8 7.5 46.0 8.9 32.8
50 - 100023 100.0 3.1 3.8 17.9 14.5 60.7  100.0 5.1 11.0 27.5 10.0 46.4
100 - 20092+ & 100.0 2.4 4.4 18.0 18.9 56.3 100.0 4.8 8.8 33.4 21.5 31.5
200 - 300923 100.0 2.0 2.2 17 .1 14.0 64.8 100.0 2.8 9.2 32.6 22.3 33.1
300 - 4002t& 100.0 0.2 2.2 16.2 15.9 65.5 100.0 4.4 12.6 32.2 17.5 &3
400 - 60092t& 100.0 1.7 3.2 13.4 13.2 68.5 100.0 7.5 15.2 28.6 18.5 30.2
600 - 80023 100.0 = 3.0 3.8 13.2 80.0 100.0 5.5 1.7 24.5 19.8 38.5
800 S+ 0 & | 100.0 = 7.6 22.1 10.1 60.3  100.0 8.2 21.5 24.3 20.4 25.6
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< X 9 g >

Al Xl g 100.0 6.2 9.8 21.2 16.6 46.2
= Xl <] 100.0 4.5 7.9 25.9 14.8 46.9
< A =] >

= Xt 100.0 4.9 8.7 23.6 15.9 46.9
O Xt 100.0 5.8 9.0 23.8 15.4 46.1
< ¢ g g >

15 - 29 Al 100.0 5.0 6.7 20.9 14.5 53.0
30 - 39 Al 100.0 6.8 11.5 29.0 18.5 34.0
40 - 49 Al 100.0 5.0 10.6 24.6 15.4 443
50 - 59 A 100.0 4.0 5.4 19.7 15.3 55.6
60 - 69 A 100.0 1.3 8.8 18.9 9.4 61.5
70 - 79 Al 100.0 2.8 9.3 14.5 5.8 67.6
8 0 Al 0l & 100.0 = = 25.4 = 74.6
< & =& 4 >

= Z 0 of 100.0 3.2 3.1 7.2 7.4 79.2
= = 100.0 2.4 3.3 11.3 9.2 73.7
il = 100.0 4.1 8.0 23.5 16.5 48.0
CH £ 0 & 100.0 7.9 12.5 30.5 18.2 30.9
< E QO A E} Y >

0] =S 100.0 4.2 6.4 20.2 15.9 53.3
= i} ? 100.0 6.1 10.4 26.2 15.6 41.7
Al 4 100.0 2.1 19.8 9.6 8.8 59.6
0l = 100.0 5.3 5.7 24.0 16.2 48.7
<FH S H4HYE>

= o 100.0 6.0 10.5 26.6 17.2 39.7
0l = o 100.0 4.2 6.3 19.2 13.4 56.8
< X o 4¢84 >

& 2/ = 2 100.0 5.8 12.1 27.6 20.1 34.4
At 2 100.0 8.8 12.1 33.3 18.9 27.0
M Hl A/ = Y 100.0 6.4 9.7 24.6 15.0 44.3
= 9 o o/ 100.0 3.8 9.6 21.9 9.3 55.4
Ja s /I A 100.0 5.9 9.3 25.2 19.3 40.3
Er = T £ 100.0 2.3 6.2 19.1 14.0 58.4
= ol 100.0 = 8.9 60.6 17 .1 13.4
< & 5 € >

50 2 & ol ot 100.0 7.7 4.2 26.4 12.5 49.2
50 - 100023 100.0 4.6 6.0 30.8 6.3 52.3
100 - 20092+ & 100.0 6.1 9.9 24 .1 14.1 45.7
200 - 300923 100.0 4.1 9.4 27.7 18.7 40.1
300 - 4002t& 100.0 6.0 10.7 29.1 16.8 37.4
400 - 60092t& 100.0 7.7 15.5 26.8 20.5 29.4
600 - 80023 100.0 5.7 10.7 18.0 19.9 45.6
800 9+& O & 100.0 8.6 11.8 30.2 15.4 34.0
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0l et 0| gt 0| gt 0| gt 0| gt 0l gt 0l &t

< X 9 48 >

Al Xl g 100.0 12.1 12.2 26.5 21.9 16.8 8.0 2.3 0.3
= Xl g 100.0 24.5 19.6 22.9 14.4 9.9 6.2 2.2 0.3
< A =] >

= Xt 100.0 10.8 16.4 26.6 20.2 14.6 8.3 2.7 0.4
O Xt 100.0 45.7 18.7 17.5 8.3 6.1 2.8 0.8 0.1
< ¢ g g >

15 - 29 | 100.0 5.9 16.5 37.5 26.7 10.7 2.7 = =
30 - 39 Al 100.0 3.1 6.2 26.7 27.3 24.7 9.7 2.2 0.2
40 - 49 Al 100.0 3.9 8.3 22.3 24.6 20.8 14.2 5.6 0.4
50 - 59 Al 100.0 7.6 15.7 29.5 20.8 13.4 9.0 3.0 1.0
60 - 69 A 100.0 245 30.6 28.8 9.3 4.2 2.2 0.4 0.1
70 - 79 Al 100.0 54.5 27.0 13.6 2.9 1.6 0.3 0.1 =
8 0 Al 0l & 100.0 77.6 16.0 5.6 0.2 0.2 0.4 =

< & 8 4 >

S = 0l ot 100.0 48.8 25.3 16.6 4.8 2.7 1.3 0.5 0.1
= = 100.0 12.5 24.7 29.8 16.6 8.6 5.6 1.8 0.6
) = 100.0 5.1 11.6 31.1 21.7 17.5 10.0 2.4 0.6
CH £ 0 & 100.0 2.7 8.0 22.8 28.8 21.5 11.5 4.6 0.2
<E QA HYE>

0l = 100.0 10.6 18.8 43.2 19.83 7.1 1.0 = =
= alil ? 100.0 8.6 15.2 25.1 21.1 16.8 9.8 3.1 0.4
Al 4 100.0 62.8 20.9 11.2 2.8 1.3 0.8 0.2 =
0l =) 100.0 15,8 22.6 30.3 17.7 8.0 2.8 2.4 0.9
< H Y A EHE Y>>

F A 100.0 10.7 15.4 26.2 20.5 15.3 8.5 2.8 0.4
0l F A 100.0 47 .5 21.7 18.3 6.8 3.6 1.9 0.3 =
< X g 4¢84 >

& 2 / &2 2 100.0 2.7 9.2 24.0 23.8 22.1 12.8 4.5 0.9
At 2 100.0 2.4 6.3 25,8 31.4 22.1 9.3 3.1 =
N Hl A/ = 0y 100.0 5.1 11.8 25.9 22.5 21.8 8.7 4.3 =
= ¥ of sl 100.0 23.5 27.7 25.9 10.8 6.0 4.6 1.3 0.4
a s / 21 A 100.0 2.1 4.7 28.2 30.6 18.2 12.4 3.1 0.6
Er = T £ 100.0 14.6 19.4 30.9 16.8 10.6 5,8 2.0 0.4
= ol 100.0 = = = 20.5 60.4 19.1 = =
< & 5 g >

50 2 & ol ot 100.0 66.7 20.8 9.5 2.7 0.3 0.1 = =
50 - 1000t 3& 100.0 31.3 8.8 25.0 4.9 3.6 1.4 0.4 0.1
100 - 20092+ & 100.0 7.6 20.1 36.0 18.3 10.8 5.4 1.6 0.1
200 - 30092+3& 100.0 2.0 10.1 29.2 27.4 19.4 9.1 2.6 0.3
300 - 40092t 100.0 2.2 4.6 211 26.9 25.3 14.5 5.0 0.5
400 - 6002+t 100.0 0.8 4.9 19.6 29.6 21.6 17.7 5.1 0.6
600 - 80023 100.0 0.9 7.8 10.4 29.4 25.5 15.2 8.7 2.1
800 o-& O & 100.0 1.2 5.8 22.2 23.6 21.1 15.9 6.8 3.4
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50. R T2 SEMT X SEMFTFRans)

A 152t SA0| JA=B 2
X F(F2, |2, JIE)

2-33 472 8~102
< X 94 ¢ >

Al Xl & 100.0 60.4 39.6 100.0 27.6 32.1 20.5 9.3 10.6
= Xl & 100.0 445 5.5 100.0 24.8 30.6 22.5 10.6 1.4
< A =] >

= N 100.0 53.8 46.2 100.0 25.7 30.2 20.8 10.4 13.0
(0] N 100.0 47 .2 52.8 100.0 26.2 32.2 22.6 9.7 9.3
< 6 g 4 >

15 - 29 Al 100.0 76.4 23.6 100.0 26.7 33.6 19.5 9.9 10.3
30 - 39 Al 100.0 751 24.9 100.0 22.7 32.8 24.3 9.7 10.5
40 - 49 Al 100.0 62.6 37.4 100.0 26.4 28.3 23.0 11.0 11.4
50 - 59 Al 100.0 41.3 58.7 100.0 26.4 31.6 21.6 8.1 12.4
60 - 69 Al 100.0 19.8 80.2 100.0 29.9 26.3 19.7 141 9.9
70 - 79 Al 100.0 10.3 89.7 100.0 30.2 28.8 13.8 8. 19.0
8 0 A o & 100.0 5.2 94.8 100.0 .5 22.1 28.5 = 13.8
< 8 3 4 >

= = ol ot 100.0 11.8 88.2 100.0 30.9 Sl ,& 16.7 10.9 10.1
= = 100.0 48.2 51.8 100.0 28.4 36.1 19.2 6.5 9.7
) = 100.0 64.7 SONS 100.0 28.6 30.8 20.2 10.3 10.2
CH = Ol &b 100.0 81.5 18.5 100.0 20.9 30.0 25,8 11.0 12.8
<E QO AHY>

] =S 100.0 76.4 23.6 100.0 24.3 34.0 21.2 10.3 10.3
= HH ? 100.0 48.6 51.4 100.0 26.7 29.4 22.7 9.8 1.4
Al S 100.0 10.2 89.8 100.0 23.1 40.9 10.2 17.9 7.9
0Ol s 100.0 45.8 54.2 100.0 29.4 35.8 13.2 7.2 14.5
<FH Y AHE>

F fos! 100.0 50.1 49.9 100.0 25.9 31.1 211 10.3 11.6
] F fos! 100.0 51.0 49.0 100.0 26.1 1. 22.7 9.6 10.2
< 7 o 4 >

& 2 / &2 2 100.0 75.8 24.7 100.0 21.3 26.3 22.8 11.5 18.1
Al 2 100.0 84.3 15.7 100.0 19.0 34.5 24.7 10.6 11.2
A "l A/ DY 100.0 59.3 40.7 100.0 29.2 30.3 18.3 10.8 1.4
= = o {2 100.0 20.6 79.4 100.0 27.5 35.9 19.3 9.3 8.0
Ja s /I A 100.0 63.6 36.4 100.0 35.6 25.5 21.3 9.6 8.1
Er &= £ 2 100.0 33.4 66.6 100.0 26.7 44 .5 14.4 7.5 6.9
= ol 100.0 86.6 13.4 100.0 = 29.1 56.4 14.5 =
< & 5 48 >

50 ¢ & o] ot 100.0 17 .1 82.9 100.0 20.1 23.9 31.0 11.2 13.8
50 - 1009 & 100.0 25.1 74.9 100.0 25,8 38.3 21.8 7.6 7.0
100 - 2008t & 100.0 43 .1 56.9 100.0 30.9 27 .2 17.3 11.4 13.1
200 - 30092t 100.0 54.6 45 .4 100.0 26.0 28.9 17.6 13.3 14.3
300 - 40002+t 100.0 64.8 35.2 100.0 22.9 27.0 21.4 13.7 15.0
400 - 60003 100.0 80.9 19.1 100.0 29.5 26.1 26.8 4.5 13.2
600 - 80093 100.0 73.5 26.5 100.0 19.2 21.8 25.5 18.8 14.8
800 23 O & 100.0 64.4 35.6 100.0 20.0 32.8 13.6 3.1 30.4
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(H2)9t 2RB N

4~7A | 810
32.2 25.9 . . . . 24.8 111

< X 94 ¢ >

Al Xl & 100.0 100.0 15.9 31.8 26.2 13.1 13.1 100.0 25.6 33.1 25.8 9.4 6.1
= Xl & 100.0 100.0 14.8 325 256 125 14.6 100.0 19.1 34.4 23.9 12.5 10.0
< A =] >

= N 100.0 100.0 16.0 33.4 25.1 11.7 18.7 100.0 21.4 34.0 256 10.3 8.8
(0] N 100.0 100.0 146 30.9 26.6 13.8 14.1 100.0 23.3 33.6 23.3 12.6 7.2
< 6 g 4 >

15 - 29 Al 100.0 100.0 10.3 30.9 27.8 13.3 17.7 100.0 19.0 30.0 26.8 14.8 9.4
30 - 39 Al 100.0 100.0 15.7 326 25.6 13.7 12.4 100.0 23.6 36.5 23.1 8.6 8.2
40 - 49 Al 100.0 100.0 i7.2 31.7 26.2 13.0 11.9 100.0 24.3 334 23.8 11.5 7.0
50 - 59 Al 100.0 100.0 17.4 36.3 23.3 9.9 13.1 100.0 19.7 38.3 25.0 8.1 8.9
60 - 69 Al 100.0 100.0 27.1 28.3 25.3 11.7 7.6 100.0 24.3 38.7 24.5 5.8 71
70 - 79 Al 100.0 100.0 26.5 356 14.6 10.3 13.0 100.0 36.2 32.1 28.0 3.7 =
8 0 A o & 100.0 100.0 36.1 39.4 13.6 7.7 3.3 100.0 56.5 23.5 10.0 = 10.0
< 8 3 4 >

= = ol ot 100.0 100.0 33.3 30.0 20.7 5.5 10.4 100.0 35.7 25.4 26.8 6.0 6.2
= = 100.0 100.0 14.4 33.7 25.4 11.4 15.1 100.0 19.8 41.7 22.3 10.2 6.1
) = 100.0 100.0 15.7 33.4 24.1 13.0 13.8 100.0 26.1 31.9 24.6 8.6 8.7
CH = Ol &b 100.0 100.0 12.4 30.6 28.7 14.2 14.1 100.0 18.6 34.4 252 13.4 8.5
<E QO AHY>

] =S 100.0 100.0 10.9 31.0 28.0 13.0 17.1 100.0 19.0 32.3 254 13.8 9.4
= HH ? 100.0 100.0 17.8 32.0 24.9 12,9 12.3 100.0 23.5 34.4 245 9.8 7.8
Al S 100.0 100.0 245 42.3 16.6 5.9 10.6 100.0 40.2 29.4 24.9 3.4 2.2
0Ol s 100.0 100.0 15.6 42.4 244 12.2 5.6 100.0 24.1 47.3 20.3 2.8 5.6
<FH Y AHE>

F fos! 100.0 100.0 17.2 33.8 244 125 12.0 100.0 23.0 354 23.3 10.6 7.8
] F fos! 100.0 100.0 12.9 30.1 27.7 13.1 6.3 100.0 20.0 30.3 28.1 12.2 9.4
< 7 o 4 >

& 2 / &2 2 100.0 100.0 13.8 27.5 274 13.8 17.5 100.0 18.3 32.4 24.0 13.6 1.7
Al 2 100.0 100.0 13.4 33.7 28.1 14.5 10.2 100.0 20.5 36.5 26.7 12.2 41
A "l A/ DY 100.0 100.0 18.4 32.9 23.3 14.0 11.4 100.0 27.0 34.9 16.5 9.7 12.1
= = o {2 100.0 100.0 25.3 36.0 25.0 5.0 8.8 100.0 30.8 43.3 15.8 5.8 4.9
Ja s /I A 100.0 100.0 21.1 43.8 13.5 11.6 9.9 100.0 28.7 37.9 27.3 3.8 2.3
Er &= £ 2 100.0 100.0 19.9 39.1 23.1 11.3 6.6 100.0 34.9 41.4 19.8 3.9 =
= ol 100.0 100.0 - 33,5 66.5 = - 100.0 = - 3.8 50.5 12.8
< & 5 48 >

50 ¢ & o] ot 100.0 100.0 19.4 36.2 22.4 12.4 9.6 100.0 80 515 242 11.8 4.4
50 - 1009 & 100.0 100.0 21.2 35.6 23.6 7.9 1.7 100.0 32.2 256 22.3 8.7 11.2
100 - 2008t & 100.0 100.0 18.8 29.7 28.9 9.5 13.1 100.0 22.1 39.0 20.8 9.8 8.3
200 - 30083 100.0 100.0 19.4 3.0 21.8 12.6 11.1 100.0 21.8 38.0 18.4 13.5 8.3
300 - 40002+t 100.0 100.0 15.7 30.0 29.2 14.3 10.8 100.0 21.3 27.5 31.2 9.9 10.2
400 - 60003 100.0 100.0 16.2 35.1 23.3 11.0 14.3 100.0 23.0 39.9 23.9 9.0 41
600 - 80093 100.0 100.0 24.3 33.4 30.4 7.0 4.9 100.0 11.2 42.2 435 3.2 =
800 23 O & 100.0 100.0 149 349 11.2 18.2 20.9 100.0 27.0 34.2 253 10.6 2.9
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AL 1H2t S0 Y=L
Mg F0l, SN (S0, RO, SN, HAI S) JIEH( LS 28X S)

112
014
19.2 6.9 4.5

23 12 2-3d 4-7d 8~10d

& l 100.0 100.0 32.4 37.0

E | 12 233 474 8-10&

100.0 12.8 20.2 23.6 20.7 22.7

< X 9 g >
Al Xl < 100.0 100.0 33.7 38.0 18.0 7.1 3.3 100.0 12.0 19.7 22.0 21.7 24.6
< 100.0 100.0 31.4 36.2 20.2 6.8 5.4 100.0 13.4 20.6 24.8 20.0 21.2

g Xt 100.0 100.0 37.2 33.2 19.6 6.8 3.2 100.0 12.1 16.6 225 21.8 27.1
O Xt 100.0 100.0 28.1 40.4 18.8 7.0 5.6 100.0 14.1 26.9 255 18.8 147

15 - 29 Ml 100.0 100.0 26.1 38.4 22.4 9.6 3.4 100.0 8.5 21.0 259 21.1 23.6
30 - 39 Ml 100.0 100.0 28.5 37.6 20.7 6.9 6.3 100.0 16.1 7.3 18.9 21.0 26.7
40 - 49 M| 100.0 100.0 423 3.6 165 51 3.6 100.0 18.0 17.7 227 20.7 20.9
50 - 59 A | 100.0 100.0 387 423 127 27 3.6 100.0 36.5 22.9 145 208 5.3
60 - 69 A | 100.0 100.0 324 3.8 145 103 6.1 100.0 9.5 33.2 285 9.6 19.2
70 - 79 M| 100.0 100.0 295 33.3 248 81 43 100.0 23.4 383 25 157 -
8 0 M o &]| 1000 1000 586 2.7 177 - - 100.0 433 18.4 186 198 -
< 8 2 @ >

= & o 8| 100 1000 477 237 11.0 9.8 7.9 1000 182 211 239 287 8.1
= = | 1000 1000 3.4 365 7.2 7.0 29 1000 95 291 285 159 17.0
in} = | 1000 1000 3.5 3.1 20 64 41 1000 89 19.0 20 204 317
= o & 1000 1000 318 365 197 7. 48 1000 19.0 153 248 22.6 18.4

<E oY EHE>

0l = 100.0 100.0 26.6 37.6 20.9 11.9 3.0 100.0 9.1 19.1 248 225 246
= b = 100.0 100.0 34.4 36.5 18.9 5.3 49 100.0 18.0 21.6 22.6 18.1 19.7
At £ 100.0 100.0 38.1  46.1 - 8.3 7.5 100.0 35.9 28.6 13.1 6.4 15.9
0l = 100.0 100.0 34.9 40.3 20.7 - 4.1 100.0 16.6 25.6 9.2 247 23.9
<HYHHE>

= et 100.0 100.0 37.6 35.8 16.5 6.1 4.0 100.0 15.6 18.7 225 229 20.4
ol = et 100.0 100.0 25.6 38.7 22.7 8.0 5.0 100.0 10.6 21.4 245 19.0 24.5
< = oY @ >

84 2 / & a 100.0 100.0 35.5 37.7 15.4 6.6 4.8 100.0 21.6 15.4 28.4 18.7 16.0
A 2| 1000 1000 3.1 424 123 87 35 1000 21.2 88 231 143 32.6
M8 A/ ® oof| 1000 1000 3.7 406 189 52 1.6 1000 95 2.1 26 301 7.7
= & o 9| 100 1000 41.3 254 23 25 105 1000 19.8 2.6 2.2 135 19.9
o s /2 A 100.0 100.0 49.2 21.0 22.8 5.8 1.2 100.0 11.7 17,5 17.0 26.5 27.4
ct e 5 e 100.0 100.0 48.3 39.2 - 3.2 9.2 100.0 3.1 18.8 17.9 40.3 19.8
= ol 100.0 100.0 - 68.2 31.8 - - 0.0 - o = = =

< & 5 € >

or 2 ol ot 100.0 100.0 40.5 26.6 25.0 2.2 5.7 100.0 53 30.7 30.6 14.8 18.6
50 - 100823 100.0 100.0 39.3 41.0 11.7 4.5 3.5 100.0 6.2 21.6 157 246 31.9
100 - 20092+ & 100.0 100.0 37.6 29.6 21.1 7.9 3.8 100.0 12.0 12.1 23.4 256 26.9
200 - 300923 100.0 100.0 39.8 35.3 19.3 2.9 2.7 100.0 20.0 16.5 20.8 23.5 19.3
300 - 4002t& 100.0 100.0 41.8 33.4 16.3 3.9 4.7 100.0 14.9 27.9 17.6 16.6 23.1
400 - 6002+t 100.0 100.0 44.3 32.2 15.2 5.0 3.2 100.0 15.2 58 37.3 16.4 25.2

600 - 80082t& 100.0 100.0 42.1  44.7 4.5 4.2 4.5 100.0 27.7 27.7 24.0 - 20.6
800 & & o0& 100.0 100.0 21.5 455 253 - 7.8 100.0 27.1 8.0 29.0 244 11.5
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(2, =1, 28 SE eiFats E S JIEH
JN0IE3t ) WEN S | SmE=Ea Al AT HET 3B

< X 9 g >

Al Xl C 100.0 22.5 18.5 25.0 10.6 22.6 0.8
= Xl & 100.0 25.2 17.9 22.8 12.3 20.1 1.5
< A =] >

= N 100.0 26.4 19.6 25.0 10.1 17.9 1.0
o Xt 100.0 22.1 16.7 22.3 13.3 24 .1 1.5
< o g g >

15 - 29 Al 100.0 22.6 21.5 24.3 13.0 17.8 0.9
30 - 39 Al 100.0 25.2 18.8 27 1 9.1 18.8 0.9
40 - 49 Al 100.0 26.2 16.9 28.1 9.6 18.6 0.7
50 - 59 Al 100.0 23.3 19.1 22.2 11.9 22.1 1.5
60 - 69 Al 100.0 23.4 17.2 20.7 12.0 25.6 1.0
70 - 79 Al 100.0 24.8 14.4 18.5 14.4 25.5 2.5
8 0 Al ol & 100.0 24.7 13.8 15.4 14.8 27.5 3.8
< 8 ¥ 4 >

= = (o] of 100.0 23.8 15.9 19.2 13.8 25.1 2.2
= = 100.0 21.4 19.6 23.8 13.1 21.5 0.7
) = 100.0 23.1 20.4 25.0 10.7 19.8 1.0
il = Ol &b 100.0 28.4 16.9 27.3 9.4 17.2 0.8
<E QA HYE>

0] = 100.0 23.6 22.1 24 .1 12.1 17.5 0.6
= alil 2 100.0 25.0 17.2 24.5 11.0 21.1 1.2
Ab ) 100.0 23.4 15.4 17 .1 14.5 26.8 2.7
0l = 100.0 15.2 19.2 27.5 11.2 25.9 1.0
<H S AHE>

F 2] 100.0 25.2 17.9 25.0 11.0 19.9 1.1
0] F ! 100.0 22.7 18.6 21.7 12.7 22.7 1.5
< A g ¢ >

& 2 / =2 2 100.0 26.7 16.8 26.4 10.5 18.3 1.2
Ab £ 100.0 27.5 17.7 25.1 9.4 19.7 0.6
AN oHl A/ Z- DY 100.0 24.4 19.6 25.6 10.3 19.3 0.9
= =] of 21| 100.0 24.5 17 .1 23.7 12.9 20.3 1.5
o s /21 A 100.0 25.6 21.3 27.7 7.4 17.2 0.7
ct = L 2 100.0 22.3 15.8 21.8 12.9 26.8 0.4
= ol 100.0 65.2 = 25.9 8.9 = =
< & 5 g >

50 2t & o] ot 100.0 23.4 18.5 19.1 13.0 22.8 3.2
50 - 1008 & 100.0 25.0 15.5 21.3 13.2 23.6 1.4
100 - 200CQ+t& 100.0 24.5 18.8 23.7 11.2 21.1 0.6
200 - 30092+ 100.0 26.2 19.1 26.2 9.9 17.9 0.7
300 - 4009+t ¥ 100.0 28.4 17 .1 25.0 9.4 19.3 0.8
400 - 6000+t 100.0 26.2 20.2 29.4 8.4 14.9 1.0
600 - 8000+t& 100.0 33.4 11.3 33.9 4.8 15.4 1.3
800 2+H& 0 & 100.0 27.9 14.7 27 .1 5.1 20.9 4.3
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54. EVGIeNIAETF BAZnzx u ruT)

& 6~102 2 148 F

< X 9 48 >

Al Xl & 100.0 50.8 10.4 16.1 4.7 10.2 9.4 49.2
= Xl & 100.0 34.2 7.8 11.1 3.8 5.6 5.8 65.8
< A =] >

= Xt 100.0 49.5 9.4 16.0 5.5 9.4 9.1 50.5
O Xt 100.0 31.5 8.2 10.0 2.8 5.4 5.3 68.5
< ¢ g g >

15 - 29 | 100.0 63.6 15.0 21.4 7.0 9.5 10.6 36.4
30 - 39 Al 100.0 61.3 14.6 19.4 5.9 13.1 8.4 38.7
40 - 49 Al 100.0 50.7 10.0 16.2 5.1 1.1 8.3 49.3
50 - 59 A 100.0 30.7 5.0 9.8 3.6 . 7.1 69.3
60 - 69 Al 100.0 14.5 8.8 3.8 1.0 2.1 4.3 85.5
70 - 79 Al 100.0 6.5 1.7 1.5 0. 0.6 2.5 93.5
8 0 Al 0l & 100.0 3.6 0.1 1.5 = 0.8 1.2 96.4
< & 8 4 >

= Z 0l of 100.0 9.8 2.4 3.0 0.8 1.6 2.1 90.2
= = 100.0 33.1 8.9 1.1 3.0 3.9 6.2 66.9
) = 100.0 51.1 1.7 16.0 5.1 9.7 8.5 48.9
CH = 0l & 100.0 70.1 12.7 22.9 7.9 14.0 12.6 29.9
< E QO A EH Y >

0l = 100.0 65.0 14.6 21.2 7.5 11.0 10.6 35.0
= alil ? 100.0 38.0 8.2 12.1 3.5 7.3 7.0 62.0
Al 4 100.0 6.7 1.4 2.2 0.4 1.1 1.6 93.3
0l =) 100.0 32.2 5.7 9.0 4.6 5.9 7.0 67.8
< H Y A EHE Y>>

F A 100.0 41.8 8.3 13.4 4.6 8.1 7.3 58.2
0l F gl 100.0 38.6 9.5 12.3 3.4 6.3 7.0 61.4
< FH g 4 >

& 2 / = 2 100.0 66. 1 10.9 19.4 7.0 14.4 14.3 33.9
At 2 100.0 72.8 14.0 24.9 9.5 13.5 10.8 27.2
N Hl A/ = Y 100.0 46.3 11.0 14.0 3.8 8.5 9.0 53.7
= =) o ol 100.0 13.0 3.3 4.8 1.7 1.5 1.7 87.0
Ja s /I A 100.0 61.1 1.1 20.6 7.9 12.2 9.4 38.9
Er = T £ 100.0 26.7 6.4 8.6 1.9 6.2 3.6 73.3
= ol 100.0 100.0 8.9 17.7 = 33.6 39.9 =
< & 5 € >

50 2 & ol ot 100.0 9.1 2.8 2.9 0.8 0.9 1.6 90.9
50 - 10003 100.0 13.5 3.4 4.5 0.5 1.6 8.5 86.5
100 - 20092+ & 100.0 35.7 7.3 11.6 4.0 7.0 5.6 64.3
200 - 30083 100.0 50.7 10.6 16.2 4.5 9.3 10.1 49.3
300 - 4002t 100.0 58.8 8.9 18.8 6.6 14.2 10.3 41.2
400 - 60002+t 100.0 72.5 9.5 22.6 8.2 15.2 17 .1 27.5
600 - 8002t& 100.0 75.3 8.8 18.0 6.0 22.5 20.0 24.7
800 9-& O & 100.0 52.4 10.2 17.3 8.6 6.1 10.3 47.6

mono @ IS | 141



55. EINSM&ET B (wurany)

¢ 2~53] & 6~102

< X 9 48 >

Al Xl & 100.0 61.6 12.2 27.0 12.0 8.8 1.6 38.4
= Xl & 100.0 37.2 9.8 16.7 5.6 4.2 0.9 62.8
< A =] >

= Xt 100.0 61.6 12.2 27.0 12.0 8.8 1.6 38.4
O Xt 100.0 37.2 9.8 16.7 5.6 4.2 0.9 62.8
< ¢ g g >

15 - 29 | 100.0 85.5 13.7 33.6 19.1 15.9 3.1 14.5
30 - 39 Al 100.0 74.7 15.4 36.5 12.7 8.6 1.5 25.3
40 - 49 Al 100.0 56.2 16.1 26.9 7.7 5.1 0.5 43.8
50 - 59 A 100.0 28.7 10.4 14.0 2.5 1.3 0.5 71.3
60 - 69 A 100.0 7.2 3.7 2.6 0.5 0.3 0.2 92.8
70 - 79 Al 100.0 2.1 1.4 0.6 0.1 = 0.1 97.9
8 0 Al 0l & 100.0 1.0 0.7 0.3 = = = 99.0
< & 8 4 >

= Z 0 of 100.0 7.3 3.2 2.9 0.4 0.6 0.2 92.7
= = 100.0 42.8 10.9 21.9 6.1 3.3 0.5 57.2
) = 100.0 61.1 14.7 25.7 10.8 8.4 1.4 38.9
CH £ 0 & 100.0 78.4 14.5 35.1 15.2 11.3 2.3 21.6
<E QA HYE>

0l = 100.0 83.3 13.4 38.2 18.5 15.3 2.9 16.7
= il ? 100.0 40.6 11.3 19.4 5.7 3.6 0.7 59.4
Al 4 100.0 5.2 2.3 2.7 0.2 0.1 = 94.8
0l = 100.0 40.2 10.5 18.0 5.9 5.1 0.7 59.8
< H Y A EHE Y>>

3 o 100.0 45.1 10.6 20.1 7.8 5.6 1.0 54.9
al = o 100.0 48.3 10.8 21.4 8.4 6.5 1.3 51.7
< 75 g ¢ >

& 2 / = 2 100.0 72.2 15.4 32.3 13.5 9.1 2.0 27.8
At 2 100.0 81.5 15.9 34.4 18.1 10.8 2.2 18.5
N Hl A/ = Y 100.0 55.7 12.9 24.7 9.2 7.4 1.5 44.3
= 9 o & 100.0 10.7 4.0 5.2 0.8 0.7 0.1 89.3
Ja s /I A 100.0 65.3 15.0 29.3 10.5 9.1 1.5 34.7
Er = T £ 100.0 27 .1 9.1 12.1 3.9 2.1 = 72.9
= ol 100.0 100.0 21.6 60.7 = 17.7 = =
< & 5 € >

50 2 & ol ot 100.0 7.8 2.3 2.7 1.1 1.3 0.5 92.2
50 - 10003 100.0 12.2 3.7 6.0 0.7 1.4 0.4 87.8
100 - 20092+ & 100.0 34.2 9.8 14.0 4.3 5.1 1.0 65.8
200 - 30083 100.0 50.8 13.5 24.3 6.2 5.3 1.4 49.2
300 - 4002t 100.0 60.7 12.5 29.8 11.6 5.8 1.0 39.3
400 - 60002+t 100.0 78.3 15.9 39.4 14.0 7.6 1.4 21.7
600 - 8002t& 100.0 69.4 15.5 31.3 12.0 9.3 1.4 30.6
800 9-& O & 100.0 47.9 19.9 21.5 2.0 3.5 1.0 52.1
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< X 9 48 >

Al Xl & 100.0 29.4 16.7 10.4 1.3 0.7 0.3 70.6
= Xl & 100.0 22.6 11.3 8.5 1.7 0.8 0.3 77.4
< A =] >

= Xt 100.0 25.5 14.0 9.2 1.4 0.6 0.3 74.5
O Xt 100.0 24.8 12.8 9.2 1.7 0.8 0.3 75.2
< ¢ g g >

15 - 29 | 100.0 44 .4 23.5 19,8 3.2 1.9 0.4 55.6
30 - 39 Al 100.0 35.8 20.5 11.8 2.3 0.7 0.5 64.2
40 - 49 Al 100.0 28.9 14.6 1.7 1.7 0.6 0.4 711
50 - 59 A 100.0 18.1 9.9 6.5 1.1 0.2 0.3 81.9
60 - 69 Al 100.0 8.9 3.7 4.7 = 0.5 0.1 91.1
70 - 79 Al 100.0 4.3 2.2 1.8 0.1 = 0.1 95.7
8 0 Al 0l & 100.0 1.4 0.8 0.5 = 0.1 = 98.6
< & 8 4 >

= Z 0l of 100.0 6.0 3.4 2.2 0.2 0.2 = 94.0
= = 100.0 22.2 12.1 7.9 1.3 0.8 0.1 77.8
) = 100.0 29.4 16.3 9.9 1.7 1.1 0.5 70.6
CH = 0l & 100.0 45.9 22.9 18.2 3.4 0.9 0.6 54 .1
< E QO A EH Y >

0l = 100.0 43.3 23.1 15.0 3.2 1.6 0.5 56.7
= alil ? 100.0 22.6 11.9 8.5 1.3 0.6 0.3 77.4
Al 4 100.0 5.0 2.7 2.0 0.1 0.2 = 95.0
0l =) 100.0 16.7 8.8 7.6 0.3 = = 83.3
< H Y A EHE Y>>

F A 100.0 25.1 13.0 9.8 1.4 0.6 0.4 74.9
0l F gl 100.0 25.2 13.9 8.3 1.9 0.9 0.2 74.8
< FH g 4 >

& 2 / = 2 100.0 44.8 23.0 16.7 8.5 1.2 0.4 55.2
At 2 100.0 49.0 24.6 20.3 2.5 0.8 0.7 51.0
N Hl A/ = Y 100.0 27.9 13.6 1.4 1.6 0.5 0.7 72.1
= = o o 100.0 8.2 3.8 3.9 0.3 0.2 0.1 91.8
Ja s /I A 100.0 27.2 15.0 9.6 0.8 0.8 0.9 72.8
Er = T £ 100.0 11.8 7.7 3.7 0.2 0.3 = 88.2
= ol 100.0 91.1 65.2 17.1 = 8.8 = 8.9
< & 5 € >

50 2 & ol ot 100.0 5.9 8.3 2.2 0.1 0.1 = 94 .1
50 - 10003 100.0 8.1 3.9 3.6 0.2 0.3 = 91.9
100 - 20092+ & 100.0 15.5 8.1 5.4 1.0 0.6 0.4 84.5
200 - 30083 100.0 27 .4 14.3 11.0 1.4 0.4 0.3 72.6
300 - 4002t 100.0 31.4 16.5 10.6 2.7 0.6 0.9 68.6
400 - 60002+t 100.0 42.0 22.2 17.2 1.6 0.4 0.7 58.0
600 - 8002t& 100.0 43.9 18.4 22.1 1.1 1.0 1.3 56.1
800 9-& O & 100.0 26.4 14.7 10.4 1.2 = = 73.6
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< X 9 48 >

Al Xl & 100.0 18.4 12.6 4.3 1.0 0.2 0.4 81.6
= Xl & 100.0 15.1 9.0 5.0 0.8 0.2 0.1 84.9
< A =] >

= Xt 100.0 16.2 10.2 4.7 0.8 0.2 0.3 83.8
O Xt 100.0 16.5 10.5 4.7 0.9 0.2 0.2 83.5
< ¢ g g >

15 - 29 | 100.0 3.8 19.9 8.7 1.9 0.4 0.4 68.7
30 - 39 Al 100.0 24.9 16.5 7.0 1.1 0.1 0.2 75.1
40 - 49 Al 100.0 18.2 11.5 5.8 0.9 0.2 0.4 81.8
50 - 59 A 100.0 9.6 5.8 3.2 0.6 0.2 0.2 90.4
60 - 69 A 100.0 3.7 2.2 1.3 0.1 0.1 = 96.3
70 - 79 Al 100.0 2.2 1.3 0.7 0.1 = 0.1 97.8
8 0 Al 0l & 100.0 0.7 0.5 0.2 = = = 99.3
< & 8 4 >

= Z 0 of 100.0 2.3 1.9 0.4 0.1 = = 97.7
= e 100.0 12.6 8.5 2.8 0.6 0.4 0.3 87.4
) = 100.0 18.8 12.3 5.8 0.7 0.2 0.3 81.2
CH £ 0 & 100.0 33.5 19.7 10.8 2.3 0.3 0.3 66.5
<E QA HYE>

0l = 100.0 30.9 19.8 8.4 2.0 0.4 0.4 69.1
= il ? 100.0 14.0 8.7 4.2 0.6 0.2 0.2 86.0
Al 4 100.0 1.6 1.3 0.3 = = = 98.4
0l = 100.0 8.6 5.0 3.0 0.3 0.3 = 91.4
< H Y A EHE Y>>

3 o 100.0 15.8 9.7 4.9 0.8 0.2 0.3 84.2
0l = o 100.0 17.2 11.3 4.4 1.0 0.3 0.1 82.8
< A g g >

& 2 / = 2 100.0 33.0 18.9 11.6 1.4 0.6 0.6 67.0
At 2 100.0 34.0 22.5 8.8 2.4 = 0.3 66.0
AN o8l A/ B DY 100.0 17.0 9.9 5.6 0.5 0.3 0.6 83.0
= ¥ of ol 100.0 3.1 1.7 1.1 0.2 = = 9.9
Ja s /I A 100.0 14.0 9.0 3.7 0.7 = 0.6 86.0
Er = T £ 100.0 6.4 4.9 1.5 = = = 93.6
= ol 100.0 82.3 68.9 13.4 = = = 17.7
< & 5 € >

50 2 & ol ot 100.0 5.2 4.0 0.8 0.4 0.1 = 94.8
50 - 10003 100.0 3.8 2.9 0.8 0.1 = 9.2
100 - 20092+ & 100.0 8.9 5.4 3.0 0.4 0.2 = 91.1
200 - 30083 100.0 16.0 9.4 5.8 0.6 0.6 84.0
300 - 4002t 100.0 20.3 11.1 6.9 1.7 0.2 0.4 79.7
400 - 60002+t 100.0 28.3 18.2 8.8 0.7 0.3 0.3 7.7
600 - 8002t& 100.0 28.5 20.6 4.6 1.0 1.0 1.3 71.5
800 9-& O & 100.0 20.1 13.2 4.6 2.3 = 79.9
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< X 9 48 >

Al Xl & 100.0 49.3 16.8 24 .1 5.4 2.3 0.7 50.7
= Xl & 100.0 40.8 14.9 19.0 4.7 2.0 0.2 59.2
< A =] >

= Xt 100.0 46.6 15.8 22.4 5.8 2.2 0.4 53.4
O Xt 100.0 41.5 15.5 19.4 4.1 2.1 0.3 58.5
< ¢ g g >

15 - 29 | 100.0 58.2 21.8 26.8 6.7 2.6 0.3 41.8
30 - 39 Al 100.0 60.5 17.9 28.9 8.9 4.2 0.6 39.5
40 - 49 Al 100.0 5.8 15.4 26.6 6.2 2.6 0.6 48.5
50 - 59 A 100.0 38.0 13.4 18.0 4.5 1.7 0.3 62.0
60 - 69 Al 100.0 27.6 12.3 13.3 1.2 0.6 0.2 72.4
70 - 79 Al 100.0 19.6 11.0 7.3 0.8 0.5 0.1 80.4
8 0 Al 0l & 100.0 12.3 7.0 4.9 0.4 = = 87.7
< & 8 4 >

= Z 0l of 100.0 20.8 11.3 8.5 0.8 0.1 = 79.2
= = 100.0 4.7 16.2 20.6 3.7 0.9 0.2 58.3
) = 100.0 49.8 16.9 24.0 5.6 2.9 0.4 50.2
CH = 0l & 100.0 67.1 18.9 32.6 10.4 4.5 0.8 32.9
< E QO A EH Y >

0l = 100.0 56.3 21.0 25.7 7.0 2.4 0.3 43.7
= alil ? 100.0 447 14.8 22.1 5.1 2.3 0.4 5.8
Al 4 100.0 17.6 10.3 6.3 0.5 0.5 = 82.4
0l = 100.0 37.2 12.9 16.7 4.4 2.7 0.4 62.8
< H Y A EHE Y>>

F A 100.0 45.7 15,8 22.1 5.4 2.4 0.4 54.3
0l F gl 100.0 41.5 15.9 19.2 4.4 1.8 0.3 58.5
< FH g 4 >

& 2 / = 2 100.0 67.9 17.3 33.4 1.1 5.1 1.0 32.1
At 2 100.0 70.3 18.7 34.8 11.6 4.7 0.5 29.7
N Hl A/ = Y 100.0 48.6 16.6 22.2 5.5 3.9 0.3 51.4
= = o ol 100.0 26.9 13.1 12.4 1.2 0.2 = 73.1
Ja s /I A 100.0 49 .1 14.7 25.7 6.2 1.8 0.8 50.9
Er = T £ 100.0 32.4 15.8 14.3 1.3 0.6 0.4 67.6
= ol 100.0 82.3 8.3 65.2 8.9 = = 17.7
< & 5 € >

50 2 & ol ot 100.0 19.2 8.8 8.6 1.2 0.6 = 80.8
50 - 10003 100.0 25.4 13.2 9.7 1.2 1.0 0.4 74.6
100 - 20092+ & 100.0 37.2 15.3 16.5 3.0 2.3 0.2 62.8
200 - 30083 100.0 50.0 14.0 25.8 7.0 2.5 0.8 50.0
300 - 4002t 100.0 54.5 14.2 27.5 9.5 2.6 0.6 45.5
400 - 60002+t 100.0 69.5 18.9 34.0 10.5 4.8 1.8 30.5
600 - 8002t& 100.0 71.3 9.9 45.8 10.6 3.7 1.3 28.7
800 2F& 0 & 100.0 54.7 17.5 26.2 6.2 4.8 = 45.3
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< X 9 ¢ >
Al Xl & 100.0 45.4 54.6 100.0 61.2 38.8
= Xl <] 100.0 30.7 69.3 100.0 49.7 50.3
< A =] >
= Xt 100.0 40.8 59.2 100.0 68.1 0.3

Xt 100.0 22.3 7.7 100.0 40.2 0.6
< g g g >
15 - 29 Al 100.0 34.2 65.8 100.0 69.4 30.6
30 - 39 Al 100.0 50.7 49.3 100.0 71.9 28.1
40 - 49 M 100.0 54.5 45.5 100.0 67.8 32.2
50 - 59 Ml 100.0 41.0 59.0 100.0 56.5 43.5
60 - 69 Al 100.0 25.1 74.9 100.0 32.2 67.8
70 - 79 Ml 100.0 12.6 87.4 100.0 14.5 85.5
8 0 A ol & 100.0 6.7 93.3 100.0 6.0 94.0
< & g 4 >
= £ 0 ot 100.0 13.5 0.9 100.0 19.5 80.5
= = 100.0 29.4 0.7 100.0 51.9 48.1
) = 100.0 45.7 0.5 100.0 68.9 31.1
& = o & 100.0 58.8 0.4 100.0 78.7 21.3
<EQ AMAHYE>
0] =S 100.0 29.7 70.3 100.0 69.8 30.2
= i} ? 100.0 44 .6 55.4 100.0 55.6 44 .4
Al 4 100.0 11.4 88.6 100.0 12.5 87.5
0l =) 100.0 31.7 68.3 100.0 61.3 38.7
<H S A4HE>
F A 100.0 41.5 58.5 100.0 60.1 39.9
0l F 53] 100.0 19.4 80.6 100.0 45.2 54.8
< 3 g 4 >
8 2/ &2 2 100.0 60.1 39.9 100.0 80.5 19.5
At 2 100.0 58.9 411 100.0 79.3 20.7
N Hl A/ B OO 100.0 52.2 47.8 100.0 68.3 31.7
= g o g 100.0 19.8 80.2 100.0 33.2 66.8
o s /[ 21 A 100.0 49.7 50.3 100.0 81.3 18.7
Er = L £ 100.0 28.1 71.9 100.0 50.7 49.3
= ol 100.0 100.0 = 100.0 91.1 8.9
< & 5 ¢ >
50 2 & 0] o 100.0 11.6 88.4 100.0 22.5 77.5
50 - 1000CH& 100.0 21.8 78.2 100.0 35.7 64.3
100 - 2002+ & 100.0 31.8 68.2 100.0 60.6 39.4
200 - 30092+& 100.0 45.0 55.0 100.0 72.7 27.3
300 - 400Ct& 100.0 58.7 41.3 100.0 78.3 21.7
400 - 60092+ 100.0 68.6 31.4 100.0 84.9 15.1
600 - 8002+ 100.0 65.7 34.3 100.0 77.2 22.8
800 oF& 0 & 100.0 52.8 47.2 100.0 71.5 28.5
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< X 9 g >
Al Xl =] 100.0 13.4 100.0 34.4 37.2 22.2 3.6 2.6 86.6
= Xl <] 100.0 14.8 100.0 32.8 41.7 18.2 5.5 1.8 85.2
< A =] >
= Xt 100.0 14.9 100.0 34.9 38.8 18.1 5.6 2.6 85.1
Xt 100.0 13.7 100.0 31.7 41.5 21.3 3.9 1.6 86.3
< ¢ g g >
15 - 29 Al 100.0 9.4 100.0 26.9 28.7 28.2 10.2 6.0 90.6
30 - 39 Al 100.0 14.9 100.0 24.3 44 .6 22.5 5.9 2.6 85.1
40 - 49 Al 100.0 16.5 100.0 36.4 38.0 20.9 3.1 1.6 83.5
50 - 59 A 100.0 16.6 100.0 32.5 42.0 18.3 5.8 1.9 83.4
60 - 69 Al 100.0 15.7 100.0 42.7 41.5 12.1 8.8 0.4 84.3
70 - 79 Al 100.0 14.5 100.0 39.5 42.2 16.5 1.4 0.5 85.5
8 0 Al 0l & 100.0 13.8 100.0 8.5 53.3 13.1 2.1 = 86.2
< & =& 4 >
= Z 0 of 100.0 14.8 100.0 39.8 42.7 14.8 2.3 0.4 85.2
= = 100.0 13.2 100.0 24.7 43.3 22.3 4.8 4.8 86.8
) = 100.0 13.8 100.0 31.2 38.1 20.2 7.3 3.2 86.2
CH £ 0 & 100.0 15.2 100.0 33.9 37.3 23.3 4.5 1.0 84.8
< E QO A Ef Y >
0] =S 100.0 9.3 100.0 28.0 34.6 24.8 7.8 4.9 90.7
= ali} < 100.0 16.0 100.0 34.3 41.3 18.4 4.2 1.8 84.0
Al 4 100.0 14.2 100.0 F.5 42.8 17.2 3.4 1.1 85.8
0l = 100.0 19.0 100.0 32.3 31.7 29.1 6.9 = 81.0
<FH S H4HYE>
F A 100.0 15.2 100.0 34.3 39.8 19.9 4.7 1.3 84.8
0l F 53] 100.0 13.0 100.0 31.8 40.5 19.3 4.9 3.4 87.0
< X g 4¢84 >
& 2 / &2 2 100.0 18.4 100.0 29.0 43.0 21.8 6.2 = 81.6
At 2 100.0 14.7 100.0 31.2 36.6 22.8 8.2 1.2 85.3
M Hl A/ = O0Y 100.0 13.5 100.0 25.2 46.6 19.1 5.2 3.8 86.5
= 9 o o/ 100.0 14.6 100.0 38.3 42.6 14.8 3.4 0.8 85.4
o s /2 A 100.0 15.4 100.0 39.8 22.3 31.4 3.4 3.1 84.6
Er = * £ 100.0 15.0 100.0 421 40.7 14.3 2.8 = 85.0
= ol 100.0 0.0 = = = = = = 100.0
< & 5 € >
50 2 & ol ot 100.0 16.2 100.0 39.2 40.0 11.9 5.9 3.0 83.8
50 - 10003 100.0 17.1 100.0 39.4 39.8 19.5 1.2 = 82.9
100 - 20092+ & 100.0 17.2 100.0 28.7 43.1 22.7 3.7 1.8 82.8
200 - 300923 100.0 15.8 100.0 30.6 37.2 21.3 8.4 2.4 84.2
300 - 4002t& 100.0 13.7 100.0 38.1 31.1 22.1 5.9 2.8 86.3
400 - 60092+& 100.0 19.0 100.0 35.9 38.1 17.2 6.8 2.0 81.0
600 - 80023 100.0 30.6 100.0 40.6 29.1 25.9 4.3 = 69.4
800 9+& O & 100.0 23.3 100.0 39.0 39.5 17.3 4.2 = 76.7
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